Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships

IOC proposes to appoint Retail Outlet dealers in Punjab, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum M.)/Area (M.). *	Dimensio of the site	n (in (in Sq.	Finance to be the applicant	e arranged by	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC	CC / DC / CFS								
					SC CC-1									
					SC CC-2									
					SC PH									
					ST]							
					ST CC-1]							
					ST CC-2]			Estimated working	Estimated fund required			
			Regular /	MS+HSD	ST PH]	D		capital	for	Draw of		
			Rural	in Kls	ОВС		Frontage	Depth	Area	requirement for	development of	Lots / Bidding		
					OBC CC-1					operation of RO	infrastructure at RO			
					OBC CC-2					KO	at NO			
					OBC PH		1							
					OPEN		1							
					OPEN CC-1									
					OPEN CC- 2									
					OPEN PH									

1	FROM KM STONE 11 TO KM STONE 20 ON NH-54 (OLD NH-15) LEFT HAND SIDE (WHILE GOING FROM PATHANKOT TO AMRITSAR)	PATHANKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
2	FROM KM STONE 340 TO KM STONE 347 ON NH 44 (OLD NH 1A) RIGHT HAND SIDE (WHILE GOING FROM MADHOPUR TO JALANDHAR)	PATHANKOT	Regular	160	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
3	VILLAGE- BABRI ON NH 54	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
4	FROM KM STONE 365 TO KM STONE 370 ON NH 44 (OLD NH 1A) LEFT HAND SIDE (WHILE GOING FROM PATHANKOT TO JALANDHAR)	PATHANKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
5	AMRITSAR CITY (WML) ON TARN TARAN ROAD LHS	AMRITSAR	Regular	160	SC	CFS	15.24	18.29	278.74	0	0	Draw of lots	0	3
6	FROM KM STONE 50 TO KM STONE 56 ON NH-54 (OLD NH-15) RIGHT HAND SIDE (WHILE GOING FROM GURDASPUR TO BATALA)	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
7	TARN TARAN CITY (WML) ON CHABBAL ROAD	TARN TARAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
8	FROM KM STONE 43 TO KM STONE 46 ON NH-54 (OLD NH-15) RIGHT HAND SIDE (WHILE GOING FROM GURDASPUR TO DHARIWAL)	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
9	FROM KM STONE 350 TO KM STONE 353 ON NH 44 (OLD NH 1A) RIGHT HAND SIDE (WML) , (WHILE GOING FROM MADHOPUR TO JALANDHAR)	PATHANKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3

10	BHIKHIWIND TO KHEMKARAN LHS (WHILE GOING FROM BHIKIWIND TO KHEMKARAN) ON NH 354 (OLD SH 21)	TARN TARAN	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
11	FROM KM STONE 6 TO KM STONE 8 ON NH 54 (OLD NH 15) RIGHT HAND SIDE , (WHILE GOING FROM PATHANKOT TO AMRITSAR)	PATHANKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
12	AMRITSAR CITY ON CHHEHARTA CHOWK TO INDIA GATE RHS	AMRITSAR	Regular	150	SC	CFS	15.24	18.29	278.74	0	0	Draw of lots	0	3
13	KUKRAN WALA TO AJNALA ON LHS WHILE GOING FROM AMRITSAR TO AJNALA ON NH 354 (OLD SH 25)	AMRITSAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
14	PATHANKOT CITY WML ON MISSION ROAD	PATHANKOT	Regular	110	SC	CFS	20	20	400	0	0	Draw of lots	0	3
15	AMRITSAR CITY ON SHER SHAH SURI ROAD	AMRITSAR	Regular	150	SC	CFS	15.24	18.29	278.74	0	0	Draw of lots	0	3
16	FROM KM STONE 143 TO 147 ON NH 54 LHS (WHILE GOING FROM AMRITSAR TO HARIKE)	TARN TARAN	Regular	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
17	AMRITSAR CITY ON CIRCULAR ROAD, FROM RATTAN SINGH CHOWK TO KACHEHRI CHOWK	AMRITSAR	Regular	175	Open	СС	15.24	18.29	278.74	25	10	Bidding	30	5
18	AMRITSAR CITY ON CIRCULAR ROAD, FROM RATTAN SINGH CHOWK TO MAKHAN CHOWK	AMRITSAR	Regular	150	ОВС	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	4
19	AMRITSAR CITY ON PUTILGARH CHOWK TO KHANDWALA CHOWK RHS	AMRITSAR	Regular	150	SC	CFS	15.24	18.29	278.74	0	0	Draw of Lots	0	3
20	AMRITSAR CITY BETWEEN HATHI GATE TO CHATTIWIND GATE (VIA HAKIMAN WALA GATE)	AMRITSAR	Regular	150	Open	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5

21	AMRITSAR CITY ON TAYLOR ROAD	AMRITSAR	Regular	160	Open	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
22	AMRITSAR CITY ON CHHEHARTA CHOWK TO INDIA GATE LHS	AMRITSAR	Regular	160	OBC	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	4
23	AMRITSAR CITY ON RACE COURSE ROAD	AMRITSAR	Regular	155	SC	CFS	15.24	18.29	278.74	0	0	Draw of Lots	0	3
24	AMRITSAR CITY WML ON MEHTA ROAD	AMRITSAR	Regular	150	Open	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
25	AMRITSAR CITY ON ALBERT ROAD	AMRITSAR	Regular	150	Open	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
26	AMRITSAR CITY (WML) ON MAJITHA ROAD LHS WHILE GOING FROM GHALA MALA CHOWK TO MAI BHAGO POLYTECHNIC COLLEGE	AMRITSAR	Regular	150	OBC	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	4
27	KACHEHRI CHOWK TO RIALTO CHOWK-LHS , AMRITSAR CITY	AMRITSAR	Regular	175	Open	СС	15.24	18.29	278.74	25	10	Bidding	30	5
28	AMRITSAR BYEPASS FORM MAJITHA CHOWK TO FATHEGARH CHURIAN CHOWK WML ON NH 3(OLD NH 1)	AMRITSAR	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
29	AMRITSAR CITY ON MALL ROAD LHS FROM KACHEHRI CHOWK TO NOVELTY CHOWK	AMRITSAR	Regular	160	OBC	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	4
30	BEAS ON NH 3 (OLD NH 1)	AMRITSAR	Regular	160	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
31	AMRITSAR CITY (WML) ON BATALA ROAD	AMRITSAR	Regular	155	Open	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
32	FROM TARN TARAN TO NAUSHERA BYEPASS ON NH 54 (OLD NH 15) RHS	TARN TARAN	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

33	FROM KM STONE 350 TO KM STONE 353 ON NH 44 (OLD NH 1A) LEFT HAND SIDE (WHILE GOING FROM MADHOPUR TO JALANDHAR)	PATHANKOT	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
34	AMRITSAR CITY ON MAQBOOL ROAD	AMRITSAR	Regular	175	Open	СС	15.24	18.29	278.74	25	10	Bidding	30	5
35	JHANJARPUR ON NH 3 (OLD NH 1)	AMRITSAR	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
36	AMRITSAR CITY WML ON ISLAMABAD ROAD	AMRITSAR	Regular	150	SC	CFS	15.24	18.29	278.74	0	0	Draw of Lots	0	3
37	FROM KM STONE 336 TO KM STONE 341 ON NH 44 (OLD NH 1A) LEFT HAND SIDE (WHILE GOING FROM LAKHANPUR TO JALANDHAR)	PATHANKOT	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
38	FROM KM STONE 96 TO KM STONE 105 ON NH - 54 LHS (OLD NH - 15) VERKA BYE PASS	AMRITSAR	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
39	AMRITSAR CITY (WML) ON MAJITHA ROAD RHS WHILE GOING FROM GHALA MALA CHOWK TO MAI BHAGO POLYTECHNIC COLLEGE	AMRITSAR	Regular	175	Open CC 2	СС	15.24	18.29	278.74	25	10	Bidding	30	5
40	BETWEEN HALL GATE TO SULTANWIND GATE , AMRITSAR CITY (VIA SHERAN WALA GATE)	AMRITSAR	Regular	150	OBC CC 1	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	4
41	ON OLD JAIL ROAD AMRITSAR CITY	AMRITSAR	Regular	150	SC CC 1	CFS	15.24	18.29	278.74	0	0	Draw of Lots	0	3
42	FROM BATALA SUGAR MILL TO VILLAGE UDHOWAL LHS ON NH 54	GURDASPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
43	TARN TARAN CITY (WML) ON JANDIALA ROAD	TARN TARAN	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5

	- FDOMANA TENNA	I	I	l	1		I	I	I					
44	FROM MATEWAL GURUDWARA TO MEHTA CHOWK ON NH 503 A	AMRITSAR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
45	FROM KM STONE 43 TO KM STONE 46 ON NH-54 (OLD NH-15) LEFT HAND SIDE (WHILE GOING FROM GURDASPUR TO DHARIWAL)	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
46	FROM SIMBAL CHOWK TO JALLANDHAR ROAD ON RHS ON NH 154	PATHANKOT	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
47	TANGRA TO JANDIALA LHS ON NH3 (OLD NH 1)	AMRITSAR	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
48	ON HARIKE BYEPASS RHS ON NH 54 WHILE GOING FROM TARN TARAN TO BHATINDA	TARN TARAN	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
49	SUJANPUR CITY (WML)	PATHANKOT	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
50	FROM RANIKE TO ATTARI ON NH-3 (OLD NH 1) LHS (WHILE GOING FROM AMRITSAR BYE PASS TO ATTARI)	AMRITSAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
51	RAYYA TO KHILCHIAN ON NH-3 (OLD NH 1) ON LHS	AMRITSAR	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
52	RAKHJHITA ON NH 54 RHS WHILE GOING FROM MANAWALA TO TARN TARAN	AMRITSAR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
53	TANGRA TO JANDIALA RHS ON NH3 (OLD NH 1)	AMRITSAR	Regular	160	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
54	GAGOMAHAL TO RAMDAS ON NH 354 (OLD- SH 25)	AMRITSAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
55	AMRITSAR CITY WML ON CHAMRANG ROAD	AMRITSAR	Regular	150	OBC	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	4

56	BATALA CITY (WML) ON PATHANKOT TO AMRITSAR ROAD OLD NH 15	GURDASPUR	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
57	PATHANKOT CITY WML ON BUS STAND TO SIMBAL CHOWK	PATHANKOT	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
58	PANIAR SUGAR MILL TO JHANDE CHAK ON NH 54	PATHANKOT	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
59	TARN TARAN CITY (WML) ON SARHALI ROAD	TARN TARAN	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
60	VILLAGE- DHAKI, OPPOSITE OLD IOC DEPOT, NH 44	PATHANKOT	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
61	ON HARIKE BYEPASS LHS ON NH 54 WHILE GOING FROM TARN TARAN TO BHATINDA	TARN TARAN	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
62	TARN TARAN CITY WML ON 80 FEET ROAD	TARN TARAN	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
63	TARN TARAN CITY WML ON CIRCULAR ROAD	TARN TARAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
64	RAKHJHITA ON NH 54 LHS WHILE GOING FROM MANAWALA TO TARN TARAN	AMRITSAR	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
65	VILLAGE DHAR KALAN TO DUNERA ON NH 154 A	PATHANKOT	Regular	155	Open	DC	35	35	1225	25	75	Draw of Lots	15	5
66	SIMBAL CHOWK TO MAMOON CHOWK ON LHS ON NH 154	PATHANKOT	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
67	DALHOUSIE CHOWK TO PUNJAB BORDER LHS ON NH 154	PATHANKOT	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
68	GURDASPUR CITY WML ON BEHRAMPUR ROAD	GURDASPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5

69	TARN TARAN CITY (WML) ON KHADOORSAHIB ROAD	TARN TARAN	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
70	DALHOUSIE CHOWK TO PUNJAB BORDER RHS ON NH 154	PATHANKOT	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
71	AMRITSAR CITY (WML) ON RAM TIRATH ROAD	AMRITSAR	Regular	160	Open	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
72	FROM CHABBAL CHOWK TO JANDIALA CHOWK ON TARN TARAN BYE PASS WML (OLD NH 15) RHS (WHILE GOING FROM AMRITSAR TO HARIKE)	TARN TARAN	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
73	TARN TARAN BYE PASS (OLD NH 15) LEFT HAND SIDE (WHILE GOING FROM AMRITSAR TO HARIKE)	TARN TARAN	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
74	SIMBAL CHOWK TO MAMOON CHOWK ON RHS ON NH 154	PATHANKOT	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
75	MAMOON CANT CHOWK TO DALHOUSIE CHOWK ROAD ON NH 154	PATHANKOT	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
76	DINANAGAR BYEPASS FROM PARMANAND TO PANIAR ON NH-54 (OLD NH -15) RHS, (WHILE GOING FROM PATHANKOT TO AMRITSAR)	PATHANKOT	Regular	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
77	NEW CHAKKI BRIDGE PATHANKOT TO MAMOON CHOWK ON NH 154 (PATHANKOT TO MANDI ROAD)	PATHANKOT	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
78	FROM SIMBAL CHOWK TO JALLANDHAR ROAD ON LHS ON NH 154	PATHANKOT	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
79	GURDASPUR CITY WML , ON GURDASPUR TO PATAHNKOT ROAD ON OLD GT ROAD	GURDASPUR	Regular	105	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5

	1	ı	ı	ı	1	I.	ı	ı	1	ı	ı	1	1	1 1
80	GURDASPUR CITY WML ON HANUMAN CHOWK TO TIBRI ROAD	GURDASPUR	Regular	105	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
81	HARDOJHANDE TO JAINTIPUR ON NH 54 LHS WHILE GOING FROM PATHANKOT TO AMRITSAR	GURDASPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
82	PATHANKOT CITY WML ON DALHOUSIE ROAD	PATHANKOT	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
83	PATHANKOT CITY WML ON DEFENCE ROAD	PATHANKOT	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
84	PATHANKOT CITY WML ON DHANGU ROAD	PATHANKOT	Regular	110	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
85	VILLAGE- LADPALWAN, ON LHS WHILE GOING FROM PTHANKOT TO GURDASPUR ON NH-54	PATHANKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
86	FROM RATTAN SINGH CHOWK TO SPRING DALE SCHOOL AMRITSAR CITY WML (ON FATEHGARH CHURIAN ROAD)	AMRITSAR	Regular	160	Open	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
87	MAJITHA WML	AMRITSAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
88	BATALA CITY (WML) ON BATALA TO QADIAN ROAD	GURDASPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
89	BATALA CITY (WML) ON BATALA TO BEAS ROAD	GURDASPUR	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
90	AMRITSAR TO CHABBAL ON NH 354 (OLD SH 21)	TARN TARAN	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
91	DHARIWAL CITY WML	GURDASPUR	Regular	100	Open PH	DC	20	20	400	25	45	Draw of Lots	15	5
92	JAINTIPUR TO HARDOJHANDE ON NH 54 LHS WHILE GOING FROM	GURDASPUR	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4

	AMRITSAR TO PATHANKOT													
93	GURDASPUR CITY WML ON JAIL ROAD	GURDASPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
94	GURDASPUR CITY WML ON COLLEGE ROAD	GURDASPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
95	GURDASPUR CITY WML, ON KAHNUWAN CHOWK TO BABEHALI ROAD	GURDASPUR	Regular	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
96	DINANAGAR CITY WML	PATHANKOT	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
97	SULTANWIND BYEPASS AMRISTSAR CITY WML FROM TARA WALA FLYOVER TO TARN TARAN ROAD	AMRITSAR	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
98	FROM KM STONE 63 TO KM STONE 68 ON NH 54 (OLD NH-15) LHS (WHILE GOING FROM GURDASPUR TO AMRITSAR)	GURDASPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
99	BADHANI ON NH 154	PATHANKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
100	GUMTALA CHOWK TO HOTEL RADISSION ON NH 354 (OLD SH-25)	AMRITSAR	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
101	AMRITSAR CITY WML ON R B DUNICHAND ROAD	AMRITSAR	Regular	150	Open	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
102	RAYYA TO KHILCHIAN ON NH-3 (OLD NH 1) ON RHS	AMRITSAR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
103	FROM MARHANA TO HARIKE ON NH 54 (OLD NH 15) LHS	TARN TARAN	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

104	FROM TARN TARAN TO NAUSHERA BYEPASS ON NH 54 (OLD NH 15) LHS	TARN TARAN	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
105	BUNDALA ON NH 54 RHS WHILE GOING FROM MANAWALA TO TARN TARAN	AMRITSAR	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
106	KADGIL ON NH 54 RHS WHILE GOING FROM MANAWALA TO TARN TARAN	TARN TARAN	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
107	JOGA SINGH WALA ON NH 54 LHS (WHILE GOING FROM MANAWALA TO TARAN TARAN)	TARN TARAN	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
108	PATI MORH TO TURN TO FIROZPUR ROAD ON SH 19	TARN TARAN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
109	FROM KM STONE 122 TO 127 ON NH 54 LHS WHILE GOING FROM MANAWALA TO TARN TARAN	TARN TARAN	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
110	SRI AMRITSAR CITY GATE TO DELHI PUBLIC SCHOOL ON NH 3 (OLD NH 1) RHS WHILE GOING FROM AMRITSAR TO JALLANDHAR	AMRITSAR	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
111	JOGA SINGH WALA ON NH 54 RHS (WHILE GOING FROM MANAWALA TO TARAN TARAN)	TARN TARAN	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
112	AMRITSAR CITY WML ON MALL ROAD RHS FROM KACHEHRI CHOWK TO NOVELTY CHOWK	AMRITSAR	Regular	150	SC	CFS	15.24	18.29	278.74	0	0	Draw of Lots	0	3
113	QUADIAN CITY (WML)	GURDASPUR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
114	FROM JANDIALA CHOWK TO GOINDWAL BYEPASS FLYOVER ON TARN TARAN BYE PASS WML (OLD NH 15) RHS (WHILE GOING FROM AMRITSAR TO HARIKE)	TARN TARAN	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5

115	PATTI CITY WML	TARN TARAN	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
116	AMRITSAR CITY WML ON LOHARKA ROAD	AMRITSAR	Regular	150	SC	CFS	15.24	18.29	278.74	0	0	Draw of Lots	0	3
117	SATHIALA ON SH 66	AMRITSAR	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
118	FROM KM STONE 22 TO KM STONE 26 ON BHIKHIWND- HARIKE ROAD, SH 19	TARN TARAN	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
119	FATEH NANGAL ON NH 54	GURDASPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
120	FROM KM STONE 68 TO KM STONE 73 ON NH 54 (OLD NH-15) LHS (WHILE GOING FROM GURDASPUR TO AMRITSAR)	GURDASPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
121	DAYALPUR TO PATTI MORH ON SH- 19	TARN TARAN	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
122	KOT KHALSA, AMRITSAR CITY (WML)	AMRITSAR	Regular	150	OBC	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	4
123	DINANAGAR BYEPASS FROM PARMANAND TO PANIAR ON NH-54 (OLD NH -15) LEFT HAND SIDE, (WHILE GOING FROM PATHANKOT TO AMRITSAR)	GURDASPUR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
124	AMRITSAR CITY (WML) ON MCLEOD ROAD	AMRITSAR	Regular	160	Open	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
125	FROM KM STONE 20 TO 25 ON NH-3 (OLD NH 1) RHS (WHILE GOING FROM ATTARI TO AMRITSAR)	AMRITSAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

126	AMRITSAR CITY ON RAM TALAI TO GHEE MANDI	AMRITSAR	Regular	150	ОВС	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	4
127	JANDIALA WML	AMRITSAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
128	AMRITSAR CITY ON PUTILGARH CHOWK TO KHANDWALA CHOWK LHS	AMRITSAR	Regular	150	Open CC 1	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
129	BHATWAN ON NH154	PATHANKOT	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
130	BUNDALA ON NH54 LHS WHILE GOING FROM MANAWALA TO TARN TARAN	AMRITSAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
131	AMRITSAR BYEPASS FROM MAJITHA ROAD BYEPASS CHOWK TO VERKA CHOWK - LHS WML WHILE GOING FROM ATTARI TO JALLANDHAR ON NH 3 (OLD NH 1)	AMRITSAR	Regular	155	Open	DC	20	20	400	25	60	Draw of Lots	15	5
132	FROM SARHALI KALAN TO GANDIWIND ON NH 54 (OLD NH 15) RHS	TARN TARAN	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
133	AMRITSAR CITY WML ON SUN SAHIB RAOD	AMRITSAR	Regular	150	OBC	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	4
134	GURDASPUR CITY WML, ON KALANAUR ROAD	GURDASPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
135	PATHANKOT CITY WML ON COLLEGE ROAD	PATHANKOT	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
136	FROM KM STONE 96 TO KM STONE 105 ON NH - 54 RHS (OLD NH - 15) VERKA BYE PASS	AMRITSAR	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
137	FROM SARHALI KALAN TO GANDIWND ON NH 54 (OLD NH 15) LHS	TARN TARAN	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

	1	1	ı	1	1	ı	I		1	1	ı	1		
138	VILLAGE- PEJO CHAK ON NH 503 A	GURDASPUR	Regular	150	Open	СС	35	45	1575	25	10	Bidding	30	5
139	GURDASPUR CITY WML ON SANGALPURA ROAD	GURDASPUR	Regular	110	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
140	FROM KM STONE 87 TO KM STONE 92 ON NH-54 (OLD NH-15) LEFT HAND SIDE (WHILE GOING FROM BATALA TO AMRITSAR)	AMRITSAR	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
141	VILLAGE- TALWANDI RAI DADO, BLOCK-AJNALA, TEHSIL-AJNALA	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
142	VILLAGE- HOTHIAN, BLOCK-KHADOOR SAHIB, TEHSIL-KHADOOR SAHIB	TARN TARAN	Rural	25	sc	CFS	30	35	1050	0	0	Draw of lots	0	2
143	VILLAGE- HARIYAL, BLOCK-DHARKALAN, TEHSIL-DHARKALAN	PATHANKOT	Rural	25	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
144	VILLAGE- PANJWAR, BLOCK-TARN TARAN, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	sc	CFS	30	35	1050	0	0	Draw of lots	0	2
145	VILLAGE- DORANGLA, BLOCK-DORANGLA, TEHSIL-DINANAGAR	GURDASPUR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
146	VILLAGE- VEROWAL, BLOCK-KHADOOR SAHIB, TEHSIL-KHADOOR SAHIB	TARN TARAN	Rural	25	sc	CFS	30	35	1050	0	0	Draw of lots	0	2
147	VILLAGE- CHOHAN OTHER THEN NH, BLOCK- JANDIALA GURU, TEHSIL- AMRITSAR I	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
148	VILLAGE- SIYONTI, BLOCK-PATHANKOT , TEHSIL-PATHANKOT	PATHANKOT	Rural	25	sc	CFS	30	35	1050	0	0	Draw of lots	0	2
149	VILLAGE- TALWANDI SOBHA SINGH, BLOCK- PATTI, TEHSIL-PATTI	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
150	VILLAGE- AABADGARH (ON MIRTHAL TO DINANAGAR ROAD),	PATHANKOT	Rural	25	SC	CFS	30	35	1050	0	0	Draw of lots	0	2

	BLOCK-PATHANKOT , TEHSIL-PATHANKOT													
151	VILLAGE- HARDOCHANNI, BLOCK-GURDASPUR, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
152	VILLAGE- BAROI, BLOCK- PATHANKOT, TEHSIL- PATHANKOT	PATHANKOT	Rural	25	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
153	VILLAGE- MANSUR , BLOCK-DERA BABA NANAK, TEHSIL-DERA BABA NANAK	GURDASPUR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
154	VILLAGE- PAHRE, BLOCK- GURDASPUR, TEHSIL- GURDASPUR	GURDASPUR	Rural	25	SC PH	CFS	30	35	1050	0	0	Draw of lots	0	2
155	VILLAGE- DULA NANGAL, BLOCK-DHARIWAL, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
156	VILLAGE- SINGHPURA, BLOCK-DERABABA NANAK, TEHSIL- DERABABA NANAK	GURDASPUR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
157	VILLAGE- MIANWIND, BLOCK-KHADOOR SAHIB, TEHSIL-KHADOOR SAHIB	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
158	VILLAGE- PANIAR, BLOCK- DINANAGAR, TEHSIL- DINANAGAR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
159	VILLAGE- DARSHOPUR, BLOCK-PATHANKOT, TEHSIL-PATHANKOT	PATHANKOT	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
160	VILLAGE- BHAROWAL, BLOCK-KHADOOR SAHIB, TEHSIL-KHADOOR SAHIB	TARN TARAN	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
161	VILLAGE- KOT NAUABAD, BLOCK-PATTI, TEHSIL- PATTI	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
162	VILLAGE- PANDORI, BLOCK-DINANAGAR, TEHSIL-DINANAGAR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

163	VILLAGE- KADGILL OTHER THEN NH, BLOCK-TARN TARAN, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
164	VILLAGE- BAHLARKE, BLOCK-PATTI, TEHSIL- PATTI	TARN TARAN	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
165	VILLAGE- SENSRA, BLOCK- HARSHA CHINNA, TEHSIL- AJNALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
166	VILLAGE- LANGO MAHAL, BLOCK-AJNALA, TEHSIL- AJNALA	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
167	VILLAGE- DHULKA, BLOCK-TARSIKKA, TEHSIL- BABA BAKALA	AMRITSAR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
168	VILLAGE- PURANA SHALLA, BLOCK- GURDASPUR, TEHSIL- GURDASPUR	GURDASPUR	Rural	25	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
169	VILLAGE- DATIAL, BLOCK- NAROT JAIMAL SINGH, TEHSIL-PATHANKOT	PATHANKOT	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
170	VILLAGE- PANJGRIAN, BLOCK-QADIAN, TEHSIL- BATALA	GURDASPUR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
171	VILLAGE- HARPURA, BLOCK-QADIAN, TEHSIL- BATALA	GURDASPUR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
172	VILLAGE- JAGIRPUR, BLOCK-DINANAGAR, TEHSIL-PATHANKOT	PATHANKOT	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
173	VILLAGE- KALANAUR, WITH IN 2 KM ON KALANAUR TO BATALA ROAD, BLOCK- KALANAUR, TEHSIL- GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
174	VILLAGE- MARARA, BLOCK-PATHANKOT, TEHSIL-PATHANKOT	PATHANKOT	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
175	VILLAGE- GHO, BLOCK- PATHANKOT, TEHSIL- PATHANKOT	PATHANKOT	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

176	VILLAGE- MANDHEPUR, BLOCK-DORANGLA, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
177	VILLAGE- NIMANA, BLOCK-GURDASPUR, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open CC 2	DC	30	35	1050	12	30	Draw of Lots	5	4
178	VILLAGE- KAHLWAN ,WITHIN 1 KM FROM HARCHOWAL TO BATALA QADIAN ROAD, BLOCK- QADIAN, TEHSIL-BATALA	GURDASPUR	Rural	25	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
179	VILLAGE- TIBBAR, BLOCK- GURDASPUR, TEHSIL- GURDASPUR	GURDASPUR	Rural	25	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
180	VILLAGE- MANWAL (ON SHAHPUR KANDI ROAD), BLOCK-PATHANKOT, TEHSIL-PATHANKOT	PATHANKOT	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
181	VILLAGE- SATHIALI , BLOCK-KAHNUWAN, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
182	VILLAGE- KAHNUWAN, BLOCK-KAHNUWAN, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
183	VILLAGE- BHUMBLI, BLOCK-DHARIWAL, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
184	VILLAGE- KALA BALA, BLOCK-KHANUWAN, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
185	VILLAGE- CHOGAWAN (ON RAMTIRTH ROAD), BLOCK-CHOGAWAN, TEHSIL-AJNALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
186	VILLAGE- AINOKET KHURD, BLOCK-SRI HARGOBINDPUR, TEHSIL- GURDASPUR	GURDASPUR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
187	VILLAGE- KOT SANTOKH RAI, BLOCK-DHARIWAL, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
188	VILLAGE- SRI HARGOBINDPUR, BLOCK- SRI HARGOBINDPUR, TEHSIL-BATALA	GURDASPUR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2

189	VILLAGE- KALER, BLOCK- CHOGAWAN, TEHSIL- AJNALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
190	VILLAGE- KHUDDI, BLOCK-SRI HARGOBINDPUR, TEHSIL- BATALA	GURDASPUR	Rural	25	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
191	VILLAGE- NASHERA ON MAJITHA ROAD (OTHER THEN NH), BLOCK-VERKA, TEHSIL-AMRITSAR II	AMRITSAR	Rural	25	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
192	VILLAGE- KOHALA , BLOCK-AJNALA, TEHSIL- AJNALA	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
193	VILLAGE- KUTHER, BLOCK-PATHANKOT, TEHSIL-PATHANKOT	PATHANKOT	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
194	VILLAGE- MAJITHA OML (ON MAJITHA TO HAMZA ROAD), BLOCK-MAJITHA, TEHSIL-MAJITHA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
195	VILLAGE- SARAI AMANAT KHAN, (ON CHABAL ATTARI ROAD), BLOCK- GANDIWIND, TEHSIL- TARN TARAN	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
196	VILLAGE- KAHANPUR, BLOCK-PATHANKOT, TEHSIL-PATHANKOT	PATHANKOT	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
197	VILLAGE- JINDRI, BLOCK- PATHANKOT, TEHSIL- PATHANKOT	PATHANKOT	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
198	VILLAGE- UDHOKE, (ON UDHOKE - MATEWAL ROAD), BLOCK-TARSIKKA, TEHSIL-BABA BAKALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
199	VILLAGE- DHIRA (ON DHIRA TO GHAROTA ROAD), BLOCK- PATHANKOT, TEHSIL- PATHANKOT	PATHANKOT	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
200	VILLAGE- JHORALI, BLOCK-DINANAGAR, TEHSIL-DINANAGAR	PATHANKOT	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

201	VILLAGE- KOHALI, BLOCK- CHOGAWAN, TEHSIL- AJNALA	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
202	VILLAGE- SANGAR, BLOCK-DHARIWAL, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
203	VILLAGE- CHEEMA, BLOCK-SRI HARGOBINDPUR, TEHSIL- BATALA	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
204	VILLAGE- TALWANDI KHUMAN, BLOCK- MAJITHA, TEHSIL- MAJITHA	AMRITSAR	Rural	25	ОВС РН	DC	30	35	1050	12	30	Draw of Lots	5	3
205	VILLAGE- GHAGE, BLOCK- KHADOOR SAHIB, TEHSIL- KHADOOR SAHIB	TARN TARAN	Rural	25	SC PH	CFS	30	35	1050	0	0	Draw of Lots	0	2
206	VILLAGE- BAL ON DHARIWAL TO KOTSANTOKHRAI ROAD, BLOCK-DHARIWAL, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
207	VILLAGE- SUNDER (ON PURANASHALLA TO DINNAGAR ROAD), BLOCK-GURDASPUR, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
208	VILLAGE- MANGA SARAI, BLOCK-AMRITSAR I, TEHSIL-AMRITSAR I	AMRITSAR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
209	VILLAGE- BEHARWAL, BLOCK-CHOGAWAN, TEHSIL-AJNALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
210	VILLAGE- AKALGARH NOT ON NH, BLOCK-TARSIKKA , TEHSIL-AMRITSAR I	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
211	VILLAGE- JHANDER, BLOCK-HARSHA CHINNA, TEHSIL-AJNALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
212	VILLAGE- RASULPUR KALAN, BLOCK-TARSIKKA , TEHSIL-AMRITSAR I	AMRITSAR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

213	VILLAGE- KATHUNANGAL, BLOCK-MAJITHA, TEHSIL- MAJITHA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
214	VILLAGE- JAND, BLOCK- JANDIALA GURU, TEHSIL- AMRITSAR I	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
215	VILLAGE- RATAUL, BLOCK-TARN TARAN, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
216	VILLAGE- MUNDAPIND, BLOCK-CHOLASAHIB, TEHSIL-KHADOOR SAHIB	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
217	VILLAGE- CHAWINDA DEVI, BLOCK-MAJITHA, TEHSIL-BABA BAKALA	AMRITSAR	Rural	100	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
218	VILLAGE- CHABBA (OTHER THEN NH), BLOCK-ATTARI , TEHSIL- AMRITSAR II	AMRITSAR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
219	VILLAGE- GHURKWIND, BLOCK-BHIKHIWIND, TEHSIL-PATTI	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
220	VILLAGE- BHAKNA KALAN, BLOCK-ATTARI , TEHSIL-AMRITSAR II	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
221	VILLAGE- SURWIND, (ON TARN TARAN TO DAYALPUR ROAD), BLOCK-BHIKHIWIND, TEHSIL-PATTI	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
222	VILLAGE- RAHAL CHAHAL, BLOCK-CHOLA SAHIB, TEHSIL-KHADOOR SAHIB	TARN TARAN	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
223	VILLAGE- BHAIL, BLOCK- CHOLA SAHIB, TEHSIL- KHADOOR SAHIB	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
224	VILLAGE- MANAWALA, BLOCK-CHOGAWAN, TEHSIL-AJNALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
225	VILLAGE- DAKHLA KHU ON JANDIALA TO GEHRI ROAD , BLOCK-JANDIALA GURU, TEHSIL-AMRITSAR I	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

226	VILLAGE- KHAWASPUR, BLOCK-KHADOOR SAHIB, TEHSIL-KHADOOR SAHIB	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
227	VILLAGE- KOT DATA, BLOCK-PATTI, TEHSIL- PATTI	TARN TARAN	Rural	25	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
228	VILLAGE- DUBLI, BLOCK- PATTI, TEHSIL-PATTI	TARN TARAN	Rural	25	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
229	VILLAGE-UPPAL , BLOCK- KHADOOR SAHIB, TEHSIL- KHADOOR SAHIB	TARN TARAN	Rural	25	Open PH	DC	30	35	1050	12	30	Draw of Lots	5	4
230	VILLAGE- BRAHAMPURA, BLOCK-CHOLASAHIB, TEHSIL-KHADOOR SAHIB	TARN TARAN	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
231	VILLAGE-RAJPURA, BLOCK-BABA BAKALA, TEHSIL-BABA BAKALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
232	VILLAGE- DINEWAL, BLOCK-KHADOOR SAHIB, TEHSIL-KHADOOR SAHIB	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
233	VILLAGE- CHIMA KALAN, ON KOT BUDHA ROAD, BLOCK-PATTI, TEHSIL- PATTI	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
234	VILLAGE- MALMOHARI, BLOCK-TARN TARAN, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
235	VILLAGE- KOT BUDHA, BLOCK-PATTI, TEHSIL- PATTI	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
236	VILLAGE- MALIA, BLOCK- TARN TARAN, TEHSIL- TARN TARAN	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
237	VILLAGE- CHAMBAL, BLOCK-NAUSHERA PANNUAN, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
238	VILLAGE- GOPALA, BLOCK-NAUSHERA PANNUAN, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3

239	VILLAGE- PHELOKE, BLOCK-NAUSHERA PANUAN, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
240	VILLAGE- NATHUCHAK, BLOCK-PATTI, TEHSIL- PATTI	TARN TARAN	Rural	25	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
241	VILLAGE- MAMANKE, BLOCK-TARN TARAN, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
242	VILLAGE- UBOKE, BLOCK- PATTI, TEHSIL-PATTI	TARN TARAN	Rural	25	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
243	VILLAGE- TEJA KHURD, BLOCK-FATEHGARH CHURAIN, TEHSIL-BATALA	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
244	VILLAGE- CHABAL KALAN, (ON CHABAL-TARN TARAN ROAD), BLOCK- TARN TARAN, TEHSIL- TARN TARAN	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
245	VILLAGE- AHMEDPUR, BLOCK-PATTI, TEHSIL- PATTI	TARN TARAN	Rural	25	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
246	VILLAGE- TERA RAJPUTAN, BLOCK- AJNALA, TEHSIL-AJNALA	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
247	VILLAGE- TALWANDI NAHAR, BLOCK-AJNALA, TEHSIL-AJNALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
248	VILLAGE- CHAK DOGRAN, BLOCK-AJNALA, TEHSIL- AJNALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
249	VILLAGE- KOTLA SURAJ LOHAR, BLOCK-AJNALA, TEHSIL-AJNALA	AMRITSAR	Rural	25	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
250	VILLAGE- ASAL, BLOCK- PATTI, TEHSIL-PATTI	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
251	VILLAGE- BISHNIWAL (ON FATEHGARH CHURIAN TO BATALA ROAD), BLOCK- FATEHGARH CHURAIN, TEHSIL-BATALA	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

252	VILLAGE- THIREWAL ON BATALA TO SRI HARGOVINDPUR ROAD, BLOCK-SRI HARGOBINDPUR, TEHSIL- BATALA	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
253	VILLAGE- KOTLA DOOM, BLOCK-CHOGAWAN, TEHSIL-AJNALA	AMRITSAR	Rural	25	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
254	VILLAGE- JHANJOTI, BLOCK-HARSHA CHINNA, TEHSIL-AJNALA	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
255	VILLAGE- DHAUL KALAN, BLOCK-VERKA, TEHSIL- AMRITSAR II	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
256	VILLAGE- KHIALA KALAN, BLOCK-CHOGAWAN, TEHSIL-AJNALA	AMRITSAR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
257	VILLAGE- RANGARH, BLOCK-ATTARI , TEHSIL- AMRITSAR II	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
258	VILLAGE- KAIRON on PATTI KAIRON ROAD, BLOCK-PATTI, TEHSIL- PATTI	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
259	VILLAGE- RURE ASAL, BLOCK-NAUSHERA PANNUAN, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
260	VILLAGE- CHOLASAHIB, BLOCK-CHOLASAHIB, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
261	VILLAGE MISSARPURA , BATALA TO BEAS ROAD, BLOCK-BATALA, TEHSIL- BATALA	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
262	VILLAGE- HARSHA CHINNA ON CHOGAWAN ROAD , BLOCK-HARSHA CHINNA, TEHSIL-AJNALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
263	VILLAGE- GAUREY NANGAL, BLOCK-AJNALA, TEHSIL-AJNALA	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2

264	VILLAGE- LOHARKA, BLOCK-AJNALA, TEHSIL- AJNALA	AMRITSAR	Rural	25	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
265	VILLAGE- LODHI NANGAL, BLOCK-FATEHGARH CHURAIN, TEHSIL-BATALA	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
266	VILLAGE- SARANG DEV, BLOCK-AJNALA, TEHSIL- AJNALA	AMRITSAR	Rural	25	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
267	VILLAGE- OTHIAN, BLOCK-BATALA, TEHSIL- BATALA	GURDASPUR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
268	VILLAGE- PHULKE, BLOCK- BATALA, TEHSIL-BATALA	GURDASPUR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
269	VILLAGE- KHAIRE BALACHAK, BLOCK- TARSIKKA, TEHSIL-BABA BAKALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
270	VILLAGE- KOTLA MUSA ON BATALA TO QADIAN ROAD, BLOCK-QADIAN, TEHSIL-BATALA	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
271	VILLAGE- NANGAL BAGBANA ON BATALA HARCHOWAL ROAD, BLOCK-QADIAN, TEHSIL- BATALA	GURDASPUR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
272	VILLAGE- NAG KALAN, BLOCK-MAJITHA, TEHSIL- MAJITHA	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
273	VILLAGE- BHALAIPUR DOGRAN, BLOCK- KHADOOR SAHIB, TEHSIL- KHADOOR SAHIB	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
274	VILLAGE- BACHRE (ON TARN TARAN - GOINDWAL ROAD), BLOCK-TARN TARAN, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
275	VILLAGE- BHANWAL (ON DEFENCE ROAD), BLOCK- SUJANPUR , TEHSIL- PATHANKOT	PATHANKOT	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

276	VILLAGE- BHATTIAN, BLOCK-KAHNUWAN, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
277	VILLAGE- BAUCHE NANGAL, BLOCK- KALANAUR, TEHSIL- GURDASPUR	GURDASPUR	Rural	25	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
278	VILLAGE- CHHOTTEPUR, BLOCK-DHARIWAL, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open CC 2	DC	30	35	1050	12	30	Draw of Lots	5	4
279	VILLAGE- KARAL, BLOCK- GURDASPUR, TEHSIL- GURDASPUR	GURDASPUR	Rural	25	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
280	VILLAGE- SEKHWAN ON KAHNUWAN - BATALA ROAD, BLOCK- KAHNUWAN, TEHSIL- GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
281	VILLAGE- GADRIAN, BLOCK-DHARIWAL, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
282	VILLAGE- WAZIR BHULLAR, BLOCK-RAYYA, TEHSIL-BABA BAKALA	AMRITSAR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
283	VILLAGE- RAIPUR KHURD, BLOCK-AJNALA, TEHSIL- AJNALA	AMRITSAR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
284	VILLAGE- BHULE NANGAL, BLOCK-RAYYA, TEHSIL-BABA BAKALA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
285	VILLAGE- TAKKAPUR, BLOCK-RAYYA, TEHSIL- BABA BAKALA	AMRITSAR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
286	VILLAGE- MIANPUR, BLOCK-GANDIWIND, TEHSIL-TARN TARAN	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
287	VILLAGE- THATIAN, BLOCK-RAYYA , TEHSIL- AMRITSAR I	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
288	VILLAGE- DALEKE, BLOCK- TARN TARAN, TEHSIL- TARN TARAN	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

289	VILLAGE- NADALA, BLOCK-GURDASPUR, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
290	VILLAGE- BEHLOLPUR, BLOCK-DORANGLA, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
291	VILLAGE- LANGERKOT, (ON GURDASPUR - SHRI HARGOBINDPUR ROAD), BLOCK-KAHNUWAN, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
292	VILLAGE- GANDE PINDI (ON TARAGARH TO MARARA ROAD), BLOCK- NAROT JAIMAL SINGH, TEHSIL-PATHANKOT	PATHANKOT	Rural	25	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
293	VILLAGE- GOBINDSAR (ON KOTLI MUGLIAN TO SUNDERCHAK RAOD), BLOCK-PATHANKOT , TEHSIL-PATHANKOT	PATHANKOT	Rural	25	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
294	VILLAGE- DAYALPUR (OTHER THEN SH), BLOCK-BHIKHIWIND, TEHSIL-PATTI	TARN TARAN	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
295	VILLAGE- CHOLA KHURD (ON FATEHABAD TO CHOLASAHIB ROAD), BLOCK-CHOLASAHIB, TEHSIL-KHADOOR SAHIB	TARN TARAN	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
296	VILLAGE- FATTU BHILA, BLOCK-MAJITHA, TEHSIL- BABA BAKALA	AMRITSAR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
297	VILLAGE- JASRAUR, BLOCK-CHOGAWAN , TEHSIL-AJNALA	AMRITSAR	Rural	25	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
298	VILLAGE- TUGHALWAL, BLOCK-KAHNUWAN, TEHSIL-GURDASPUR	GURDASPUR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
299	VILLAGE- WARAICH, BLOCK-RAYYA, TEHSIL- BABA BAKALA	AMRITSAR	Rural	25	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
300	VILLAGE- MAMRAI, BLOCK-BATALA, TEHSIL- BATALA	GURDASPUR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

301	VILLAGE- BAKSHIWAL, BLOCK-KALANAUR, TEHSIL-GURDASPUR	GURDASPUR	Rural	100	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
302	VILLAGE- AJAIBWALI , BLOCK-MAJITHA, TEHSIL- MAJITHA	AMRITSAR	Rural	25	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
303	VILLAGE- DOSTPUR, BLOCK-KALANAUR, TEHSIL-GURDASPUR	GURDASPUR	Rural	25	SC PH	CFS	30	35	1050	0	0	Draw of Lots	0	2
304	VILLAGE- SARHALA, BLOCK-MAJITHA, TEHSIL- MAJITHA	AMRITSAR	Rural	100	OBC PH	DC	30	35	1050	12	30	Draw of Lots	5	3
305	NH54, BETWEEN KM STONE NO 248 TO 240, BHATINDA- AMRITSAR ROAD, LHS	FARIDKOT	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
306	VILLAGE MANDI KALAN ON MAUR RAMPURA ROAD, ON NH-254	BATHINDA	REGULAR	150	Open	DC	35	45	1225	25	75	Draw of Lots	15	5
307	ON NH-9 I.E. ON KILLIAWALI-DOOMWALI BYPASS	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
308	FAZILKA CITY (WML) ON FAZILKA BY PASS ROAD TOWARDS FAZILKA- FEROZPUR ROAD	FAZILKA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
309	FROM FAZILKA TO LADHUKA ON SH 20 FAZILKA FEROZPUR ROAD	FAZILKA	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
310	FROM SITTO GUNNO TO DODEWALA ON SH 16 DISTT FAZILKA	FAZILKA	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
311	ABOHAR CITY (WML) ON ABOHAR-MALOT ROAD	FAZILKA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
312	FROM BANWALA TO BHIM RAO AMBEDKAR CHOWK FAZILKA ON NH 7 DISTT. FAZILKA	FAZILKA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
313	ABOHAR CITY (WML) FROM ABOHAR RAILWAY JUNCTION TO SETHI PALACE VIA BHARAT	FAZILKA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5

	SANITARY WARE SHANKAR MARKET													
314	ABOHAR BYPASS ROAD BETWEEN TAJ MARBLES TO INTERSECTION OF ABOHAR-MALOT ROAD NH-7,DISTT. FAZILKA	FAZILKA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
315	BETWEEN KM STONE 29 TO KM STONE 40 ON ABOHAR BYPASS ROAD DISTT FAZILKA, NH-07	FAZILKA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
316	FROM GOBINDGARH TO BALLUANA ON NH 7 DISTT. FAZILKA	FAZILKA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
317	BETWEEN VIJAYA BANK ABOHAR TO HOMOEOPATHIC MEDICAL COLLEGE AND HOSPITAL VIA SAMSUNG PLAZA (ABOHAR WML)	FAZILKA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
318	ABOHAR CITY (WML) ON AZIMGARH ROAD	FAZILKA	REGULAR	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
319	ABOHAR CITY (WML) ON INTERSECTION OF ABOHAR-MALOT ROAD TO PARADISE MALL (ABOHAR- HANUMANGARH ROAD)	FAZILKA	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
320	FROM ROAD CONNECTING NH7 TILL GREEN CITY, BATHINDA (LHS)	BATHINDA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
321	ABOHAR CITY (WML) FROM SANGAM PALACE TO SONI'S RESORT (ABOHAR- HANUMANGARH ROAD)	FAZILKA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
322	FROM BHIM RAO AMBEDKAR CHOWK TO INDIA-PAKISTAN BORDER ON SULEMANI ROAD ON NH-7 DISTT FAZILKA	FAZILKA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
323	FROM BURJMOHAR TO NIHALKHERA ON NH-7 DISTT. FAZILKA	FAZILKA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

324	FROM RAILWAY CROSSING ABOHAR STATION TO INTERSECTION OF ABOHAR BYPASS ROAD AND ABOHAR- SRIGANGANAGAR ROAD VIA DPS ABOHAR AND RIDDHI SIDDHI ESTATE	FAZILKA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
325	VILL-BURJMEHMA, BATHINDA TO MUKTSAR ROAD, LHS ON NH-754	BATHINDA	REGULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
326	FROM ABOHAR TEHSIL TO INTERSECTION OF ABOHAR BYPASS ROAD AND ABOHAR SITTO ROAD	FAZILKA	REGULAR	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
327	ON SALEMSHAH ROAD BEYOND RAILWAY LEVEL CROSSING TOWARDS SALEMSHAH WITHIN FAZILKA WML	FAZILKA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
328	FAZILKA CITY (WML) ON ARMY CANTONMENT ROAD	FAZILKA	REGULAR	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
329	ON SH-17, WHILE GOING FROM TALWANDI SABO TO SARDULGARH, BETWEEN IOCL PETROL PUMP AT NATEHA AND PUNJAB-HARYANA BORDER (LEFT HAND SIDE)	BATHINDA	REGULAR	130	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
330	ABOHAR CITY (WML) FROM HOTEL GIORGIO TO MIRAJ CINEMA, ABOHAR	FAZILKA	REGULAR	140	ОВС РН	DC	20	20	400	25	45	Draw of Lots	15	4
331	WITHIN KM STONE NO. 56 TO 59 ON ABOHAR BYPASS ROAD, NH-7 DISTT. FAZILKA	FAZILKA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
332	FROM KHUIANSARWAR TO KALLERKHERA ON NEW NH 62E (OLD NH 15) DISTT FAZILKA	FAZILKA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
333	ABOHAR BYPASS ROAD BETWEEN TARA AUTOMOBILES TO INTERSECTION OF	FAZILKA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

	ABOHAR- HANUMANGARH ROAD AND CELEBERATION RESORT NH-7,DISTT. FAZILKA													
334	KM STONE 290-294 LHS ON MALOUT-BATHINDA ROAD NH-15	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
335	FROM GHALLU TO BANWALA ON NH 7 DISTT FAZILKA	FAZILKA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
336	FROM ROAD CONNECTING NH7 TILL GREEN CITY, BATHINDA (RHS)	BATHINDA	REGULAR	100	Open	DC	20	20	400	25	45	Bidding	15	5
337	ABOHAR (WML) ON BUS STAND ROAD VIA SANDEEP CINEMA	FAZILKA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
338	TEONA TO MULTANIA, BATHINDA, RHS	BATHINDA	REGULAR	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
339	LAL SINGH BASTI, BATHINDA CITY BETWEEN STREET NO 21 TO 37	BATHINDA	REGULAR	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
340	NORTH ESTATE 100 FEET ROAD, BATHINDA CITY.	BATHINDA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
341	BABA MUNI CHOWK TO BHUCHO KANCHIYAN	BATHINDA	REGULAR	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
342	MULTANIA BRIDGE TO BEHMAN DIWANA CHOWK, BATHINDA	BATHINDA	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
343	ON NH-148B, FROM UNDER PASS TO IVY HOSPITAL (ON BOTH SIDES OF ROAD)	BATHINDA	REGULAR	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
344	FROM KALLERKHERA TO USMANKHERA ON NEW NH 62E (OLD NH 15) DISTT FAZILKA	FAZILKA	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
345	BHAGU ROAD (PHASE I TRAFIC SIGNAL TO 100 FT. INTERSECTION), BATHINDA	BATHINDA	REGULAR	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

ı	ı	1												
346	TRANSPORT NAGAR, BATHINDA	BATHINDA	REGULAR	200	Open	DC	20	20	400	25	45	Draw of Lots	15	5
347	ON NH-54 I.E. BATHINDA- DABWALI ROAD BETWEEN ITI FLYOVER AND JODHPUR ROMANA (RIGHT HAND SIDE)	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
348	ON BHAGU ROAD, BETWEEN 100 FEET ROAD JUNCTION AND MANSA ROAD, BATHINDA CITY	BATHINDA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
349	POWER HOUSE ROAD, BATHINDA CITY	BATHINDA	REGULAR	160	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
350	ON 100 FEET ROAD, BETWEEN JUNCTION ON BIBIWALA ROAD AND GHORA CHOWK, BATHINDA CITY	BATHINDA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
351	ON 100 FEET ROAD, BETWEEN GHORA CHOWK AND TRAFFIC SIGNAL AT POWER HOUSE ROAD, BATHINDA CITY	BATHINDA	REGULAR	100	Open	СС	20	20	400	25	10	Bidding	30	5
352	FROM ABOHAR TO GOBINDGARH ON NH 7 DISTT. FAZILKA	FAZILKA	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
353	FROM LADHUKA TO GHUBAYA ON FAZILKA FEROZPUR ROAD SH - 20	FAZILKA	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
354	ON 100 FEET ROAD, BETWEEN TRAFFIC SIGNAL AT POWER HOUSE ROAD AND JUNCTION ON BHAGU ROAD, BATHINDA CITY	BATHINDA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
355	MANSA KALAN TO MAUR FLY OVER ON TALWANDI MAUR ROAD, NH 254	BATHINDA	REGULAR	150	SC	CFS	35	45	1225	0	0	Draw of Lots	0	3
356	ON NH-54, WHILE GOING FROM BATHINDA TO DABWALI, BETWEEN GEHRI BUTTER AND HMEL REFINERY ROAD	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

	JUNCTION (RIGHT HAND SIDE OF ROAD)													
357	PARASRAM NAGAR CHOWK TO CANAL, SANTPURA ROAD, BATHINDA CITY	BATHINDA	REGULAR	130	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
358	MODEL TOWN PHASE-II, BATHINDA CITY	BATHINDA	REGULAR	100	Open	СС	20	20	400	25	10	Bidding	30	5
359	BHAGTA BHAI KA (WML) ON KOTHA GURU ROAD	BATHINDA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
360	ON NEW NH-254 I.E. HMEL REFINERY ROAD, WHILE GOING FROM NH- 254 JUNCTION ON NH-54 TO HMEL REFINERY, BETWEEN IOCL PETROL PUMP AT GURTHARI AND INTERSECTION OF PAKKA KHURD TO SEKHU ROAD (BOTH SIDES)	BATHINDA	REGULAR	210	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
361	ON 60 FEET ROAD, TEACHERS COLONY BATHINDA CITY	BATHINDA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
362	ON NEW NH-254 I.E. TALWANDI SABO-RAMAN ROAD, WHILE GOING FROM RAMAN TO TALWANDI SABO, BETWEEN PEERKHANA ROAD INTERSECTION AND IOCL RO IN RAMAN (RHS)	BATHINDA	REGULAR	150	Open	сс	20	20	400	25	10	Bidding	30	5
363	ON NH-54, WHILE GOING FROM BATHINDA TO DABWALI, BETWEEN KM STONE 16 & 20 (LEFT HAND SIDE)	BATHINDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
364	HARPAL NAGAR ON BATHINDA - BARNALA ROAD	BATHINDA	REGULAR	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
365	ON NEW NH-254, WHILE GOING FROM RAMAN TO TALWANDI SABO, BETWEEN JUNCTION OF	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

	RAMAN BYPASS ON NH- 254 AND GURU- RAVIDASS CHOWK (RIGHT HAND SIDE)													
366	ON NH-54, WHILE GOING FROM BATHINDA TO DABWALI, BETWEEN KM STONE 20 & 24 (LEFT HAND SIDE)	BATHINDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
367	FROM ALAMGARH TO KHUIANSARWAR ON NEW NH 62E (OLD NH 15) DISTT FAZILKA	FAZILKA	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
368	ON NH-148B, BATHINDA- MANSA ROAD, WHILE GOING FROM KOTSHAMIR TO BATHINDA, BETWEEN KOTSHAMIR CHAURAHA AND JASSI PAUWALI CHAURAHA (LEFT HAND SIDE)	BATHINDA	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
369	ON NEW NH-254, WHILE GOING FROM RAMAN TO TALWANDI SABO, BETWEEN IOCL PETROL PUMP AT RAMAN AND TARA AUTOMOBILES (LEFT HAND SIDE)	BATHINDA	REGULAR	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
370	ON NH-54 I.E. BATHINDA- DABWALI ROAD, WHILE GOING FROM BATHINDA TO DABWALI, BETWEEN KM STONE 33 & 38 (ON LEFT HAND SIDE)	BATHINDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
371	RAMAN CITY (WML)	BATHINDA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
372	ON BHATTI ROAD, BATHINDA CITY	BATHINDA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
373	ON NH-54 I.E. BATHINDA- DABWALI ROAD, WHILE GOING FROM DABWALI TO BATHINDA, BETWEEN DABWALI CHOWK AND DOOMWALI (RIGHT HAND SIDE)	BATHINDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

374	ON NH54, BETWEEK KANHAIYA CHOWK AND NFL TOWNSHIP TOWARDS FARIDKOT (LEFT SIDE)	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
375	ON NH-7 I.E. BATHINDA- BARNALA HIGHWAY, ROSE GARDEN TO BIBI WALA CHOWK, BATHINDA CITY (LEFT HAND SIDE)	BATHINDA	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
376	ON NH-148B, FROM BATHINDA TO TALWANDI SABO, BETWEEN JASSI PAUWALI CHOWK AND IOCL RO IN KOTSHAMIR, KATAR SINGH WALA (LEFT HAND SIDE)	BATHINDA	REGULAR	150	Open	DC	20	20	400	25	75	Draw of Lots	15	5
377	ON NH-54 I.E. BATHINDA- DABWALI ROAD, WHILE GOING FROM DABWALI TO BATHINDA, BETWEEN DABWALI GOL CHOWK AND RELIANCE RO AT DOOMWALI (LEFT HAND SIDE)	BATHINDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
378	ON 100 FEET ROAD, BETWEEN POWER HOUSE ROAD TRAFFIC SIGNAL INTERSECTION AND BHAGU ROAD JUNCTION, BATHINDA CITY	BATHINDA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
379	ON NH-54 I.E BATHINDA- DABWALI ROAD, BETWEEN JODHPUR ROMANA TO GEHRI BUTTER (RIGHT HAND SIDE)	BATHINDA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
380	ON NH-54 I.E. BATHINDA- DABWALI ROAD, WHILE GOING FROM BATHINDA TO DABWALI, BETWEEN KM STONE 30 & 33 (ON LEFT HAND SIDE)	BATHINDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
381	ON NEW NH-254 I.E. HMEL REFINERY ROAD, WHILE GOING FROM NH- 254 JUNCTION ON NH-54 TO HMEL REFINERY, BETWEEN INTERSECTION	BATHINDA	REGULAR	210	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

	OF PAKKA KHURD TO SEKHU ROAD AND HPCL PETROL PUMP IN TARKHANWAL (BOTH SIDES)													
382	ON SH-17, WHILE GOING FROM TALWANDI SABO TO SARDULGARH, BETWEEN MANSA- TALWANDI ROAD JUNCTION AND HPCL PETROL PUMP IN SINGO (RIGHT HAND SIDE)	BATHINDA	REGULAR	130	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
383	ON NH-54, FROM HMEL REFINERY JUNCTION (GURTHARI) TO JASSI BHAGWALI (RIGHT HAND SIDE)	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
384	ON NEW NH-254 I.E. HMEL REFINERY ROAD, WHILE GOING FROM NH- 254 JUNCTION ON NH-54 TO HMEL REFINERY, BETWEEN HPCL PETROL PUMP AT TARKHANWALA AND HMEL TOWNSHIP (BOTH SIDES)	BATHINDA	REGULAR	210	Open	сс	35	45	1575	25	10	Bidding	30	5
385	BETWEEN KM STONE NO. 46 & 49 ON SH-17 (TALWANDI SABO TO SARDULGARH ROAD)(LHS)	BATHINDA	REGULAR	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
386	BATHINDA CITY (BETWEEN HANUMAN CHOWK TO RAILWAY STATION)	BATHINDA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
387	ON NEW NH-254 I.E. HMEL REFINERY ROAD, WHILE GOING FROM NH- 254 JUNCTION ON NH-54 TO HMEL REFINERY, BETWEEN HMEL TOWNSHIP AND IOCL PETROL PUMP AT RAMSARA (BOTH SIDES)	BATHINDA	REGULAR	250	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
388	ON SH-17, BETWEEN KM STONE NO 17 AND 20 (LEFT HAND SIDE)	BATHINDA	REGULAR	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

389	ON SH-17, TALWANDI- SARDULGARH ROAD, FROM TALWANDI SABO TO SARDULGARH, BETWEEN MANSA- TALWANDI ROAD JUNCTION AND SINGO (LEFT HAND SIDE)	BATHINDA	REGULAR	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
390	ON NH-54, CHAK RULDU SINGH WALA-NANDGARH ROAD JUNTION TO JASSI BAGH WALI JUNCTION (LEFT HAND SIDE)	BATHINDA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
391	ON NH54, BETWEEK KANHAIYA CHOWK AND NFL TOWNSHIP TOWARDS FARIDKOT (RIGHT SIDE)	BATHINDA	REGULAR	150	Open	СС	35	45	1575	25	10	Bidding	30	5
392	ON NEW NH-254, FROM RAMAN TO TALWANDI SABO, BETWEEN IOCL RO IN JAJJAL TO RAMAN BYPASS JUNCTION ON NH-254 (RIGHT HAND SIDE)	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
393	ON DR MELA RAM ROAD, BEHIND MITTAL CITY MALL, BATHINDA CITY	BATHINDA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
394	TALWANDI SABO (WML)	BATHINDA	REGULAR	150	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
395	ON NEW NH-254, WHILE GOING FROM RAMAN TO TALWANDI SABO, BETWEEN IOCL RO IN JAJJAL TO GURU- RAVIDASS CHOWK (LEFT HAND SIDE)	BATHINDA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
396	ON NEW NH-254, WHILE GOING FROM RAMAN TO TALWANDI SABO, BETWEEN TARA AUTOMOBILES AND IOCL RO IN JAJJAL (LEFT HAND SIDE)	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
397	ON BIBI WALA ROAD, FAUJI CHOWK TO 100 FEET ROAD JUNCTION, BATHINDA CITY	BATHINDA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

398	ON NH-7, BIBIWALA CHOWK TO ROSE GARDEN TOWARDS KANHAIYA CHOWK (RHS)	BATHINDA	REGULAR	150	Open	DC	20	20	400	25	75	Draw of Lots	15	5	
399	ON GURUKUL MAIN ROAD, BETWEEN OVERPASS AND SIRHIND CANAL, BATHINDA CITY	BATHINDA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5	
400	ON NH-7 I.E. BATHINDA- MALOUT ROAD, WHILE GOING FROM BATHINDA TO MALOUT, BETWEEN JUNCTION OF NH-754 ON NH-7 AND INTERSECTION OF CHUGHE-KALAN ROAD ON NH-7 (LEFT HAND SIDE)	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3	
401	ON BIBI WALA ROAD, 100 FEET ROAD JUNCTION TO BIBI WALA CHOWK, BATHINDA CITY	BATHINDA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4	
402	ON NH-7 I.E. BATHINDA- MALOUT ROAD, WHILE GOING FROM BATHINDA TO MALOUT, BETWEEN JUNCTION OF NH-754 ON NH-7 AND INTERSECTION OF CHUGHE-KALAN ROAD ON NH-7 (RIGHT HAND SIDE)	BATHINDA	REGULAR	150	Open	сс	35	45	1575	25	10	Bidding	30	5	
403	NH-54, BETWEEN KM STONE NO 200 TO 190, BHATINDA- AMRITSAR ROAD, LHS	FIROZPUR	REGULAR	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5	
404	BEHMAN DIWANA TO KARAMGARH ON NH-07 (RHS)	BATHINDA	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4	
405	ON SH-17, WHILE GOING FROM TALWANDI SABO TO SARDULGARH, BETWEEN IOCL PETROL PUMP AT SINGO AND IOCL PETROL PUMP AT NATEHA (LEFT HAND SIDE)	BATHINDA	REGULAR	130	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3	
406	ON RIGHT SIDE OF THE NH7 ROAD GOING FROM RAMPURA RAILWAY CROSSING TO LEHRA	BATHINDA	REGULAR	175	Open	DC	35	45	1575	25	75	Draw of Lots	15	5	

	MOHABAT CEMENT FACTORY, ON NH-07													
407	RAMPURA CITY WML	BATHINDA	REGULAR	100	Open	СС	20	20	400	25	10	Bidding	30	5
408	ON NH-254, BETWEEN FAUJI CHOWK AND KANAHIYA CHOWK ,BATHINDA CITY	BATHINDA	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
409	ON NH-54, WHILE GOING FROM BATHINDA TO DABWALI, BETWEEN HPCL PETROL PUMP AT GURUSAR SHANEWALA AND GEHRI BUTTER (LEFT HAND SIDE)	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
410	VILLAGE RAM NAGAR ON MAUR RAMPURA ROAD, NH-254	BATHINDA	REGULAR	175	Open	DC	35	45	1225	25	75	Draw of Lots	15	5
411	VILLAGE JOGA ON MANSA-BARNALA ROAD, ON NH 703	MANSA	REGULAR	175	Open	DC	35	45	1225	25	75	Draw of Lots	15	5
412	ON NH-148B, BETWEEN UNDERPASS AND JASSI POWALI CHOWK	BATHINDA	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
413	BHUCHO WML	BATHINDA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
414	VILLAGE SANDOH ON TALWANDI MAUR ROAD, ON NH-254	BATHINDA	REGULAR	150	OPEN PH	DC	35	45	1225	25	75	Draw of Lots	15	5
415	RAMPURA PHOOL TO VILLAGE PHOOL ON RAMPURA PHOOL ROAD, NH-254	BATHINDA	REGULAR	160	Open	DC	35	45	1225	25	75	Draw of Lots	15	5
416	2 KM FROM BHUCHO KANCHIAN TOWARDS NATHANA ON BHUCHO NATHANA ROAD, SH-16A	BATHINDA	REGULAR	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
417	ON NEW NH-254, WHILE GOING FROM RAMAN TO TALWANDI SABO, BETWEEN TARA AUTOMOBILES TO IOCL	BATHINDA	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5

	RO IN JAJJAL (RIGH HAND SIDE)													
418	VILLAGE DIKH ON NH 254	BATHINDA	REGULAR	150	SC	CFS	35	45	1225	0	0	Draw of Lots	0	3
419	ON LEFT SIDE OF THE NH7 ROAD GOING FROM RAMPURA RAILWAY CROSSING TO LEHRABEGA TOLL PLAZA, ON NH-07	BATHINDA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
420	FROM MAUR FLY OVER TO NH 148 B CROSSING ON MAUR-TALWANDI ROAD, NH-254	BATHINDA	REGULAR	150	Open	DC	35	45	1225	25	75	Draw of Lots	15	5
421	LEFT HAND SIDE FROM HOTEL THREE PALMS TO PENINSULA MALL ON NH- 54	BATHINDA	REGULAR	175	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
422	ON LEFT SIDE OF NH7 ROAD GOING FROM BIBI WALA CHOWK TO BHUCHO KAINCHIAN, ON NH7	BATHINDA	REGULAR	165	OBC	СС	35	45	1575	25	10	Bidding	30	4
423	ON RIGHT SIDE OF NH7 ROAD GOING FROM BIBI WALA CHOWK TO BHUCHO KAINCHIAN, ON NH7	BATHINDA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
424	BETWEEN KM STONE NO 11 TO 17, ON SH 15, DISTT FARIDKOT	FARIDKOT	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
425	ON SH-16, BETWEEN KOTKAPURA BUS STAND TO FUN PLAZA	FARIDKOT	REGULAR	100	Open	DC	35	35	400	25	60	Draw of Lots	15	5
426	BETWEEN KM STONE NO 3 TO 8, ON SH 15, DISTT FARIDKOT	FARIDKOT	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
427	NH-54, BETWEEN KM STONE NO 266 TO 261, BHATINDA- AMRITSAR ROAD, RHS	FARIDKOT	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
428	SH - 20, BETWEEN ZIRA TO SUKHEWALA	FIROZPUR	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

429	NH-54, BETWEEN KM STONE NO 266 TO 261, BHATINDA- AMRITSAR ROAD, LHS	FARIDKOT	REGULAR	190	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
430	ON NH-254, MAUR- TALWANDI SABO RAOD, BETWEEN GURU RAVI DASS CHOWNK AND IOCL PETROL PUMP IN SHEKHPURA (RHS)	BATHINDA	REGULAR	150	ОВС РН	DC	35	45	1575	25	75	Draw of Lots	15	4
431	ON NH 354B, FEROZEPUR TO ZIRA ROAD, BETWEEN KM STONE 20 & 25 (BOTH SIDES)	FIROZPUR	REGULAR	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
432	NH54, BETWEEN KM STONE NO 258 TO 253, BHATINDA- AMRITSAR ROAD, LHS	FARIDKOT	REGULAR	190	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
433	NH54, BETWEEN KM STONE NO 228 TO 225, BHATINDA- AMRITSAR ROAD	FARIDKOT	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
434	SH16, BETTWEEN KM STONE NO 2 TO 5, KOTKAPURA-MUKTSAR ROAD	FARIDKOT	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
435	NH-54, BETWEEN KM STONE NO 222 TO 215, BHATINDA- AMRITSAR ROAD, RHS	FARIDKOT	REGULAR	190	Open	СС	35	45	1575	25	10	Bidding	30	5
436	NH54, BETWEEN KM STONE NO 258 TO 253, BHATINDA- AMRITSAR ROAD, RHS	FARIDKOT	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
437	NH-54, BETWEEN KM STONE NO 188 TO 180, BHATINDA- AMRITSAR ROAD, LHS	FIROZPUR	REGULAR	190	Open	СС	35	45	1575	25	10	Bidding	30	5
438	SH - 20, VILLAGE- TALWANDI JALLE KHAN	FIROZPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
439	NH-54, BETWEEN KM STONE NO 172 TO 168, BHATINDA- AMRITSAR ROAD, LHS	FIROZPUR	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
440	NH54, BETWEEN KM STONE NO 248 TO 240, BHATINDA- AMRITSAR ROAD, RHS	FARIDKOT	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

441	SH19, BETWEEN MAKHU TO BANGARPET	FIROZPUR	REGULAR	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
442	FARIDKOT CITY (WML)	FARIDKOT	REGULAR	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
443	NH-54, BETWEEN KM STONE NO 178 TO 168, BHATINDA- AMRITSAR ROAD, RHS	FIROZPUR	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
444	NH-54, BETWEEN KM STONE NO 210 TO 205, BHATINDA- AMRITSAR ROAD, LHS	FIROZPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
445	NH54, BETWEEN KM STONE NO 238 TO 230, BHATINDA- AMRITSAR ROAD, RHS	FARIDKOT	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
446	JAITO CITY(WML)	FARIDKOT	REGULAR	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
447	KOTKAPURA CITY(WML)	FARIDKOT	REGULAR	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
448	NH-54, BETWEEN KM STONE NO 188 TO 180, BHATINDA- AMRITSAR ROAD, RHS	FIROZPUR	REGULAR	190	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
449	NH-54, BETWEEN KM STONE NO 222 TO 215, BHATINDA- AMRITSAR ROAD, LHS	FARIDKOT	REGULAR	190	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
450	TALWANDI BHAI(WML)	FIROZPUR	REGULAR	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
451	ZIRA (WML)	FIROZPUR	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
452	TALWANDI BHAI(WML)	FIROZPUR	REGULAR	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
453	ON NEW NH-254, WHILE GOING FROM RAMAN TO TALWANDI SABO, BETWEEN IOCL PETROL PUMP AT RAMAN AND	BATHINDA	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4

	TARA AUTOMOBILES (LEFT HAND SIDE)													
454	ON NH-254, MAUR- TALWANDI SABO RAOD, BETWEEN GURU RAVI DASS CHOWNK AND IOCL PETROL PUMP IN SHEKHPURA (LHS)	BATHINDA	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
455	ON NH 354B, FEROZEPUR TO ZIRA ROAD, BETWEEN KM STONE 15 & 20 (BOTH SIDES)	FIROZPUR	REGULAR	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
456	NH-54, BETWEEN KM STONE NO 178 TO 168, BHATINDA- AMRITSAR ROAD, LHS	FIROZPUR	REGULAR	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
457	MUKTSAR RUPANA ROAD ON NH354	MUKTSAR	REGULAR	185	Open	СС	35	45	1575	25	10	Bidding	30	5
458	NH-54, BETWEEN KM STONE NO 210 TO 205, BHATINDA- AMRITSAR ROAD, RHS	FIROZPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
459	VILLAGE DOAD ON NH354	FARIDKOT	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
460	NH 703A, MAKHU TO JALANDHAR ROAD, IN BETWEEN MAKHU TO MAHMUDWALA VILLAGE	FIROZPUR	REGULAR	150	ОВС	DC	35	45	1225	25	75	Draw of Lots	15	4
461	VILLAGE BURA GUJJAR ON NH354	MUKTSAR	REGULAR	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
462	AMAN NAGAR, CANTONMENT ROAD,FARIDKOT CITY	FARIDKOT	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
463	NH-54, BETWEEN KM STONE NO 200 TO 190, BHATINDA- AMRITSAR ROAD, RHS	FIROZPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
464	FROM PREET HOSPITAL TILL RADHA SWAMI SATSANG BEAS, ON FARIDKOT - TALWANDI ROAD	FARIDKOT	REGULAR	100	OBC	DC	35	35	1225	25	30	Draw of Lots	15	4

	ı	1				ı	I	ı	ı			ı	ı	1 1
465	PRATAP NAGAR, KOTKAPURA	FARIDKOT	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
466	ON FEROZEPUR TO SADIQ ROAD, LEFT HAND SIDE FROM JHOKE TO DOAD	FIROZPUR	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
467	NH-5, TALWANDI BHAI TO MOGA, DIST- FEROZPUR	FIROZPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
468	BAJAKHANA CHOWK TO RAMBAGH, ON JAITU BATHINDA ROAD	FARIDKOT	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
469	CIRCULAR ROAD, FARIKDOT CITY	FARIDKOT	REGULAR	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
470	FEROZEPUR-FAZILKA ROAD, SH-20, BETWEEN KM STONE 1 & 6	FIROZPUR	REGULAR	110	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
471	VILLAGE LUBHANIANWALI ON NH354	MUKTSAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
472	VILLAGE- RATOL ROHI ON ZIRA-TALWANDI ROAD (ON NH-54)	FIROZPUR	REGULAR	100	SC	CFS	35	45	1225	0	0	Draw of Lots	0	3
473	VILLAGE CHAK KANDHE SHAH, BETWEEN KM STONE 29 & 31 ON FEROZEPUR-FAZILKA ROAD, SH-20 LEFT HAND SIDE	FIROZPUR	REGULAR	130	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
474	GURUHARSAHAI TO GOLU KE ROAD LEFT HAND SIDE OPPOSITE NEW GRAIN MARKET NEAR RAILWAY FLYOVER BRIDGE	FIROZPUR	REGULAR	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
475	VILLAGE RUKNE BEGU ON FEROZEPUR TO FARIDKOT ROAD, SH-15	FIROZPUR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
476	NH-54, BETWEEN KM STONE NO 172 TO 168, BHATINDA- AMRITSAR ROAD, RHS	FARIDKOT	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

477	GURUHARSAHAI - MUKTSAR ROAD, WITHIN MUNICIPAL LIMITS	FIROZPUR	REGULAR	105	Open	DC	20	20	400	25	45	Draw of Lots	15	5
478	ON NH 5 FEROZEPUR TO MOGA ROAD, RIGHT HAND SIDE FROM SATIYA WALA TO MALWAL QADIM	FIROZPUR	REGULAR	150	Open	СС	35	45	1575	25	10	Bidding	30	5
479	ON BORDER ROAD, FROM MULTANI GATE TO HUSSANIWALA BORDER ROAD	FIROZPUR	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
480	GURUHARSAHAI, LEFT HAND SIDE, FROM RAILWAY STATION FLYOVER TO GUDDARDHANDI LINK ROAD	FIROZPUR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
481	ON JALALABAD TO MUKTSAR ROAD NH 754, FROM UDHAM SINGH CHOWK TO HANUMAN TEMPLE	FAZILKA	REGULAR	150	Open	DC	20	20	400	25	75	Draw of Lots	15	5
482	ON MALL ROAD FEROZEPUR, FROM SHERSHAWALI ROUND ABOUT TO CANTT RAILWAY FLYOVER	FIROZPUR	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
483	ON CIRCULAR ROAD FEROZEPUR CITY, FROM KASURI GATE TO MALLANWALA ROAD JUNCTION	FIROZPUR	REGULAR	105	Open	СС	20	20	400	25	10	Bidding	30	5
484	OPPOSITE SHIVALIK HIGH SCHOOL TOWARDS BAHMANI ON DAV COLLEGE ROAD	FAZILKA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
485	ON JALALABAD TO MUKTSAR ROAD NH 754, RIGHT HAND SIDE FROM CHAK ARAINWALA TO LADHU WALA UTAAR	FAZILKA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
486	ON NH 354B, FEROZEPUR TO ZIRA ROAD, BETWEEN KM STONE 10 & 15 (BOTH SIDES)	FIROZPUR	REGULAR	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
487	VILLAGE FEROZESHAH, ON NH 5 FEROZEPUR TO	FIROZPUR	REGULAR	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

	MOGA ROAD, LEFT HAND SIDE													
488	ON NH 5, FROM QUILE WALA MORH TO ZIRA ROAD ROUND ABOUT (BOTH SIDES)	FIROZPUR	REGULAR	160	Open	DC	20	20	400	25	75	Draw of Lots	15	5
489	ON RAILWAY STATION ROAD FEROZEPUR, FROM DIVISIONAL RAILWAY OFFICE TO CANTT BUS STAND	FIROZPUR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
490	ON FEROZEPUR TO SADIQ ROAD, RIGHT HAND SIDE FROM JHOKE TO DOAD	FIROZPUR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
491	JALALABAD (WML)	FAZILKA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
492	WITHIN 2 KM FROM BHIKHI TO BUDLADA (BHIKHI - BUDLADA ROAD)	MANSA	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
493	BHIKHI TOWN WML ON MANSA SUNAM ROAD NH 148 B	MANSA	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
494	VILLAGE MACHHI BUGRA, FEROZEPUR TO MOGA ROAD, RIGHT HAND SIDE ON NH 5	FIROZPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
495	BETWEEN ITI CHAURAHA TO BUS STAND ROAD, BUDHLADA DISTT MANSA	MANSA	REGULAR	125	Open	DC	20	20	400	25	45	Draw of Lots	15	5
496	VILLAGE BOHA ON MAIN ROAD (BUDLADA TO BOHA ROAD)	MANSA	REGULAR	120	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
497	ON WATER WORKS MANSA TO NAHARI KOTHI JAWAHARKE	MANSA	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
498	ON NH 354B, FEROZEPUR TO ZIRA ROAD, BETWEEN KM STONE 25 & 32 (BOTH SIDES)	FIROZPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
499	MANSA FLYOVER TO RAMDITTA CHOWK TOWARDS SIRSA ROAD ON LEFT SIDE ON NH703	MANSA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

500	BETWEEN STONE NO. 183 TO 185 ON BARNALA TO SIRSA ROAD RIGHT HAND SIDE ON NH703	MANSA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
501	WITH IN 2 KM FROM JHUNIR BUS STAND TO SARDULGARH ROAD ON NH 703	MANSA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
502	JAWAHARKE BUS STAND TO MANSA CITY	MANSA	REGULAR	155	Open	DC	20	20	400	25	45	Draw of Lots	15	5
503	VILLAGE KUTTIWAL KALAN ON MAUR RAMPURA ROAD, ON NH- 254	BATHINDA	REGULAR	150	SC CC 1	CFS	35	45	1225	0	0	Draw of Lots	0	3
504	VILLAGE MEHRAJWALA ON MALOUT-MUKTSAR ROAD ON NH 354	MUKTSAR	REGULAR	160	Open CC 2	СС	35	45	1575	25	10	Bidding	30	5
505	LEFT HAND SIDE FROM BIBIWALA CHOWK TOWARDS ADESH UNIVERSITY ON NH 7	BATHINDA	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
506	MANSA TINKONI TO MANSA BUS STAND	MANSA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
507	BETWEEN STONE NO. 185 TO 187 LEFT HAND SIDE (SIRSA BARNALA ROAD) ON NH-703	MANSA	REGULAR	150	OPEN	DC	35	45	1225	25	75	Draw of Lots	15	5
508	BUDHLADA (JAGAT PALACE TO ITI CHOWK)	MANSA	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
509	MANSA BUS STAND TO MANSA KHURD	MANSA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
510	CHAKERIA PHATAK TO SHIV SHAKTI RICE MILL MANSA CITY WML	MANSA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
511	FROM RAMDITTA CHAURAHA TO JAWHARKE ROAD	MANSA	REGULAR	150	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
512	ON GRAIN MARKET ROAD FROM NH703 TRUN TO BHAGAT SINGH CHOWK	MANSA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

513	ON BOHA RATIA ROAD GRAIN MARKET TO SURYA RESORT WML BOHA TEHSIL BUDLADA	MANSA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
514	BUDHLADA BUS STAND TO GURUNANAK COLLEGE CHAURAHA	MANSA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
515	BETWEEN MUKTSAR BYE PASS ROUND ABOUT TO BHULLAR ON MUKTSAR - BATHINDA ROAD (NH- 754)	MUKTSAR	REGULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
516	ON NH703 VILLAGE JHANDAKHURD (SIRSA SARDULGARH ROAD)	MANSA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
517	VILLAGE RAMPUR MANDER ON MAIN ROAD (BUDLADA TO BOHA ROAD)	MANSA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
518	BETWEEN MALOUT & LAMBI ON MALOUT- DABAWALI ROAD (NH-09)	MUKTSAR	REGULAR	160	Open CC 1	СС	35	45	1575	25	10	Bidding	30	5
519	ON ABOHAR BYE PASS ROAD BETWEEN GONIANA CHOWK TO PUNSUP OFFICE, SRI MUKTSAR SAHIB	MUKTSAR	REGULAR	130	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
520	VILLAGE LOHGARH ON FEROZEPUR - ZIRA ROAD (ON NH 354B)	FIROZPUR	REGULAR	100	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
521	WML ON SRI MUKTSAR SAHIB TO GURU HAR SAHAI ROAD , SRI MUKTSAR SAHIB	MUKTSAR	REGULAR	130	Open	DC	20	20	400	25	45	Draw of Lots	15	5
522	SRI MUKTSAR SAHIB WML ON MUKTSAR SAHIB TO JALALABAD ROAD	MUKTSAR	REGULAR	130	Open	СС	20	20	400	25	10	Bidding	30	5
523	ON NH-07 BETWEEN VILLAGE JANDWALA & VILLAGE THERI	MUKTSAR	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
524	ON NH-09 BETWEEN TINKONI CHOWK TO RAILWAY OVER BRIDGE MALOUT WML	MUKTSAR	REGULAR	240	Open	DC	20	20	400	25	75	Draw of Lots	15	5

525	VILLAGE KHEOWALI ON NH-09 MALOUT- DABAWALI ROAD	MUKTSAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
526	MUKTSAR-KOTKAPURA BYE PASS ROAD WML ON JALALABAD-KOTKAPURA ROAD	MUKTSAR	REGULAR	160	Open	DC	20	20	400	25	45	Draw of Lots	15	5
527	ON GTB SCHOOL ROAD, MALOUT, WML	MUKTSAR	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
528	MUKTSAR-KOTKAPURA BYE PASS ROAD WML ON MALOUT-KOTKAPURA ROAD	MUKTSAR	REGULAR	200	Open	DC	20	20	400	25	45	Draw of Lots	15	5
529	BETWEEN VILLAGE SINGHEWALA & BHAGU ON MALOUT-DABAWALI ROAD(NH-09)	MUKTSAR	REGULAR	160	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
530	NH54, BETWEEN KM STONE NO 238 TO 230, BHATINDA- AMRITSAR ROAD, LHS	FARIDKOT	REGULAR	190	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
531	ON MALOUT-BATHINDA ROAD FROM TINKONI TO JANDWALA (NH-07) WML	MUKTSAR	REGULAR	150	Open	DC	20	20	400	25	75	Draw of Lots	15	5
532	BEHMAN DIWANA CHOWK TO BADAL ROAD OVER BRIDGE (LHS) BATHINDA	BATHINDA	REGULAR	100	Open	DC	20	20	1225	25	45	Draw of Lots	15	5
533	MAUR WML	BATHINDA	REGULAR	100	ОВС	СС	20	20	400	25	10	Bidding	30	4
534	VILLAGE KOT BAKHTU, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO	BATHINDA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
535	NARUANA TO GURUSAR SAINEWALA, BATHINDA, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
536	VILLAGE KALLIAWALI ROAD, BETWEEN JUNCITON ON NH- 254(RAMAN-TALWANDI SABO ROAD) AND NEW REFINERY ROAD, BLOCK-	BATHINDA	Rural	80	OBC	СС	35	35	1225	12	5	Bidding	10	3

	TALWANDI SABO, TEHSIL- TALWANDI SABO													
537	VILLAGE ADAMPURA, BLOCK-RAMPURA, TEHSIL-RAMPURA	BATHINDA	Rural	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
538	VILLAGE CHAK FATEH SINGHWALA ON LAVERISAR ROAD TO TUNGWALI-LAVERISAR ROAD JUNCTION CROSSING, BLOCK- NATHANA, TEHSIL- NATHANA	BATHINDA	Rural	58	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
539	VILLAGE RAMSARA BETWEEN JUNCTION ON NH-254 (HMEL REFINERY ROAD) AND THANDI SADAK, BLOCK- TALWANDI SABO, TEHSIL- TALWANDI SABO	BATHINDA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
540	VILLAGE AKLIA KALAN, BLOCK-PHOOL, TEHSIL- PHOOL	BATHINDA	Rural	60	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
541	VILLAGE BAHADURGARH JHANDIYAN, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
542	VILLAGE BALAHAR MEHMA, BLOCK- GONIANA, TEHSIL- BATHINDA	BATHINDA	Rural	75	Open	СС	35	35	1225	12	5	Bidding	10	4
543	VILLAGE BALAHAR VINJU, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
544	VILLAGE BALLUANA, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
545	VILLAGE BADIALA, BLOCK-RAMPURA, TEHSIL-RAMPURA	BATHINDA	Rural	58	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
546	VILLAGE BALLOH, BLOCK- MAUR, TEHSIL-MAUR	BATHINDA	Rural	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

547	VILLAGE -DABRIKHANA, BLOCK-JAITU, TEHSIL- JAITU	FARIDKOT	Rural	26	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
548	VILLAGE BANGI RUGHU, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO	BATHINDA	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
549	VILLAGE BHAGTA BHAIKA, BLOCK-PHOOL, TEHSIL-PHOOL	BATHINDA	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
550	VILLAGE BIR TALAB, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
551	VILLAGE BHAGU, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	58	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
552	VILLAGE BHAI BAKHTAWAR, BLOCK- MAUR, TEHSIL-MAUR	BATHINDA	Rural	58	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
553	VILLAGE BHUNDER, BLOCK-RAMPURA, TEHSIL-RAMPURA	BATHINDA	Rural	72	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
554	VILLAGE DHAN SINGH KHANA, BLOCK-MAUR, TEHSIL-MAUR	BATHINDA	Rural	58	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
555	VILLAGE JOGA NAND, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	60	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
556	VILLAGE JHURAR KHERA, BLOCK-ABOHAR, TEHSIL- ABOHAR	FAZILKA	Rural	46	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
557	VILLAGE GEHRI BUTTER, BLOCK-SANGAT, TEHSIL- SANGAT	BATHINDA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
558	VILLAGE GATWALI, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO	BATHINDA	Rural	50	Open PH	DC	35	35	1225	12	30	Draw of Lots	5	4
559	VILLAGE BURJ DHILWA, BLOCK-TALWANDI SABO, TEHSIL-MANSA	BATHINDA	Rural	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

560	VILLAGE BHOKRA, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	60	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
561	VILLAGE GONIANA MANDI, BLOCK- GONIANA, TEHSIL- BATHINDA	BATHINDA	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
562	VILLAGE BURJ SEMA, BLOCK-MAUR, TEHSIL- MAUR	BATHINDA	Rural	58	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
563	VILLAGE BURJ MEHMA, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
564	VILLAGE JALAL, BLOCK- RAMPURA PHUL, TEHSIL- RAMPURA PHUL	BATHINDA	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
565	VILLAGE JHANDUKE, BLOCK-MAUR, TEHSIL- MAUR	BATHINDA	Rural	58	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
566	VILLAGE JODHPUR PAKHAR, BLOCK-MAUR, TEHSIL-MAUR	BATHINDA	Rural	100	Open	СС	35	35	1225	12	5	Bidding	10	4
567	VILLAGE GEHRI BHAGI, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO	BATHINDA	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
568	VILLAGE GOBINDPURA, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
569	VILLAGE KOTHAGURU, BLOCK-RAMPURA PHUL, TEHSIL-RAMPURA PHUL	BATHINDA	Rural	75	Open	СС	35	35	1225	12	5	Bidding	10	4
570	VILLAGE- KAMIANA, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	26	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
571	VILLAGE GILL PATTI, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
572	VILLAGE GONIANA KHURD, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

VILLAGE MANDI KHURD, BLOCK-RAMPURA, TEHSIL-RAMPURA	BATHINDA	Rural	58	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
VILLAGE JEEDA, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	80	OBC	СС	35	35	1225	12	5	Bidding	10	3
VILLAGE MANN WALA, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO	BATHINDA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
VILLAGE MEHRAJ, BLOCK- RAMPURA, TEHSIL- RAMPURA	BATHINDA	Rural	58	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
VILLAGE KALLOH, BLOCK- MAUR, TEHSIL-MAUR	BATHINDA	Rural	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
VILLAGE KILLI NIHAL SINGH WALA, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
VILLAGE MULTANIA, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
VILLAGE NANDGARH, BLOCK-SANGAT, TEHSIL- SANGAT	BATHINDA	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
VILLAGE KHIALIWALA, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL- SANGAT	BATHINDA	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
VILLAGE NATHANA, BLOCK-NATHANA, TEHSIL-NATHANA	BATHINDA	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
VILLAGE PITHO, BLOCK- RAMPURA, TEHSIL- RAMPURA	BATHINDA	Rural	58	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
VILLAGE RAYIA, BLOCK- PHOOL, TEHSIL- RAMPURA	BATHINDA	Rural	58	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
	BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE JEEDA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE MANN WALA, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO VILLAGE MEHRAJ, BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE KALLOH, BLOCK-MAUR, TEHSIL-MAUR VILLAGE KILLI NIHAL SINGH WALA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE MULTANIA, BLOCK-BATHINDA VILLAGE NANDGARH, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE KHIALIWALA, BLOCK-BATHINDA VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE NATHANA, TEHSIL-NATHANA VILLAGE PITHO, BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE RAYIA, BLOCK-PHOOL, TEHSIL-	BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE JEEDA, BLOCK- BATHINDA, TEHSIL- BATHINDA VILLAGE MANN WALA, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO VILLAGE MEHRAJ, BLOCK- RAMPURA, TEHSIL- RAMPURA VILLAGE KALLOH, BLOCK- MAUR, TEHSIL-MAUR VILLAGE KILLI NIHAL SINGH WALA, BLOCK- BATHINDA VILLAGE MULTANIA, BLOCK-BATHINDA VILLAGE MULTANIA, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE KHIALIWALA, BLOCK-BATHINDA VILLAGE KHIALIWALA, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE NATHANA, TEHSIL-NATHANA VILLAGE PITHO, BLOCK- RAMPURA, TEHSIL- RAMPURA VILLAGE RAYIA, BLOCK- PHOOL, TEHSIL- BATHINDA BATHINDA	BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE JEEDA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE MANN WALA, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO VILLAGE MEHRAJ, BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE KALLOH, BLOCK-MAUR, TEHSIL-MAUR VILLAGE KILLI NIHAL SINGH WALA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE MULTANIA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE NANDGARH, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE KHIALIWALA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE NANDGARH, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE NANDGARH, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE KHIALIWALA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE RHALLAR, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE NATHANA, TEHSIL-SANGAT VILLAGE NATHANA, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE NATHANA, BATHINDA VILLAGE NATHANA, BATHINDA VILLAGE PITHO, BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE RAYIA, BLOCK-PHOOL, TEHSIL- RAMPURA VILLAGE RAYIA, BLOCK-PHOOL, TEHSIL- BATHINDA Rural	BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE JEEDA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE MANN WALA, BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE MEHRAJ, BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE KALLOH, BLOCK-MAUR, TEHSIL-MAUR VILLAGE KALLOH, BLOCK-BATHINDA VILLAGE KALLOH, BLOCK-BATHINDA VILLAGE KALLOH, BLOCK-BATHINDA VILLAGE MULTANIA, BLOCK-BATHINDA VILLAGE MULTANIA, BLOCK-BATHINDA VILLAGE NANDGARH, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE KHIALIWALA, BLOCK-BATHINDA VILLAGE KHIALIWALA, BLOCK-BATHINDA VILLAGE NANDGARH, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE PITHO, BLOCK-SANGAT, TEHSIL-SANGAT VILLAGE PITHO, BLOCK-SANGAT VILLAGE PITHO, BLOCK-RAMPURA, TEHSIL-NATHANA VILLAGE PITHO, BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE PITHO, BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE RAYIA, BLOCK-PHOOL, TEHSIL- RAMPURA VILLAGE RAYIA, BLOCK-PHOOL, TEHSIL- BATHINDA Rural 58 RURAL 60 RURAL 60	BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE JEEDA, BLOCK- BATHINDA, TEHSIL- BATHINDA VILLAGE MANN WALA, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO, TEHSIL-TALWANDI SABO VILLAGE MEHRAJ, BLOCK- RAMPURA, TEHSIL- RAMPURA VILLAGE KALLOH, BLOCK- MAUR, TEHSIL-MAUR VILLAGE KILLI NIHAL SINGH WALA, BLOCK- BATHINDA VILLAGE MULTANIA, BLOCK-BATHINDA VILLAGE MULTANIA, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE KHILLI WALA, BLOCK-BATHINDA VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE NATHANA, BLOCK-NATHANA, BLOCK-RAMPURA VILLAGE RAYIA, BLOCK- RAMPURA VILLAGE RAYIA, BLOCK- PHOOL, TEHSIL- BATHINDA Rural S8 OBC	BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE JEEDA, BLOCK- BATHINDA BATHINDA VILLAGE MENDA VILLAGE MANN WALA, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO, TEHSIL-TALWANDI SABO, VILLAGE MERAJ, BLOCK- RAMPURA VILLAGE KALLOH, BLOCK- MAUR, TEHSIL- BATHINDA VILLAGE KALLOH, BLOCK- MAUR, TEHSIL- BATHINDA VILLAGE KILLI NIHAL SINCH WALA, BLOCK- BATHINDA VILLAGE KILLI NIHAL SINCH WALA, BLOCK- BATHINDA VILLAGE MULTANIA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE NANDGARH, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE KHIALIWALA, BLOCK-BATHINDA VILLAGE RANDGARH, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE RHIALIWALA, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE NATHANA, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE NATHANA, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE PHALLAR, BATHINDA Rural SS OPEN DC CFS TEMSIL- SANGAT VILLAGE PHALLAR, BATHINDA RURAI SS OPEN DC DC VILLAGE PHALLAR, BATHINDA VILLAGE PHALLAR, BATHIN	BLOCK-RAMPURA, TEHSIL-RAMPURA VILLAGE JEEDA, BLOCK- BATHINDA, TEHSIL- BATHINDA VILLAGE MANN WALA, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO, VILLAGE MEHRAJ, BLOCK- RAMPURA, TEHSIL- RAMPURA VILLAGE KALLOH, BLOCK- MAUR, TEHSIL-MAUR VILLAGE KALLOH, BLOCK- MAUR, TEHSIL-MAUR VILLAGE KALLOH, BLOCK- BATHINDA Rural S8 Open DC 35 Open DC 35 CFS 35 VILLAGE KALLOH, BLOCK- MAUR, TEHSIL-MAUR VILLAGE KALLOH, BLOCK- BATHINDA VILLAGE KILLI NIHAL SINGH WALA, BLOCK- BATHINDA VILLAGE KILLI NIHAL SINGH WALA, BLOCK- BATHINDA VILLAGE MULTANIA, BLOCK-BATHINDA VILLAGE MULTANIA, BLOCK-SANGAT, TEHSIL- BATHINDA VILLAGE KHIALIWALA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE KHIALIWALA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE KHIALIWALA, BLOCK-BATHINDA, TEHSIL-BATHINDA VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE NATHANA, TEHSIL-BATHINDA Rural S0 Open DC 35 SS Open DC 35 VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE NATHANA, TEHSIL-BATHINDA Rural S0 Open DC 35 THINDA Rural S0 Open DC 35 THINDA Rural S0 Open DC 35 THINDA VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL- SANGAT VILLAGE NATHANA, TEHSIL-BATHINDA Rural S0 Open DC 35 THINDA VILLAGE PHALLAR, BLOCK-NATHANA, BATHINDA Rural S0 Open DC 35 THINDA VILLAGE PHALLAR, BATHINDA Rural S0 Open DC 35 THINDA VILLAGE PHALLAR, BATHINDA Rural S0 Open DC 35 THINDA VILLAGE PHHO, BLOCK- RAMPURA, TEHSIL- RAMPURA VILLAGE RAYIA, BLOCK- PHOOL, TEHSIL- BATHINDA Rural S8 Open DC 35	BLOCK-RAMPURA, TEHSIL-BATHINDA Rural S8 Open DC 35 35 35 35 35 35 35 3	BLOCK-RAMPURA	BLOCK-RAMPURA BATHINDA Rural S8 Open DC 35 35 1225 12	BICDCK-RAMPURA BATHINDA Rural 58 Open DC 35 35 1225 12 30	BATHINDA BATHINDA	BLOCK RAMPURA BATHINDA Rural S8 Open DC 35 35 1225 12 30 Draw of Lots S

	1		1	1			1	ı				1	1	
586	VILLAGE LELEWALA, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO	BATHINDA	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
587	VILLAGE SHERGARH, BLOCK-SANGAT, TEHSIL- SANGAT	BATHINDA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
588	VILLAGE YATRI, BLOCK- MAUR, TEHSIL-MAUR	BATHINDA	Rural	58	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
589	VILLAGE SALBATPURA, BLOCK-RAMPURA PHUL, TEHSIL-RAMPURA PHUL	BATHINDA	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
590	VILLAGE MEHMA SARJA, BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
591	VILLAGE- ARAYANWALA KALAN, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
592	VILLAGE- CHANDBHAN, JAITO- BHATINDA ROAD, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
593	VILLAGE SANDOHA, BLOCK-MAUR, TEHSIL- MAUR	BATHINDA	Rural	58	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
594	VILLAGE- GUMTI KHURD, JAITO- BHATINDA ROAD, BLOCK-JAITU, TEHSIL- JAITU	FARIDKOT	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
595	VILLAGE MEHTA, BLOCK- SANGAT, TEHSIL-SANGAT	BATHINDA	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
596	VILLAGE- KOTKAPURA, KOTKAPURA TO DUAREANA ROAD , BLOCK-KOTKAPURA, TEHSIL-KOTKAPURA	FARIDKOT	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
597	DANEWALA, BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
598	VILLAGE- GURU KI DHAB, JAITO- KOTKAPURA ROAD, BLOCK-	FARIDKOT	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

	KOTKAPURA, TEHSIL- KOTKAPURA													
599	VILLAGE NANGLA, BLOCK- TALWANDI SABO, TEHSIL- TALWANDI SABO	BATHINDA	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
600	VILLAGE PINDI BALOCHAN, BLOCK- FARIDKOT, TEHSIL- FARIDKOT	FARIDKOT	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
601	VILLAGE -MATTA, GURU KI DHAB TO MATTA ROAD, TEH-JAITO, BLOCK- KOTKAPURA, TEHSIL- KOTKAPURA	FARIDKOT	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
602	VILLAGE NANAKSAR, JAITO- KOTKAPURA ROAD, BLOCK- KOTKAPURA, TEHSIL- KOTKAPURA	FARIDKOT	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
603	VILLAGE PHOOLI, BLOCK- NATHANA, TEHSIL- NATHANA	BATHINDA	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
604	VILLAGE- RORI KAPURA, BLOCK-JAITU, TEHSIL- JAITU	FARIDKOT	Rural	36	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
605	VILLAGE- RANSINGHWALA, BARGADI-JAITO ROAD, BLOCK-JAITU, TEHSIL- JAITU	FARIDKOT	Rural	56	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
606	VILLAGE JODHPUR ROMANA, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	60	Open CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
607	VILLAGE VARYAMKHERA, BLOCK-ABOHAR, TEHSIL- ABOHAR	FAZILKA	Rural	46	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
608	FROM NUKERIAN TO TAREWALA VIA MANDI RORAWALI, BLOCK- JALALABAD, TEHSIL- JALALABAD	FAZILKA	Rural	46	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
609	VILLAGE- ROMANA AJIT SINGH, BLOCK-JAITU, TEHSIL-JAITU	FARIDKOT	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

610	VILLAGE- ROMANA ALBEL SINGH, JAITO- KOTKAPURA ROAD, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
611	VILLAGE-WANDER JATAN, BLOCK-KOTKAPURA, TEHSIL-KOTKAPURA	FARIDKOT	Rural	36	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
612	VILLAGE SAILBRAH, BLOCK-RAMPURA, TEHSIL-RAMPURA	BATHINDA	Rural	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
613	VILLAGE-KOT SUKHIA, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	36	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
614	DALIYAANWALI, BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
615	VILLAGE- JEONWALA, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	36	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
616	DHARAM PURA , BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
617	VILLAGE THAMMANGARH ON MAUR MANDI-RAMPURA ROAD, BLOCK-MAUR, TEHSIL-MAUR	BATHINDA	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
618	GANJUANA, BLOCK- FAZILKA, TEHSIL-FAZILKA	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
619	VILLAGE- PAKKA, BLOCK- FARIDKOT, TEHSIL- FARIDKOT	FARIDKOT	Rural	26	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
620	DIWAN KHERA , BLOCK- KHUIANSARWAR, TEHSIL- KHUIANSARWAR	FAZILKA	Rural	46	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
621	VILLAGE - SARAWAN, BLOCK-JAITU, TEHSIL- JAITU	FARIDKOT	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
622	VILLAGE – LAKHEWALI, BLOCK-FAZILKA, TEHSIL- FAZILKA	FAZILKA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

623	VILLAGE – TAREWALA, BLOCK-JALALABAD, TEHSIL-JALALABAD	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
624	KALA TIBBA , BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
625	CHAK KATHGARH , BLOCK-JALALABAD, TEHSIL-JALALABAD	FAZILKA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
626	VILLAGE- DEEP SINGHWALA, BLOCK- FARIDKOT, TEHSIL- FARIDKOT	FARIDKOT	Rural	26	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
627	VILLAGE- ARNIWALA ON MALOT-FAZILKA ROAD, BLOCK-FAZILKA, TEHSIL- FAZILKA	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
628	VILLAGE-TAHLIWALA BODLA ON MALOT- FAZILKA ROAD, BLOCK- FAZILKA, TEHSIL-FAZILKA	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
629	CHANAN KHERA, BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
630	VILLAGE- DHUDI, BLOCK- FARIDKOT, TEHSIL- FARIDKOT	FARIDKOT	Rural	26	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
631	VILLAGE WAZIDPUR BHOMA, BLOCK-ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
632	VILLAGE KOHARIANWALI ON NIHALKHERA- KOHARIANWALI ROAD, BLOCK-FAZILKA, TEHSIL- FAZILKA	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
633	VILLAGE- QILA NAU, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	36	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
634	VILLAGE CHOTIAN, BLOCK-RAMPURA, TEHSIL-RAMPURA	MANSA	Rural	58	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
635	VILLAGE SHERGARH, BLOCK-SANGAT, TEHSIL- SANGAT	FAZILKA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

636	VILLAGE- BAZIDPUR KATIANWALI (NOT ON NH), BLOCK-FAZILKA, TEHSIL-FAZILKA	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
637	DANGARKHERA , BLOCK- FAZILKA, TEHSIL-FAZILKA	FAZILKA	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
638	PANJKOSI, BLOCK- KHUIANSARWAR, TEHSIL- KHUIANSARWAR	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
639	VILLAGE- SIBIAN, BLOCK- KOTKAPURA, TEHSIL- KOTKAPURA	FARIDKOT	Rural	36	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
640	SABUANA, BLOCK- FAZILKA, TEHSIL-FAZILKA	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
641	DHINGAWALI, BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
642	SHEREWALA, BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
643	CHIMNE WALAN, BLOCK- FAZILKA, TEHSIL-FAZILKA	FAZILKA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
644	FROM VILLAGE TOTIANWALA TO SEMNALI CANAL BRIDGE IN CHAK DUMAL , BLOCK- JALALABAD, TEHSIL- JALALABAD	FAZILKA	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
645	TAHLIWALA JATTAN, BLOCK-FAZILKA, TEHSIL- FAZILKA	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
646	VILLAGE JAMA RAKHIA HITHAR ON HAZARA SINGHWALA TO KHUNDAR HITHAR ROAD , BLOCK-MAMDOT , TEHSIL-MAMDOT	FIROZPUR	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
647	JANDWALA HANWANTA, BLOCK-ABOHAR, TEHSIL- ABOHAR	FAZILKA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

648	MAHUANA BODLA, BLOCK-FAZILKA, TEHSIL- FAZILKA	FAZILKA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
649	VILLAGE KALLERKHERA ON KALLERKHERA TO PANNIWALA MAHLA LINK ROAD, BLOCK- KHUIANSARWAR, TEHSIL- KHUIANSARWAR	FAZILKA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
650	FEROZEPUR TO PATTI ROAD, VILLAGE HAMIDWALA, BLOCK- FEROZEPUR, TEHSIL- FEROZEPUR	FIROZPUR	Rural	55	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
651	KHIPPANWALI , BLOCK- FAZILKA, TEHSIL-FAZILKA	FAZILKA	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
652	VILLAGE GUMJAL (NOT ON NH), BLOCK- KHUIANSARWAR, TEHSIL- KHUIANSARWAR	FAZILKA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
653	ON MATTAR UTTAR TO KHUNDAR HITHAR ROAD, VILLAGE RAO KE HITHAR, BLOCK-MAMDOT, TEHSIL-MAMDOT	FIROZPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
654	ON MISHRIWALA TO MUDKI LINK ROAD, VILLAGE WARA BHAI KA, BLOCK-FEROZEPUR, TEHSIL-FEROZEPUR	FIROZPUR	Rural	55	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
655	ON RAKHRI ROAD, FROM KHUSHAL SINGH WALA TO GILLANWALA, VILLAGE KHANE KE AHAL, BLOCK-FEROZEPUR, TEHSIL-FEROZEPUR	FIROZPUR	Rural	55	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
656	VILLAGE LOKHE KHURD, BLOCK-ZIRA, TEHSIL-ZIRA	FIROZPUR	Rural	46	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
657	VILLAGE – CHUHARIANWALI ON MALOT-FAZILKA ROAD, BLOCK-FAZILKA, TEHSIL- FAZILKA	FAZILKA	Rural	46	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2

658	VILLAGE KARAMGARH SATTRAN, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	60	Open PH	DC	35	35	1225	12	30	Draw of Lots	5	4
659	VILLAGE – KIKKARKHERA, BLOCK-ABOHAR, TEHSIL- ABOHAR	FAZILKA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
660	VILLAGE HARAJ ON TALWANDI BHAI TO HARAJ ROAD, BLOCK- GHALL KHURD, TEHSIL- FEROZEPUR	FIROZPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
661	VILLAGE- KULARAN, BLOCK-ABOHAR, TEHSIL- ABOHAR	FAZILKA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
662	VILLAGE ATARI, FEROZEPUR - MALLANWALA ROAD, BLOCK-FEROZEPUR, TEHSIL-FEROZEPUR	FIROZPUR	Rural	55	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
663	VILLAGE-NARIANPURA (RAMPURA), BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
664	VILLAGE CHAK PANJE KE, BLOCK-GURUHARSAHAI, TEHSIL-GURUHARSAHAI	FIROZPUR	Rural	80	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
665	VILLAGE MACHHIWARA, ON ROAD FROM MACHHIWARA TO GHATTI RAHIME KE, BLOCK-FEROZEPUR, TEHSIL-FEROZEPUR	FIROZPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
666	VILLAGE USMANKHERA (NOT ON NH), BLOCK- KHUIANSARWAR, TEHSIL- KHUIANSARWAR	FAZILKA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
667	VILLAGE TAROBARI, BLOCK-FAZILKA, TEHSIL- FAZILKA	FAZILKA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
668	VILLAGE MACHHIWARA, ON ROAD FROM MACHHIWARA TO HABIBWALA, BLOCK- FEROZEPUR, TEHSIL- FEROZEPUR	FIROZPUR	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

669	VILLAGE KASSOANA, BLOCK-ZIRA, TEHSIL-ZIRA	FIROZPUR	Rural	46	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
670	GURUHARSAHAI- GUDDARDHANDI LINK ROAD, BLOCK- GURUHARSAHAI, TEHSIL- GURUHARSAHAI	FIROZPUR	Rural	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
671	RUKANPURA , BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
672	VILLAGE MEGHARAI UTHAR ON GAJNIWALA ROAD BETWEEN SHINDER FLOUR MILL AND GAJNIWALA BUS STAND, BLOCK-GURUHARSAHAI, TEHSIL-GURUHARSAHAI	FIROZPUR	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
673	VILLAGE MEHMA, BLOCK- FEROZEPUR, TEHSIL- FEROZEPUR	FIROZPUR	Rural	75	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
674	VILLAGE CHUGGIAN, BLOCK-FAZILKA, TEHSIL- FAZILKA	FAZILKA	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
675	VILLAGE ITTANWALI, ON ITTANWALI-MOHKAM WALA ROAD, BLOCK- GHALL KHURD, TEHSIL- FEROZEPUR	FIROZPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
676	VILLAGE SAPPANWALI , BLOCK-FEROZEPUR, TEHSIL-FEROZEPUR	FIROZPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
677	VILLAGE TOOT, BLOCK- GHALL KHURD, TEHSIL- FEROZEPUR	FIROZPUR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
678	VILLAGE TALWANDI NEPALAN ON FEROZEPUR TO MAKHU ROAD, BLOCK-MAKHU, TEHSIL- ZIRA	FIROZPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
679	VILLAGE LLMEWALA ON FEROZEPUR TO MALLANWALA ROAD, RIGHT HAND SIDE, BLOCK-FEROZEPUR, TEHSIL-FEROZEPUR	FIROZPUR	Rural	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

680	VILLAGE WAKILAN WALA, BLOCK-ZIRA, TEHSIL-ZIRA	FIROZPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
681	VILLAGE BACHHOANA, BLOCK-BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
682	VIL BAHARDURSINGHWALA ON FEROZEPUR TO MALLANWALA ROAD, BLOCK-FEROZEPUR, TEHSIL-FEROZEPUR	FIROZPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
683	VILLAGE MEHMUNJEYA, BLOCK-GURUHARSAHAI, TEHSIL-GURUHARSAHAI	FIROZPUR	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
684	KISHANGARH SEDHA SINGH (BARETA LEHRA GAGA ROAD), BLOCK- BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
685	VILLAGE CHOTE SABRAON ON MALLANWALA - BANGALI PULL ROAD, BLOCK- MAKHU, TEHSIL-ZIRA	FIROZPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
686	KULRIAN (KULRIA TO GORAKHNATH ROAD WITH IN 2 KM), BLOCK- BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
687	VILLAGE RAMDITTTA, BLOCK-MANSA, TEHSIL- MANSA	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
688	VILLAGE SANGRAHUR , BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FIROZPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
689	VILLAGE HAMADWALA, ON ROAD FROM ACHHEWALA TO KOHALA, BLOCK-FEROZEPUR, TEHSIL-FEROZEPUR	FIROZPUR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
690	VILLAG HAKAMWAL, BLOCK-BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

691	VILLAGE BHADRA (BUDLADA SUNAM ROAD), BLOCK-BUDLADA, TEHSIL-BUDLADA	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
692	VILLAGE ATLA KHURD, BLOCK-MAUR, TEHSIL- MAUR	MANSA	Rural	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
693	VILLAGE KOHAR SINGH WALA, BLOCK- GURUHARSAHAI, TEHSIL- GURUHARSAHAI	FIROZPUR	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
694	VILLAGE GEHLE, BLOCK- MANSA, TEHSIL-MANSA	MANSA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
695	VILLAGE BHAMA KALAN, BLOCK-JHUNIR, TEHSIL- JHUNIR	MANSA	Rural	46	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
696	VILLAGE LOKHE KALAN, BLOCK-MAKHU, TEHSIL- ZIRA	FIROZPUR	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
697	VILLAGE DALEL SINGH WALA, BLOCK-MANSA, TEHSIL-MANSA	MANSA	Rural	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
698	VILLAGE JHANDA KHURD, BLOCK-SARDULGARH, TEHSIL-SARDULGARH	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
699	VILLAGE JHANDUKE, BLOCK-SARDULGARH, TEHSIL-SARDULGARH	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
700	VILLAGE BURJ HARIKE, TAMKOT TO UBHA ROAD, BLOCK-MANSA, TEHSIL- MANSA	MANSA	Rural	58	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
701	VILLAGE PHULUWALAN DOGRA (BUDHLADA BARE ROAD), BLOCK-BUDLADA, TEHSIL-BUDLADA	MANSA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
702	VILLAGE JHUNIR (JHUNIR BOHA ROAD WITH IN 2 KM), BLOCK- SARDULGARH, TEHSIL- SARDULGARH	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
703	VILLAGE KHAIRA KALAN, BLOCK-SARDULGARH, TEHSIL-SARDULGARH	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

704	VILLAGE DODRA, BLOCK- BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
705	VILLAGE MAKHA, BLOCK- MANSA, TEHSIL-MANSA	MANSA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
706	VILLAGE LOHGARH, BLOCK-SARDULGARH, TEHSIL-SARDULGARH	MANSA	Rural	46	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
707	VILLAGE- DHURKOT, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	26	Open CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
708	VILLAGE- KOTHE SANTA SINGH, JAITO- BAJAKHANA ROAD, BLOCK-JAITU, TEHSIL- JAITU	FARIDKOT	Rural	100	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
709	VILLAGE MANDI KALAN, BLOCK-RAMPURA, TEHSIL-RAMPURA	MANSA	Rural	58	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
710	VILLAGE RANGHRIAL, BLOCK-BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
711	VILLAGE FATEHPUR, BLOCK-JHUNIR, TEHSIL- JHUNIR	MANSA	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
712	VILLAGE MUSA, BLOCK- MANSA, TEHSIL-MANSA	MANSA	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
713	VILLAGE SAMOAN, BLOCK-BHIKHI, TEHSIL- BHIKHI	MANSA	Rural	58	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
714	VILLAGE GURADI, BLOCK- BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
715	VILLAGE REONDKHURD, BLOCK-BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
716	VILLAGE UDAT SAIDEWALA, BLOCK- BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

717	VILLAGE UDDAT BHAGAT RAM , BLOCK-JHUNIR, TEHSIL-JHUNIR	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
718	VILLAGE HERON KHURD, BLOCK-BHIKHI, TEHSIL- BHIKHI	MANSA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
719	VILLAGE RORKI, BLOCK- SARDULGARH, TEHSIL- SARDULGARH	MANSA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
720	VILLAGE DANEWALA, BLOCK-JHUNIR, TEHSIL- JHUNIR	MANSA	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
721	VILLAGE JATANA KALAN, BLOCK-SARDULGARH, TEHSIL-SARDULGARH	MANSA	Rural	46	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
722	VILLAGE KALIPUR, BLOCK- BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
723	VILLAGE SHERKHANWALA, BLOCK- BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
724	VILLAGE- HARIKE KALAN, BLOCK-MUKTSAR, TEHSIL-MUKTSAR	MUKTSAR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
725	VILL. SARAWAN BODLA ON KATTIANWALI TO GADIANDOBH ROAD, BLOCK-MALOUT, TEHSIL- MALOUT	MUKTSAR	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
726	VILLAGE KHIYALA KALAN, BLOCK-MANSA, TEHSIL- MANSA	MANSA	Rural	46	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
727	RAMPURA TO GILL KALAN ON RAMPURA-GILL KALAN ROAD, BLOCK- RAMPURA, TEHSIL- RAMPURA	BATHINDA	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
728	VILLAGE TAHLIAN, BLOCK-BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
729	VILLAGE KOTBHAI, BLOCK-KOTBHAI, TEHSIL- GIDDERBAHA	MUKTSAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

730	VILLAGE NAHRAN, BLOCK-SARDULGARH, TEHSIL-SARDULGARH	MANSA	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
731	VILLAGE RUPANA, BLOCK- MUKTSAR, TEHSIL- MUKTSAR	MUKTSAR	Rural	75	Open	СС	35	35	1225	12	5	Bidding	10	4
732	VILLAGE-BURJMOHAR (NOT ON NH), BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
733	PATREWALA , BLOCK- ABOHAR, TEHSIL-ABOHAR	FAZILKA	Rural	46	ОВС РН	DC	35	35	1225	12	30	Draw of Lots	5	3
734	VILLAGE DOD, BAJAKHANA TO BHAGTA BHAIKA ROAD, BLOCK- JAITU, TEHSIL-JAITU	FARIDKOT	Rural	36	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
735	VILLAGE BODIWALA , BLOCK-MALOUT, TEHSIL- MALOUT	MUKTSAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
736	VILLAGE HARAJ, BHUTTIWALA ROAD, BLOCK-MUKTSAR, TEHSIL-MUKTSAR	MUKTSAR	Rural	36	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
737	VILLAGE- DOHAK, BLOCK- MUKTSAR, TEHSIL- MUKTSAR	MUKTSAR	Rural	36	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
738	VILLAGE TALLI GULAM, BLOCK-FEROZEPUR, TEHSIL-FEROZEPUR	FIROZPUR	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
739	BETWEEN KM STONE 1 TO 5 ON ABOHAR- SITTOGUNNO ROAD VIA SIMIGO INTERNATIONAL SCHOOL, BLOCK-FAZILKA, TEHSIL-FAZILKA	FAZILKA	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
740	VILLAGE CHANNO ON LAMBI TO GIDDERBAHA ROAD, BLOCK- GIDDERBAHA, TEHSIL- LAMBI	MUKTSAR	Rural	58	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
741	VILLAGE PEORI, BLOCK- GIDDERBAHA, TEHSIL- LAMBI	MUKTSAR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

742	INTERSECTION OF BHAGTA-BHAGA PURANA ROAD(SH-16A) WITH LINK ROAD TOWARDS BURJ LADHE SINGH WALA, SUKHANAND ROAD, BLOCK-BHAGTA BHAI KA, TEHSIL-BHAGTA BHAI KA	BATHINDA	Rural	105	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
743	BETWEEN KM STONE 12- 15 ON BADAL ROAD, BATHINDA, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
744	NEHIAN WALA TO MEHMA ROAD, BATHINDA , BLOCK- GONIANA MANDI, TEHSIL-GONIANA MANDI	BATHINDA	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
745	VILLAGE CHAK JAWAHAREWALA, BLOCK- MUKTSAR, TEHSIL- MUKTSAR	MUKTSAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
746	VILLAGE MIDDA, MALOUT-FAZILKA ROAD, BLOCK-MALOUT, TEHSIL- MALOUT	MUKTSAR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
747	WITHIN 6 KM FROM SADIQ CIRCLE, ON SADIQ -DEEPSINGHWALA ROAD, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	100	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
748	VILLAGE THANDEWALA, BLOCK-MUKTSAR, TEHSIL-MUKTSAR	MUKTSAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
749	BETWEEN KM STONE NO. 2 & 6 ON MANSA TO TALWANDI SABO ROAD(LHS), BLOCK- MANSA, TEHSIL-MANSA	MANSA	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
750	BIBIWALA CHOWK TO BIBIWALA VILLAGE, BIBIWALA ROAD, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
751	ON TALWANDI MANSA ROAD BETWEEN RAMDITTA CHAURAHA AND IOC PETROL PUMP	MANSA	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

	AT GEHLE, BLOCK- MANSA, TEHSIL-MANSA													
752	VILLAGE THARAJWALA ON GIDDERBHA-LAMBI ROAD, BLOCK-MALOUT, TEHSIL-MALOUT	MUKTSAR	Rural	52	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
753	BETWEEN KM STONE 12 & 16 ON TALWANDI MANSA ROAD, BLOCK- MANSA, TEHSIL-MANSA	MANSA	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
754	ON JODHPUR-ROMANA ROAD , BETWEEN JASSI PAUWALI CHOWK TO JODHPUR ROMANA , BLOCK-BATHINDA, TEHSIL-BATHINDA	BATHINDA	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
755	GHUDHA TO NANDGARH ON BADAL ROAD, BATHINDA, BLOCK- SANGAT, TEHSIL-SANGAT	BATHINDA	Rural	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
756	ON GIDDERBAHA COURT CHOWK TO HUSNAR ROAD, BLOCK- GIDDERBAHA, TEHSIL- GIDDERBAHA	MUKTSAR	Rural	150	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
757	VILLAGE RAMPURA ON RAMPURA-CHAUKE ROAD, BLOCK-RAMPURA, TEHSIL-RAMPURA	BATHINDA	Rural	120	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
758	VILLAGE MADIR ON GIDDERBAHA TO SRI MUKTSAR SAHIB ROAD, BLOCK-KOTBHAI, TEHSIL- GIDDERBAHA	MUKTSAR	Rural	60	Open PH	DC	35	35	1225	12	30	Draw of Lots	5	4
759	VILLAGE-DHILWAN KALAN, DHILWAN KALAN TO KOTKAPURA ROAD, BLOCK-KOTKAPURA, TEHSIL-KOTKAPURA	FARIDKOT	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
760	ON MANSA TO TALWANDI SABO ROAD, BETWEEN TSPL THERMAL PLANT AND TALWANDI AKALIA , BLOCK-MANSA, TEHSIL-MANSA	MANSA	Rural	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
761	RAMPURA PHOOL TO MEHRAJ ROAD, BLOCK-	BATHINDA	Rural	155	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

	RAMPURA, TEHSIL- RAMPURA													
762	ON UTTAM LANE, BETWEEN SH-17 JUNCTION AND NANDI INDUSTRIES, BLOCK- BATHINDA, TEHSIL- BATHINDA	BATHINDA	Rural	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
763	VILLAGE- BAJAKHANA, JAITO- BAJAKHANA ROAD, BLOCK-JAITU, TEHSIL-JAITU	FARIDKOT	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
764	IN BETWEEN SHAHI HAVELI TO PEER BABA RODE SHAH JI, ON FARIDKOT- KOTKAPURA ROAD, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
765	ON LINK ROAD OF FARIDKOT CITY TO NH 54 , IN BETWEEN GOVERNMENT BRIJINDRA COLLEGE TO START OF NH54, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
766	VILLAGE- SANDHWAN, ON FARIKOT- KOTKAPURA ROAD, BLOCK-KOTKAPURA, TEHSIL-KOTKAPURA	FARIDKOT	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
767	ON MANSA-TALWANDI SABO ROAD, BETWEEN TALWANDI AKALIA AND IOCL PETROL PUMP AT GEHLE, BLOCK-MANSA, TEHSIL-MANSA	MANSA	Rural	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
768	VIL. KANDUKHERA ON BHITTIWALA- HARIPURA ROAD, BLOCK-LAMBI, TEHSIL-MALOUT	MUKTSAR	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
769	VIL JHINDWALA, BLOCK- MUKTSAR, TEHSIL- MUKTSAR	MUKTSAR	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
770	ON ROAD FROM FEROZEPUR-ZIRA JUNCTION (SATIYEWALA PIR AHMAD KHANWALA) TO INTERSECTION ON	FIROZPUR	Rural	100	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4

	FEROZEPUR-MOGA ROAD, BLOCK- FEROZEPUR, TEHSIL- FEROZEPUR													
771	WITHIN 5KM FROM SADIQ CHOWK TOWARDS SADIQ, ON FARIDKOT SADIQ ROAD, BLOCK- FARIDKOT, TEHSIL- FARIDKOT	FARIDKOT	Rural	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
772	BARKANDI-MUKTSAR ROAD OML, BLOCK- MUKTSAR, TEHSIL- MUKTSAR	MUKTSAR	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
773	VILLAGE TAMKOT, BLOCK-MUKTSAR, TEHSIL-MUKTSAR	MUKTSAR	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
774	WITHIN 3 KM FROM SADIQ CIRCLE, ON SADIQ - FARIDKOT ROAD, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	100	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
775	FROM UDANG TOWARDS KUNDAL ON MUKTSAR- ABOHAR ROAD, BLOCK- MUKTSAR, TEHSIL- MUKTSAR	MUKTSAR	Rural	110	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
776	VILL BAHADURPUR, BRETA-LEHRA ROAD, BLOCK-BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	100	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
777	MUKTSAR-CHIBRANWALI ROAD OML, BLOCK- MUKTSAR, TEHSIL- MUKTSAR	MUKTSAR	Rural	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
778	VILLAGE MIAN TO JHERYANWALI BUS STAND, BLOCK-JHUNIR, TEHSIL-JHUNIR	MANSA	Rural	70	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
779	VILLAGE RAJJIWALA, BLOCK-FEROZEPUR, TEHSIL-FEROZEPUR	FIROZPUR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
780	FROM USMANKHERA TO GUMJAL ON NEW NH 62E (OLD NH 15) DISTT FAZILKA	FAZILKA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

781	ABOHAR CITY (WML)	FAZILKA	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
782	ON LEFT SIDE OF NH7 ROAD GOING FROM BHUCHO CHOWK TO ADESH UNIVERSITY, ON NH7	BATHINDA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
783	RIGHT HAND SIDE FROM HOTEL THREE PALMS TO PENINSULA MALL ON NH- 54	BATHINDA	Regular	150	SC	CFS	35	45	1225	0	0	Draw of Lots	0	3
784	RAMPURA ON NH 7	BATHINDA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
785	RIGHT HAND SIDE FROM BIBIWALA CHOWK TOWARDS ADESH UNIVERSITY ON NH 7	BATHINDA	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
786	NH354, BETWEEN VILLAGE SADIQ TO MAAN SINGH WALA	FARIDKOT	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
787	ON NH 5, LEFT HAND SIDE FROM MALWAL QADIM TO PIAREANA	FIROZPUR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
788	BARETA (BHAI GHANEYA ROAD TO BUS STAND)	MANSA	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
789	WITHIN 2 KM FROM BARETA CHAURAHA TO JAKHAL ROAD	MANSA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
790	CHAK MANEWALA, BLOCK-JALALABAD, TEHSIL-JALALABAD	FAZILKA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
791	RAMKOT, BLOCK- FAZILKA, TEHSIL-FAZILKA	FAZILKA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
792	VILLAGE LALEANA, BLOCK-TALWANDI SABO, TEHSIL-TALWANDI SABO	BATHINDA	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
793	VILLAGE PARBHAT SINGH WALA UTTAR, BLOCK- JALALABAD, TEHSIL- JALALABAD	FAZILKA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

794	VILLAGE MOTHAN WALA, ON ROAD FROM GURUHARSAHAI TO JANDWALA, BLOCK- GURUHARSAHAI, TEHSIL- GURUHARSAHAI	FIROZPUR	Rural	46	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
795	VILLAGE SARHALI, BLOCK- MAKHU, TEHSIL-ZIRA	FIROZPUR	Rural	46	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
796	VILLAGE DHARAMPURA (DHARAMPURA TO BARETA VILLAGE ROAD), BLOCK-BUDLADA, TEHSIL- BUDLADA	MANSA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
797	VILLAGE JAURKIAN, BLOCK-JHUNIR, TEHSIL- JHUNIR	MANSA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
798	VILLAGE SANGU DHAUN, BLOCK-MUKTSAR, TEHSIL-MUKTSAR	MUKTSAR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
799	Mandigobindgarh on NH 44	Fatehgarh Sahib	Regular	150	SC	CFS	35	45	2025	0	0	Draw of Lots	0	3
800	Mandigobindgarh (OML) wihin 2 kms on NH 44	Fatehgarh Sahib	Regular	150	SC	CFS	35	45	2025	0	0	Draw of Lots	0	3
801	Khanna OML, within 2 km on NH 44	Ludhiana	Regular	150	SC	CFS	35	45	2025	0	0	Draw of Lots	0	3
802	Inbetween Bija to Doraha, LHS on NH 44	Ludhiana	Regular	150	SC	CFS	35	45	2025	0	0	Draw of Lots	0	3
803	Inbetween Sahnewal to Doraha, LHS on NH-44	Ludhiana	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
804	In between Gill Byepass to Kaind, LHS on SH-11	Ludhiana	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
805	Inbetween Nurpur to Hari Singh Nalwa Chowk, Raikot - SH-13	Ludhiana	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5

806	Inbetween Lakkar Bridge to Haibowal Chowk, Hambran Road, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
807	Inbetween Landran to Sohana (LHS) on SH 12A	SAS NAGAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
808	Village- Maruli Kalan, between Gharuan to Morinda on NH 95	Rupnagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
809	On Kurali- Ropar Bye Pass, within 2 Km from Kurali to Ropar on NH 205	SAS NAGAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
810	LHS from Dehlon to Pohir on SH-11	Ludhiana	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
811	Bhart Nagar Chowk to Jagraon Bridge, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
812	In between Ropar to Ghanauli on NH 205	Rupnagar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
813	Inbetween Singhpura to Bhankarpur, LHS on NH 152	SAS NAGAR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
814	Dhandari Kalan, Ludhiana (WML)	Ludhiana	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
815	Gharuan, in between milestone 15 to 17 on NH 95, RHS from Kharar to Ludhiana road	SAS NAGAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
816	In Between Kurali To Ropar on NH 205	Rupnagar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
817	Banmajra, in betweem milestone 29 to 31 on NH 205, RHS from Kurali to Ropar	Rupnagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
818	In between Samrala Chowk to Jamalpur Chowk, RHS, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

819	In between Jagraon to Chaukiman on NH -95 (RHS)	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
820	Inbetween Ludhiana to Mullanpur Dakha on NH - 95 (RHS)	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
821	In between Barnala Chowk to Sardar Hari Singh Nalwa Chowk, Raikot Byepass, on SH 13	Ludhiana	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
822	In between Landran to Chunnikalan (LHS) on SH- 12A	SAS NAGAR	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
823	In between Basantpura to Sirhind, LHS on NH-44	Fatehgarh Sahib	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
824	Daba Road, Ludhiana (WML)	Ludhiana	Regular	150	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
825	Village -Chaklan on Kurali Ropar Road on NH 205	Rupnagar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
826	Sekhewal Road, Near Sardar Nagar, Ludhiana(WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
827	In between Sirhind to Basantpura, LHS on NH- 44	Fatehgarh Sahib	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
828	Guru Arjun Dev Nagar, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
829	In Between Morinda to Ucha Pind Sanghol on NH 95	Fatehgarh Sahib	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
830	In between Doraha to Sahnewal, LHS on NH -44	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
831	In between Khanna to Bija, LHS on NH-44	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

832	Ladhowal on NH 44	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
833	In between Cheema Chowk and Suffian Bhagh Chowk Road, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	4
834	Kalyanpur on NH 205 from Kiratpur to Bilaspur Road RHS	Rupnagar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
835	Khanna WML on NH-44	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
836	Inbetwen Landran to Kharar (LHS) - NH 205A	SAS NAGAR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
837	Phase 7, Focal Point, Ludhiana (WML)	Ludhiana	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
838	CHAMROULI on Kiratpur Sahib to Manali Road on NH 205	Rupnagar	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
839	Zirakpur WML on NH-7	SAS NAGAR	Regular	140	Open	DC	20	20	400	25	45	Draw of Lots	15	5
840	Jeevan Nagar Road, Focal Point , Ludhiana (WML)	Ludhiana	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
841	Inbetween Kharar to Chandigarh university on Kharar Ludhiana road on NH-95	SAS NAGAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
842	Daun, RHS on Mohali Kharar road NH 21	SAS NAGAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
843	Lohgarh, Zirakpur (WML)	SAS NAGAR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
844	Kakowal Road, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

845	Jagraon (WML) on Jagraon Raikot Road	Ludhiana	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
846	Inbetween Banur to Ramnagar LHS on NH-7	SAS NAGAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
847	Inbetween Jagraon to Chaukiman on NH -95 (LHS)	Ludhiana	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
848	Karabara Chowk to Shivpuri Chowk, LHS on NH44, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
849	Inbetween Kohara and Villiage Hiran, RHS on NH- 95	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
850	Village Farour on NH 95, LHS from Khamano to Samrala	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
851	On Old GT Road inbetwen Jagraon bridge to Dholewal Chowk, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
852	Inbetween Ludhiana to Mullanpur Dakha on NH - 95 (LHS)	Ludhiana	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
853	Rajemajra on Ropar- Kurali Road, NH-205	Rupnagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
854	Villiage Karala, RHS on Zirakpur to Banur Road- NH-7	SAS NAGAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
855	BRS Nagar Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
856	From Mullanpur Dakha to Chaukiman,LHS on Ferozpur road, NH-95	Ludhiana	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
857	Ballomajra on NH-21	SAS NAGAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

	1						1			1		1	1	
858	Village Dakha, LHS on Ludhiana to Jagraon, NH 95	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
859	Khanna (WML) on Khanna - Amloh Road	Ludhiana	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
860	ATI Road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
861	Kochhar Market, Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
862	Khanna (WML) on Khanna - Malerkotla Road LHS	Ludhiana	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
863	INBETWEEN LAKHNAUR TO KURALI ON NH-21	SAS NAGAR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
864	On BRS Byepass Road from Pakhowal Road Jn to Ferozpur road Jn, LHS, Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
865	Within 1 km of CMC hosiptal, Ludhiana WML	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
866	Sirhind Bye Pass Road, Within One KM from Chunni Sirhind Road, Sirhind WML	Fatehgarh Sahib	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
867	Malhar Cinema Road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
868	Pakhowal Road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
869	On Dana Mandi Road in between Dugri Road Jn and Gill Road Jn, Ludhiana WML	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
870	In between Bassian to Raikot, On RHS of Jagraon Raikot Road in Raikot WML	Ludhiana	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

871	Dugri Road Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
872	in between Village Maruli Kalan to Morinda on NH- 95	Rupnagar	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
873	In between Kaind to Dehlon, LHS on SH-11	Ludhiana	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
874	Mandigobindgarh WML on Amloh road, SH-12-A	Fatehgarh Sahib	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
875	Link Road in between Bharat Nagar Chowk to Cheema Chowk, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
876	Inbetween Dugri Road Junction and Gill road Junction on Guru Nanak Engineering College Road, Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
877	Khanna (WML) on RHS of Khanna - Malerkotla Road	Ludhiana	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
878	Jagraon WML	Ludhiana	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
879	RK Road from Cheema Chowk to Cancer Hospital Chowk, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
880	On Chimni road from Gill road Jn to Kwality Chowk, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
881	Sherpur (Ludhiana WML), LHS from Sahnewal to Ludhiana	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
882	On Jassian Road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
883	Doraha (OML) within 2 Kms on NH-44	Ludhiana	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

1	I	I	1	I	1	1	1	I .	I	I	I	1 1	I	1 1
884	On Southern Bypass Road Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
885	On Old GT Road in between Dholewal Chowk to Sherpur Chowk, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
886	IN BETWEEN KHARAR- LAKHNAUR (LHS) ON NH 21	SAS NAGAR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
887	Fountain Chowk to Civil lines, Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
888	Rupnagar (WML) Bela Road	Rupnagar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
889	In between Cheema Chowk to Samrala Chowk on Link Road, Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
890	On South City road, towards Ferozpur raod junction, Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
891	Rupnagar (WML) Govt. College Road	Rupnagar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
892	In between Doraha to Bija, LHS on NH-44	Ludhiana	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
893	Dhandari-Lohara Road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
894	Sherpur (Ludhiana WML), LHS from Ludhiana to Sahnewal	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
895	Rupnagar (WML) Govt. Hospital Road	Rupnagar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
896	In between Jassian Chowk to Lal Kothi Chowk, 22 ft Road, Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

897	In between Jamalpur Chowk to Mundian Kalan, RHS, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
898	Tajpur Road, Ludhiana(WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
899	Inbetween Khanna to Mandi Gobindgarh, LHS on NH-44	Ludhiana	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
900	In between Sahnewal to Ludhiana, LHS on NH 44	Ludhiana	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
901	Tibba Road, Ludhiana(WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
902	DMC Road (Haibowal Chowk to Ferozpur road junction), Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
903	Jalandher Bye pass Road, Rupnagar (WML)	Rupnagar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
904	Kailash Nagar, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
905	Inbetween Singhpura to Bhankarpur RHS on NH 152	SAS NAGAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
906	Inbetween Khamano and Pohlo Majra on NH - 95	Fatehgarh Sahib	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
907	Chamkaur Sahib (WML)	Rupnagar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
908	Noorwala Road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
909	Peer Mushalla, Zirakpur (WML)	SAS NAGAR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

910	Morinda (WML)	Rupnagar	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
911	In between Ludhiana railway station to Jalandhar Bypass on old GT road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
912	Village Chehlan, LHS from Samrala on NH-95	Ludhiana	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
913	Anandpur Sahib (WML)	Rupnagar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
914	On Bhullar road, Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
915	On 200 feet road from Pakhowal Road Jn to Dhandran Road Jn, LHS, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
916	On Kakka road, Opposite Central Jail, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
917	Railway road upto Bus Stand, Nangal (WML)	Rupnagar	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
918	Samrala Bypass, inbetween Kharar to Ludhiana, LHS on NH-95	Ludhiana	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
919	Payal (WML)	Ludhiana	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
920	Thapar Nagar in Village Bhaura, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
921	Phase 5, Focal Point, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
922	In between Samrala Chowk to Mundian Kalan, LHS, Ludhiana (WML)	Ludhiana	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4

	1	1	1	1	ı	1	ı				1	1	1	
923	BIKON on NH 205	Rupnagar	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
924	Sirhind (OML) within 2 Kms on NH-1	Fatehgarh Sahib	Regular	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
925	Metro road, Ludhiana WML	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
926	In between Basti Jodhewal Chowk and Karabara Chowk, RHS ON NH 44 (Ludhiana-WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
927	Inbetween Verka Milk Plant to South City , Ayali Road Junction, Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
928	In between LHS of Basti Jodhewal to Samrala Chowk, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
929	Saneta on Banur to Landran road on LHS of NH-205A	SAS NAGAR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
930	In between Metro road Jn to GT Road, Sherpur road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
931	Haibowal Kalan, Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
932	In between Kohara to Neelon, LHS on NH -95	Ludhiana	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
933	Overlocks Road Ludhiana WML	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
934	New Deep nagar, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
935	KHWASPURA on Ropar to Kiratpur Sahib road on NH 205	Rupnagar	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5

936	Hambran road, Ludhiana WML	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
937	Mint Gumri Road Ludhiana WML	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
938	Raikot City (WML)	Ludhiana	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
939	In between Gill Chowk to GNE College, LHS on Gill Road, Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
940	Balongi in Mohali WML	SAS NAGAR	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
941	On 200 feet road from Pakhowal Road Jn to Dhandran Road Jn, RHS, Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
942	On Rahon Road, LHS, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
943	Diwan Todar Mal Flyover Road, Sirhind WML	Fatehgarh Sahib	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
944	Sec 39, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
945	Sarabha Nagar, Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
946	33 Feet Road, Mundian, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
947	Amloh (WML)	Fatehgarh Sahib	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
948	Chhawani Mohalla, Ludhiana (WML)	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

	I	I	1	1	1	1	1	I	ı	l	l	1 1		ı
949	In between Eastman chowk to Kanganwal road	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
950	Doraha WML	Ludhiana	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
951	Field Ganj Road, Ludhiana (WML)	Ludhiana	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
952	Doraha to Deep Nagar on Canal Road, Doraha WML	Ludhiana	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
953	Along Budda Dariya in between Haibowal main road to Clock Tower road in Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
954	Sua Road, Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
955	Bhabat in Zirakpur WML	SAS NAGAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
956	Bhamian Road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
957	Lalheri Road, Khanna WML	Ludhiana	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
958	Moti Nagar, Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
959	Haripur Kurha on NH- 152	SAS NAGAR	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
960	On Mubarakpur Dhakoli Road (Old Ambala Road), Zirakhpur WML	SAS NAGAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
961	Kharar (WML) on NH 95	SAS NAGAR	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5

				1		1	1							
962	Bhankarpur in Derabassi WML	SAS NAGAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
963	Kakowal in Ludhiana WML	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
964	Inbetween intersection on NH-7 to VIP Road	SAS NAGAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
965	Kurali to Morinda Road, Kurali WML	SAS NAGAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
966	Khamano WML	Ludhiana	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
967	Jalandhar Byepass , Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
968	Village Charheri on Kurali to Ropar (LHS) inbetwen Milestone 28 to 30 on NH 205	Rupnagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
969	From Ropar to Kurali (LHS) inbetwen milestone 34 to 31 on NH 205	Rupnagar	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
970	Mullanpur Dhaka WML	Ludhiana	Regular	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
971	In between Basti Jodhewal Chowk and Karabara Chowk, LHS ON NH 44 (Ludhiana-WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
972	In Between Kiratpur Sahib to Anandpur Sahib	Rupnagar	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
973	Jagraon on Nakodar- Jalandhar Road	Ludhiana	Regular	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
974	From Shingar Cinema to Baba Than singh Chowk on CMC road, Ludhiana (WML)	Ludhiana	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4

975	Sahnewal on NH-44	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
976	Shivpuri in Ludhiana(WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
977	Samrala WML	Ludhiana	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
978	In between Bija to Khanna LHS on NH-44	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
979	Sirhind WML	Fatehgarh Sahib	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
980	Brown road Ludhiana WML	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
981	Salem Tabri Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
982	Mangli Uchi ,LHS inbetween milestone 67 to 65 on Ludhiana to Chandigarh road	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
983	In between Bassian to Raikot, on LHS OF Jagraon - Raikot Road, Raikot WML	Ludhiana	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
984	Rajgarh, between Doraha to Khanna on NH-44	Ludhiana	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
985	Karabara Road, Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
986	Sahnewal WML	Ludhiana	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
987	Village Ranimajra, Block- Majri, Tehsil- Kharar	SAS NAGAR	Regular	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5

988	Mall road, Ludhiana city	Ludhiana	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
989	In between Khanna to Kheri Naudh Singh Road, Khanna WML	Ludhiana	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
990	Khanna to Samrala Road, Khanna WML	Ludhiana	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
991	Mandi Gobindgarh WML	Fatehgarh Sahib	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
992	Sangeet Cinema road	Ludhiana	Regular	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
993	On BRS Byepass Road from Pakhowal Road Jn to Ferozpur road Jn, RHS, Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
994	Machiwara (WML)	Ludhiana	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
995	On Sua Road in between Passi Chowk and Jawaddi Chowk, Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
996	Vishawkarma chowk to Gill Chowk, Ludhiana city	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
997	On Barewal road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
998	In between Dhandari Kalan to Sahnewal, LHS on NH-44	Ludhiana	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
999	Inbetween Mandigobindgarh to Sirhind,LHS, on NH 44	Fatehgarh Sahib	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
1000	On Ghumar Mandi Road in between Fountain chowk & Aarti Chowk in Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5

1001	Nangal (WML), Bus stand to main market road	Rupnagar	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1002	Pritam Puri, Near Bajwa Nagar, Ludhiana WML	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1003	Haibatpur, Haibatpur- Saidpura Road, Dera Bassi WML	SAS NAGAR	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1004	Village Gehlewal on Kailashnagar road, Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1005	Model Town Extension Road Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1006	Kidwai Nagar Ludhiana WML	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1007	Inbetween Sirhind to Mandigobindgarh, LHS on NH 44	Fatehgarh Sahib	Regular	150	SC	CFS	35	45	2025	0	0	Draw of Lots	0	3
1008	On LHS of Derabassi Barwala road in Derabassi WML	SAS NAGAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1009	From Haibowal Chowk towards Hamrban on Hambran Road, Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1010	Lohara, Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1011	Ghora Road , Industrial Area A	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1012	On Basant Road Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1013	Bharat Nagar Chowk to Fountain Chowk, Ludhiana (WML)	Ludhiana	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5

1014	Bhulepur (Between Khanna to Mandi gobindgarh) on NH-44	Ludhiana	Regular	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1015	Bhai Bala Chowk to Verka Bridge , Ludhiana WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1016	In between Janta Nagar Chowk to Bhagwan Chowk Ludhiana (WML)	Ludhiana	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1017	In between Ludhiana and Kohara on RHS of NH-95	Ludhiana	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1018	Habowal chowk to old Kutchery chowk , Ludhiana City	Ludhiana	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1019	Model Town Ludhiana (WML)	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1020	Khanna WML	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1021	Model Gram Ludhiana WML	Ludhiana	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1022	In between Basti Jodhewal to Samrala Chowk , RHS, Ludhiana(WML)	Ludhiana	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
1023	Jagraon OML on Jagraon raikot road	Ludhiana	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1024	Village - Man Kheri, Block- Morinda, Tehsil- Morinda	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1025	Village - Oind, Block- Morinda, Tehsil- Morinda	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1026	Village - Paprali, Block- Morinda, Tehsil- Morinda	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2

1027	Village -Sotal, Block- Morinda, Tehsil- Morinda	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1028	Village Swara , Block- Anandpur Sahib, , Tehsil- Nurpurbedi	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1029	Village - Dulchi Majra, Block- Ropar, Tehsil- Ropar	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1030	Village - Kakrali, Block- Ropar, Tehsil- Ropar	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1031	Village Khabra, Block- Morinda, Tehsil-Morinda	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1032	Village Dhangrali, Block- Morinda, Tehsil-Morinda	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1033	Village Charh, Block- Ludhiana 2, Tehsil- Ludhiana West	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1034	village Tharike, Block- Ludhiana 1, Tehsil- Ludhiana West	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1035	Village Gaunsgarh, Block- Macchiwara, Tehsil- Samrala	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1036	Village Mangarh, Block- Ludhiana 2, Tehsil- Ludhiana East	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1037	Village Fatehgarh Jattan, Block-Ludhiana 2, Tehsil- Ludhiana East	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1038	village Jainpur , Block- Ludhiana 2, Tehsil- Ludhiana West	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1039	Village KADDON, Block- DORAHA,, Tehsil-PAYAL	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

1040	Village Palasi,, Block- Anandpur Sahib, , Tehsil- Nangal	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1041	Village Tussa, Block- Sudhar, , Tehsil-Raikot	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1042	Village - Nanowal, Block- Khamanon, Tehsil- Khamanon	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1043	Village - Pipal Majra, Block- Chamkaur Sahib , Tehsil- Chamkaur Sahib	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1044	Vill.Bhaini Gujjran,, Block- Sidhwanbet , Tehsil- Sidhwanbet	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1045	Village - Buraj, Block- Anandpur Sahib, Tehsil- Anandpur Sahib	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1046	Village - Saheri, Block- Morinda, Tehsil- Morinda	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1047	Village Bassian bet, Block- Sidhwan Bet, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1048	Village Gahaur, Block- Ludhiana - I, Tehsil- Ludhiana West	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1049	Village Lohar Majra Kalan, Block-Amloh, Tehsil- Amloh	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1050	Village - Ajner, Block- Khamanon, Tehsil- Khamanon	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1051	Village Chatamli, Block- Morinda, Tehsil-Morinda	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1052	Village Manakwal , Block- Ludhiana 1, Tehsil- Ludhiana West	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

1053	Village - Kale Majra, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1054	Village - Baur, Block- Khamanon, Tehsil- Khamanon	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1055	Village Churpur,, Block- Ludhiana, , Tehsil- Ludhiana West	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1056	Village - Bhoje Majra, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1057	Village - Amrala, Block- Khamanon, Tehsil- Khamanon	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1058	Village Kotla Bajwara , Block- Fatehgarh Sahib, Tehsil-Fategarh Sahib	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1059	Village Sarabha, Block- Pakhowal, , Tehsil- Ludhiana West	Ludhiana	Rural	46	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1060	Village - Hawara, Block- Khamanon, Tehsil- Khamanon	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1061	Village Bhamarsi, Block- Sirhind, Tehsil-Fatehgarh Sahib	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1062	Village - Lakhewal, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1063	Village Bhagwasi, Block- Derabassi, Tehsil- Derabassi	SAS NAGAR	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1064	Village Sanipur, Block- Sirhind, Tehsil-Fatehgarh Sahib	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1065	Village Ismailpur, Block- Khanna, Tehsil-Khanna	Ludhiana	Rural	46	Open CC 2	DC	30	35	1050	12	30	Draw of Lots	5	4

1066	Village - Mohiwal, Block- Anandpur Sahib, Tehsil- Anandpur Sahib	Rupnagar	Rural	46	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
1067	Village - Farour, Block- Khamanon, Tehsil- Khamanon	Fatehgarh Sahib	Rural	46	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
1068	Village Majri on Bhadla - Kheri Nud Singh Road, Block- Ludhiana 2, Tehsil- Ludhiana West	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1069	Village Rampur - Ludhiana Bypass Road, Block-Doraha, Tehsil- Doraha	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1070	Village Tejala, Block- Derabassi, Tehsil- Derabassi	SAS NAGAR	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1071	Village - Ramgarh, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1072	Village Jassowal, Block- Pakhowal, Tehsil- Ludhiana East	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1073	Village - Dehar , Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1074	Village Naularhi, Block- Samrala, Tehsil-Samrala	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1075	Village - Khant, Block- Khamanon, Tehsil- Khamanon	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1076	Village Gureh, Block- Sidwanbet, Tehsil- Jagraon	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1077	Villiage Pohlo Majra, Block-Khamano, Tehsil- Khamano	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1078	Haripur Hinduan, Dera Bassi- Barwala Road, Block-Dera Bassi, Tehsil- Bassi	SAS NAGAR	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

1079	Village - Hafizabad, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1080	Village Boparai, Block- Sudhar, Tehsil- Jagraon	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1081	Village Payal on payal gudani link road, Block- Payal, Tehsil-Payal	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1082	Village Nasrali, Block- Khanna, Tehsil-Khanna	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1083	Village Dhandran, Block- Ludhiana West, Tehsil- Ludhiana	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1084	Village Alluna Miana, Block-Khanna, Tehsil- Payal	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1085	Village Gorsian Qadar Bakash, , Block- Sidhwanbet, , Tehsil- Jagraon	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1086	Village Talwandi Rai,, Block-Raikot, , Tehsil- Raikot	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1087	Village Shankar, , Block- Dehlon, , Tehsil-Ludhiana East	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1088	Village Bilaspur, Block- DORAHA,, Tehsil- DORAHA	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1089	Village Baddowal, Block- Ludhiana - I, Tehsil- Ludhiana West	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1090	Village Dhurkot, Block- Pakhowal, Tehsil-Raikot	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1091	Village Khawjke, Block- Ludhiana 2, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

1092	Village Saidpur, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	ОВС РН	DC	30	35	1050	12	30	Draw of Lots	5	3
1093	Village - Bassi Gujjran, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	SC PH	CFS	30	35	1050	0	0	Draw of Lots	0	2
1094	Village Bhamian Kalan on Tajpur Road, Block- Ludhiana 2, Tehsil- Ludhiana East	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1095	Village Buddhewal, Block- Ludhiana II, Tehsil- Ludhiana East	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1096	Village Galib Kalan, Block- Jagraon, Tehsil- Jagraon	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1097	Village Basaimi , Block- Sidwanbet, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1098	Village Bhutta on Sarinh to Rara Sahib Road, Block-Dehlon, , Tehsil- DEHLON	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1099	Village Dolon Kalan, Block-Pakhowal, , Tehsil- LUDHIANA WEST	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1100	Village Sidhwan Kalan, Block- Jagraon, Tehsil- Jagraon	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1101	Village Ayali Kalan, Block- Ludhiana - I, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1102	Village Husainpura, Block- Sirhind, Tehsil-Fatehgarh Sahib	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1103	Village Sidhwan Khurd, Block-Jagraon, Tehsil- Jagraon	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1104	Village -Sandhuan, Block- Chamkaur Sahib , Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

1105	Village RASULPUR, Block- Bassi Pathana, Tehsil- Bassi Pathana	Fatehgarh Sahib	Rural	46	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1106	Village Bhukhri Kalan, Block-Mangat, Tehsil- Ludhiana East	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1107	Village Bhourla, , Block- Samrala, , Tehsil-Samrala	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1108	Village Dhaipai, Block- Pakhowal, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1109	Village Nanakpur Jagera , Block-Dehlon,Tehsil- Malaudh	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1110	Village Jawaharpur, Block-Derabassi, Tehsil- Derabassi	SAS NAGAR	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1111	Village - Sarhana, Block- Morinda, Tehsil- Morinda	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1112	Village Lapran, on Sarinh to Rara Sahib Road, Block-Doraha, Tehsil- Payal	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1113	Village Khedi Somal on Malaudh Payal Link Road, Block-Malaudh, Tehsil- Payal	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1114	Village Lalton Khurd , Block-Ludhiana West, Tehsil-Ludhiana	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1115	Village - Manupur, Block- Khamanon, Tehsil- Khamanon	Fatehgarh Sahib	Rural	46	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
1116	Village Mansua, Blcok- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
1117	Village Dad on Pakhowal Road	Ludhiana	Rural	100	Open PH	DC	20	20	400	12	30	Draw of Lots	5	4

	I	I	I	I	1	I	I	ı	I		l	I	I	1 1
1118	Village Balion, Block- Macchiwara, Tehsil- Samrala	Ludhiana	Rural	46	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1119	Village- Rajgarh(Machiwara to Kohra Road), Block- Machhiwra, Tehsil- Samrala	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1120	Village Shamaspur on Samrala Bisa road, Block- Samrala, Tehsil-Samrala	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1121	Village Rania, Block- Ludhiana, Tehsil-Ludhiana I	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1122	Village Madnipur on Malaudh Payal Link Road, Block-Doraha, Tehsil- Payal	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1123	Village Khanjarwal, Block- Sidhwan Bet, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1124	Village Roomi, Block- Jagraon, Tehsil-Jagraon	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1125	Village - Kanjla, Block- Morinda, Tehsil- Morinda	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1126	Village Maksudra on Payal Maksudra Road, Block-Doraha, Tehsil- PAYAL	Ludhiana	Rural	46	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1127	Village Sehh on Khanna Khamano road, Block- Samrala, Tehsil-Samrala	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1128	Village Balahri Kalan , Block- Fatehgarh Sahib, Tehsil-Fategarh Sahib	Fatehgarh Sahib	Rural	46	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1129	Village Mullanpur Kalan, Block-Sirhind, Tehsil- Fatehgarh Sahib	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1130	Village Doomcheri, Block- Morinda, Tehsil-Morinda	Rupnagar	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

1131	Vill. Mattewara,Ludhiana East, Block-Ludhiana II, Tehsil-Ludhiana East	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1132	Village Binjal on Jagraon Raikot road, Block-Raikot, Tehsil-Raikot	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1133	Village Sarnana, Block- Morinda, Tehsil-Morinda	Rupnagar	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1134	Village Pamali, Block- Ludhiana West, Tehsil- Ludhiana	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1135	Village Chari on Khamano Khanna Road , Block- Khamano, Tehsil- Khamano	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1136	Village - Kangar, Block- Anandpur Sahib, Tehsil- Anandpur Sahib	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1137	Village Hyatpur Bare, Block- Nurpur Bedi, Tehsil- Nurpur Bedi	Rupnagar	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1138	Village Iraq, Block- Machhiwra, Tehsil- Samrala	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1139	Village - Makrauna Kalan, Block- Chamkaur Sahib , Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1140	Vill Dhanansu, Block- Ludhiana II, Tehsil- Ludhiana East	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1141	Village Tibba Nangal, Block- Nangal, Tehsil- Nangal	Rupnagar	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1142	Village Basoli, , Block- Dera Bassi,i, Tehsil- Dera Bass	SAS NAGAR	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1143	Village - Chutamali, Block- Morinda, Tehsil- Morinda	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

1144	Village Bungasahib, Block- Anandpur Sahib, Tehsil- Anandpur Sahib	Rupnagar	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1145	Village- Lutheri on Morinda to Chamkaur Sahib Road, Block- Chamkaur Sahib, Tehsil-Chamkaur Sahib	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1146	Village Badinpur, Block- Amloh, Tehsil-Amloh	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1147	Village - Maujowal, Block- Ropar, Tehsil- Ropar	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1148	Village Purkhali, Block- Morinda, Tehsil-Morinda	Rupnagar	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1149	Village Bhamaddi, Block- Khanna, Tehsil-Khanna	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1150	Village Bhari, Block- Samrala, Tehsil-Samrala	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1151	Vill.Machhlikalan, Block- Kharar, Tehsil- Kharar	SAS NAGAR	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1152	Village Challya Kalan, Block- Rupnagar, Tehsil- Rupnagar	Rupnagar	Rural	46	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1153	Village Goslan, Block- Samrala, Tehsil-Samrala	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1154	Village Chaunta Kalan on Ropar to Bela Road, Block- Ropar, Tehsil- Ropar	Rupnagar	Rural	46	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1155	Village Fatehpur Bunga, Block- Anandpur Sahib, Tehsil-Anandpur Sahib	Rupnagar	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1156	Village Dheri, Block- Amloh, Tehsil-Amloh	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2

1157	Village Machraikalan, Block- Amloh, Tehsil- Amloh	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1158	Village Bijanpur, Block- Derabassi, Tehsil- Derabassi	SAS NAGAR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1159	Village Garhbagh, Block- Ropar, Tehsil- Ropar	Rupnagar	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1160	Village Hassanpur, Block- Derabassi, Tehsil- Derabassi	SAS NAGAR	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1161	Village Tasimbli, Block- Derabassi, Tehsil- Derabassi	SAS NAGAR	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1162	Village Birmi, Block- Ludhiana 2, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1163	Anandpur Sahib to Kiratpur Sahib outside municipal limits	Rupnagar	Rural	100	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1164	On Airport road from Kharar to Sohana LHS	SAS NAGAR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1165	Village - Sampli, Block- Kharar, Tehsil- Kharar	Fatehgarh Sahib	Rural	46	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
1166	Village Chandpur, Block- Majri, Tehsil- Majri	SAS NAGAR	Rural	46	Open CC 2	DC	30	35	1050	12	30	Draw of Lots	5	4
1167	Village - Dulwan, Block- Khamanon, Tehsil- Khamanon	Fatehgarh Sahib	Rural	46	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
1168	Village Dhalian on Pakhowal Raikot Road, Block-Pakhowal, , Tehsil- Raikot	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1169	Village Mukandpur, Block-Derabassi, Tehsil- Derabassi	SAS NAGAR	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2

1170	Village- Rurki on Morinda to Chamkaur Sahib Road, Block- Chamkaur Sahib, Tehsil-Chamkaur Sahib	Rupnagar	Rural	46	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1171	Village - Lohgarh Phidde, Block- Ropar, Tehsil- Ropar	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1172	Village - Malikpur, Block- Ropar, Tehsil- Ropar	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1173	Village Salapur on Ropar to Morinda road, Block- Ropar, Tehsil- Ropar	Rupnagar	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1174	Village Badouchhi Kalan, Block-Sirhind, Tehsil- Fatehgarh Sahib	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1175	Village Chararian, Block- Rupnagar, Tehsil- Rupnagar	Rupnagar	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1176	Village Ambrala, Block- Derabassi, Tehsil- Derabassi	SAS NAGAR	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1177	In Between Morinda to Dhanouri, Block- Morinda, Tehsil- Morinda	Rupnagar	Rural	100	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1178	Village Kanech, Block- Ludhiana I, Tehsil- Ludhiana East	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1179	Village Harbanspura, Block-Sirhind, Tehsil- Sirhind	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1180	Village Bhattian, Block- Ludhiana 2, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1181	From Ludhiana to Hambran on Hambran Road (OML), LHS	Ludhiana	Rural	100	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1182	Village Lehli, Block- Derabassi, Tehsil- Derabassi	SAS NAGAR	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2

	•													
1183	Village Salana, Block- Amloh, Tehsil-Amloh	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1184	Village Rattan, Block- Pakhowal, , Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1185	On Khanna-Samrala Road LHS outside limits of Khanna & Samrala	Ludhiana	Rural	100	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1186	Village Jangpur	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1187	Village - Mahdooda, Block- Khamanon, Tehsil- Khamanon	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1188	Village Tarkhan Majra, Block-Sirhind, Tehsil- Fatehgarh Sahib	Fatehgarh Sahib	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1189	Balahri Kalan , Block- Fatehgarh Sahib, Tehsil-Fategarh Sahib	Fatehgarh Sahib	Rural	100	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1190	Village Lalheri, Block- Khanna, Tehsil- Khanna	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1191	Village Jalanpur, Block- Amloh, Tehsil-Amloh	Fatehgarh Sahib	Rural	46	SC PH	CFS	30	35	1050	0	0	Draw of Lots	0	2
1192	Village - Nurpur Kalan, Block- Noorpur Bedi, Tehsil- Noorpur Bedi	Rupnagar	Rural	46	ОВС РН	DC	30	35	1050	12	30	Draw of Lots	5	3
1193	On Airport road (Zirakpur Byepass) inbetween intersection of NH-152 to NH-7 (RHS)	SAS NAGAR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1194	Village Rampur on Doraha Chandigarh Road RHS within 3 km from NH 44 crossing	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1195	Village Khandoor	Ludhiana	Rural	100	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

1196	Village - Chintgarh, Block- Ropar, Tehsil- Ropar	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1197	Village Bagga Kalan	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1198	Khamano OML on Khamano Chamkaur Sahib Road	Fatehgarh Sahib	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1199	On Neelon-Ropar Canal Road, RHS	Ludhiana	Rural	100	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1200	Village Talwara, Block- Sirhind, Tehsil-Amloh	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1201	Khanna to Issru road, Khanna OML	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1202	Hiyatpr (Nurpur Bedi) on Nurpurbedi - Garshankar Road	Rupnagar	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1203	In Between Dhanouri to Ropar, Block- Morinda, Tehsil-Morinda	Rupnagar	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1204	Village Neelon, along Neelon Canal road	Ludhiana	Rural	100	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1205	Village Rurka , Block- Sudhar, Tehsil-Sudhar	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1206	In between Noorpur Bedi to Bunga Sahib, Block- Noorpur Bedi, Tehsil-Anandpur Sahib	Rupnagar	Rural	100	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1207	From Sidhwanbet to Khurshedpur on Jalandhar Road	Ludhiana	Rural	100	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1208	In Between Bassi Pathana to Ucha Pind Sanghol, Block- Bassi Pathana, Tehsil- Bassi Pathana	Fatehgarh Sahib	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

	ı	1		1		1		ı			ı	1	1	
1209	Village Jallha, Block- Sirhind, Tehsil-Fatehgarh Sahib	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1210	Inbetwen Ayali Khurd Chowk to Mallakpur on Hambran Road (LHS) in Ludhiana OML	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1211	On Ramgarhia road from 200 ft. road junction to Kwality Chowk, Ludhiana (OML)	Ludhiana	Rural	100	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1212	Village Machhian Kalan, Ludhiana East	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1213	Along Sidhwan Canal between (Ayali-South city main road junction) and Jhamat Bridge	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1214	Village - Ferozpur, Block- Bassi Pathana, Tehsil-Bassi Pathana	Fatehgarh Sahib	Rural	46	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
1215	Village Koom Kalan,Ludhiana, Block- Ludhiana II, Tehsil- Ludhiana East	Ludhiana	Rural	46	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
1216	Village Bhadla on Bhadla - Kheri Nud Singh Road	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1217	Village - Nabipur, Block- Sirhind, Tehsil-Fatehgarh Sahib	Fatehgarh Sahib	Rural	46	Open PH	DC	30	35	1050	12	30	Draw of Lots	5	4
1218	Badali Ala Singh , Block- Bassi Pathana, Tehsil- Bassi Pathana	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1219	Village Nangal Khurd, Block-Pakhowal, Tehsil- Raikot	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1220	In between Lehli to Banur Tepla Road	SAS NAGAR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1221	Village Paddi on Dehlon Sahnewal Road, Block- Dehlon, Tehsil-Ludhiana East	Ludhiana	Rural	46	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3

1	l	I	1	I	l I	ĺ	I	I	I	I	I	1	I	1 1
1222	Village Bhairo Munna, Block - Ludhiana 2, Tehsil- Ludhiana East	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1223	Village Kheri on Mubarkpur to Sundraon Road, LHS	SAS NAGAR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1224	Agwar Ladhai, LHS on jagraon to Raikot, Raikot road, Jagraon (OML)	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1225	From Ludhiana to Hambran on Hambran Road (OML), RHS	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1226	Village Ratangarh, Block- Ludhiana 2, Tehsil- Ludhiana East	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1227	Village Jatana, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1228	Village Sangowal, on Southern Bypass road (Canal Road)	Ludhiana	Rural	100	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1229	In Between Noopur Bedi to Ghahi Majra, Block- Noorpur Bedi, Tehsil-Anandpur Sahib	Rupnagar	Rural	100	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1230	Village Bharthala, Block- Macchiwara, Tehsil- Samrala	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1231	Village Bela, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1232	Dhandran Road	Ludhiana	Rural	100	Open	DC	20	20	400	12	30	Draw of Lots	5	4
1233	Village Sarwarpur, Block- Samrala, Tehsil-Samrala	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1234	In between Ropar to Chamkaur Sahib Canal Road, Block- Ropar , Tehsil-Ropar	Rupnagar	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

1235	Village Jharaudi, LHS on Machhiwara to Rahon Road	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1236	Village Dhaulran, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1237	Village Chaunta, Block- Ludhiana 2, Tehsil- Ludhiana East	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1238	Village Saundha on Sirhind - Bhadson Road	Fatehgarh Sahib	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1239	Village Meharban, LHS on Rahon road, Ludhiana	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1240	Village Bhakumajra, Block- Rupnagar, Tehsil- Rupnagar	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1241	Village Kot Gangu Rai, Block-Ludhiana 2, Tehsil- Ludhiana East	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1242	Village Qutbewal Gujjran on Hamran Ladhowal road	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1243	Village Togan on Majri road	SAS NAGAR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1244	Village Lobangarh, Block- Majri, Tehsil-Majri	SAS NAGAR	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1245	Village Rurkikalan, Block- Chamkaur Sahib, Tehsil- Chamkaur Sahib	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1246	On Airport road (Zirakpur Byepass) in between intersection of NH-152 to NH-7 (LHS)	SAS NAGAR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1247	Airport Chowk to Banur LHS	SAS NAGAR	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

1248	LHS on Majri to Kurali road	SAS NAGAR	Rural	100	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1249	On Khanna Malerkotla road in between village Isru & village Jarag	Ludhiana	Rural	100	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1250	Village Kalalmajra, on Khanna Samrala Road, Tehsil-Samrala	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1251	Doraha to Deep Nagar on Canal Road, Doraha (OML)	Ludhiana	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1252	On Airport road from IISER to Intersection of NH 7	SAS NAGAR	Rural	100	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1253	Village Abbuwal, Block- Sudhar, Tehsil-Sudhar	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1254	On Pakhowal Halwara Road, Block-Pakhowal, Tehsil-Raikot	Ludhiana	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1255	Village Mukaropur	Fatehgarh Sahib	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1256	Village Noorpur Bet, Block - Ludhiana 2, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1257	Village Issewal, Block- Ludhiana 2, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1258	Vill.Bhagrana,, Block- Khera, , Tehsil- Bassi Pathana	Fatehgarh Sahib	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1259	Village Jeoli, Block- Derabassi, Tehsil- Derabassi	SAS NAGAR	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1260	Jalandher Bye pass Road,(OML) Rupnagar	Rupnagar	Rural	100	Open	DC	30	35	1050	12	30	Draw of Lots	5	4

1261	Village Bahadarke, Block- Ludhiana 2, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1262	Village Patreri Jatan, Block- Rupnagar, Tehsil- Rupnagar	Rupnagar	Rural	46	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1263	Village Bagga khurd, Block- Ludhiana 2, Tehsil- Ludhiana West	Ludhiana	Rural	46	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1264	Village Malakpur, Block- Ludhiana 2, Tehsil- Ludhiana West	Ludhiana	Rural	46	Open	DC	30	35	1050	12	30	Draw of Lots	5	4
1265	Village Aligarh, Block- Jagraon, Tehsil-Jagraon	Ludhiana	Rural	46	Open CC 2	DC	30	35	1050	12	30	Draw of Lots	5	4
1266	Village Mamoli	SAS NAGAR	Rural	46	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
1267	Village Khanpur on Guru Govind Singh Marg, Block-Dehlon, Tehsil- Dehlon	Ludhiana	Rural	46	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
1268	ADAMPUR ON JALANDHAR- HOSHIARPUR ROAD (EITHER SIDE)	JALANDHAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1269	FROM RAMA MANDI CHOWK TOWARDS JANDU SINGHA -RHS (RHS WHILE GOING FROM JALANDHAR TO HOSHIARPUR) WML JALANDHAR CITY	JALANDHAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1270	WITHIN 7 KMS FROM SHAHEED BANTA SINGH SANGHWAL CHOWK TOWARDS BHOGPUR ON JALANDHAR PATHANKOT ROAD RHS (OML JALANDHAR CITY)	JALANDHAR	REGULAR	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1271	HAMIRA TO DIALPUR ON OLD NH1 (NEW NH3) LHS	KAPURTHALA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

1272	KARAH TO GIDDERPINDI TOLL PLAZA ON EITHER SIDE OF NH703A	JALANDHAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1273	JALANDHAR CITY BETWEEN WADALA CHOWK TO CHEEMA CHOWK (WML)	JALANDHAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1274	SHAHKOT (WML) ON OLD NH-71	JALANDHAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1275	JALANDHAR CITY BETWEEN 120FT ROAD TO BASTI DANISH AMANDA	JALANDHAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1276	JHAN KHELLAN ON HOSHIARPUR-UNA ROAD NH503	HOSHIARPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1277	BETWEEN GARSHANKAR TO SAILAKHURD-OML (ON NH103A)	HOSHIARPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1278	BHANGALA TO MUKERIAN RHS ON NH 44 (OLD NH1A)	HOSHIARPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1279	VILLAGE DHOOTKALAN ON SH24 (HOSHIARPUR - DASUYA ROAD)	HOSHIARPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1280	BHOOTA ON NH344A	SHAHID BHAGAT SINGH NAGAR	REGULAR	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
1281	NAWASHAHAR (WML)ON RAHON ROAD	SHAHID BHAGAT SINGH NAGAR	REGULAR	116	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1282	TALWARA WML	HOSHIARPUR	REGULAR	110	OPEN PH	DC	20	20	400	25	45	Draw of Lots	15	5
1283	HOSHIARPUR CITY (PRABHAT CHOWK TOWARDS NALOIYAN CHOWK WML ON NH-70 LHS)	HOSHIARPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1284	HOSHIARPUR WML GOVT COLLEGE CHOWK TO SESSION CHOWK	HOSHIARPUR	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

1285	FROM VILL CHAGRAN TO SWARN FARM MARRIAGE PALACE - ON RHS	HOSHIARPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1286	FROM MAHILPUR TO SAILA KHURD ROAD, RHS (OML) NH103A	HOSHIARPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1287	FROM TOLL PLAZA NANGAL SHAHEEDAN TO CHABBEWAL - ON RHS	HOSHIARPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1288	HOSHIARPUR WML (SHIMLA PAHARI CHOWK TO RADHASWAMI SATSANG BHAWAN BAJWADA)	HOSHIARPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1289	HOSHIARPUR BY PASS FROM PHAGWARA BYE PASS CHOWK TO JALANDHAR BY PASS CHOWK RHS	HOSHIARPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1290	HOSHIARPUR CITY WML, BETWEEN BAHADURPUR TO SECRETARIAT	HOSHIARPUR	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1291	HOSHIARPUR CITY, JALANDHAR BYE PASS TO PRABHAT CHOWK	HOSHIARPUR	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1292	GARH SHANKAR WML	HOSHIARPUR	REGULAR	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1293	MILE STONE 67 TO 70 (LHS) ON GARHSHANKAR TO HOSHAIRPUR NH103A	HOSHIARPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1294	MAHILPUR CITY (MAHILPUR - KOTFATUHI ROAD, WITHIN MUNICIPAL LIMIT OF MAHILPUR)	HOSHIARPUR	REGULAR	102	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1295	HOSHIARPUR CITY, RAHIMPUR TO DAV COLLEGE HOSHIARPUR	HOSHIARPUR	REGULAR	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1296	BETWEEN JAITPUR & MAHILPUR(ON HOSHIARPUR TO MAHILPUR ROAD LHS)	HOSHIARPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

	ı	1			ı	ı	ı	ı		1	ı	ı	I	1
1297	DOSARKA TO LACHOWAL (LHS) ON NH-503A	HOSHIARPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1298	HOSHIARPUR CITY, PURHEERAN TO GOVERNMENT COLLEGE CHOWK	HOSHIARPUR	REGULAR	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1299	FROM HAMBRAN TO BAINCH BAJA	HOSHIARPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1300	HOSHIARPUR CITY (WML) WITHIN 2.0 Km RADIUS OF BHANGI PUL	HOSHIARPUR	REGULAR	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1301	MUKERIAN TO DASUYA RHS ON NH 44 (OLD NH1A)	HOSHIARPUR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1302	MILE STONE 67 TO 70 (RHS) ON GARHSHANKAR TO HOSHAIRPUR NH103A	HOSHIARPUR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1303	1.5 KM EITHER SIDE OF KM STONE NO. 31 ON SH 24, HOSHIARPUR TO DASUYA	HOSHIARPUR	REGULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1304	TANDA TO CHOLLANG TOLL PLAZA RHS ON NH 44	HOSHIARPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1305	BETWEEN JANDHUSINGHA TO ADAMPUR ON JALANDHAR HOSHIARPUR ROAD LHS (LHS WHILE GOING FROM JALANDHAR TO HOSHIARPUR)	JALANDHAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1306	HARIANA WML	HOSHIARPUR	REGULAR	110	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
1307	TANDA WML ON DARAPUR - KHAKHAN ROAD (OLD GT ROAD)	HOSHIARPUR	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1308	VILL. NAUSHERA PATTAN ON SH 25	HOSHIARPUR	REGULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

1309	MUKERIAN WML OTHER THAN HIGHWAY	HOSHIARPUR	REGULAR	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1310	JALANDHAR CANTT (WML)	JALANDHAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1311	VILL DAGGAN (BLOCK HAJIPUR), ON SH-25 MUKERIAN TO HAJIPUR ROAD	HOSHIARPUR	REGULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1312	VILL NAMOLI(BLOCK TALWARA), ON SH-25 HAJIPUR TO TALWARA ROAD	HOSHIARPUR	REGULAR	125	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
1313	NALOYIAN CHOWK TO CHOHAL (ON OLD NH 70)	HOSHIARPUR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1314	JALANDHAR CITY (WML) ON DHOGRI ROAD WITHIN 3 KMS. FROM OLD NH-1A INTERSECTION	JALANDHAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1315	DASUYA-MIANI ROAD WITHIN MUNICIPAL LIMITS OF DASUYA	HOSHIARPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1316	DASUYA-HAJIPUR ROAD WITHIN MUNICIPAL LIMITS OF DASUYA	HOSHIARPUR	REGULAR	110	OPEN	DC	20	20	900	25	45	Draw of Lots	15	5
1317	KATHAR ON JALANDHAR- HOSHIARPUR ROAD LHS (LHS WHILE GOING FROM JALANDHAR TO HOSHIARPUR)	JALANDHAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1318	BHANGALA TO DASUYA LHS ON NH 44 (OLD NH1A)	HOSHIARPUR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1319	DOABA CHOWK TO SODAL CHOWK EITHER SIDE JALANDHAR CITY WML	JALANDHAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1320	BETWEEN LAMBAPIND CHOWK AND KISHANPURA CHOWK, JALANDHAR CITY WML	JALANDHAR	REGULAR	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4

1321	PHAGWARA WML ON OLD NH-1 (RHS FROM WHILE GOING FROM JALANDHAR TO LUDHIANA)	KAPURTHALA	REGULAR	150	Open CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
1322	PHAGWARA WML ON OLD NH-1 (LHS FROM WHILE GOING FROM JALANDHAR TO LUDHIANA)	KAPURTHALA	REGULAR	155	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
1323	DIALPUR TO HAMIRA (LHS) ON OLD NH 1 (NEW NH3)	KAPURTHALA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1324	BETWEEN GORAYA TO PHILLAUR ON OLD NH 1(RHS)(RHS WHILE GOING FROM JALANDHAR TO LUDHIANA)	JALANDHAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1325	JALANDHAR CITY (WML) BETWEEN DOABA CHOWK TO DAMORIA PULL VIA KISHANPURA CHOWK	JALANDHAR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1326	BETWEEN JANDHUSINGHA TO ADAMPUR ON JALANDHAR HOSHIARPUR ROAD RHS (RHS WHILE GOING FROM JALANDHAR TO HOSHIARPUR)	JALANDHAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1327	SUBHANPUR TO DHILWAN TOLL PLAZA ON NH 3 (OLD NH1) RHS	KAPURTHALA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1328	JALANDHAR CITY (WML) ON JALANDHAR- PATHANKOT ROAD LHS (LHS WHILE GOING FROM JALANDHAR TO PATHANKOT)	JALANDHAR	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1329	WITHIN 7 KMS FROM SHAHEED BANTA SINGH SANGHWAL CHOWK TOWARDS BHOGPUR ON JALANDHAR PATHANKOT ROAD LHS (OML JALANDHAR CITY)	JALANDHAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

1330	BETWEEN JAITPUR & MAHILPUR(ON HOSHIARPUR MAHILPUR ROAD RHS)	HOSHIARPUR	REGULAR	150	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
1331	HOSHIARPUR CITY (PRABHAT CHOWK TO NALOIYAN CHOWK WML ON NH-70 RHS)	HOSHIARPUR	REGULAR	110	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
1332	BETWEEN KHAJURLA TO PHAGWARA ON OLD NH 1(RHS) (RHS WHILE GOING FROM JALANDHAR TO LUDHIANA)	KAPURTHALA	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1333	VILLAGE CHOLANG ON JALANDHAR TO PATHANKOT ROAD RHS (RHS WHILE GOING FROM JALANDHAR TO PATHANKOT)	JALANDHAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1334	JALANDHAR CITY (WML) BETWEEN LAMBAPIND CHOWK TO CHUGITTI CHOWK ON LHS ON JALANDHAR - AMRITSAR ROAD (LHS WHILE GOING FROM LAMBA PIND CHOWK TOWARDS CHUGITTI CHOWK)	JALANDHAR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1335	BETWEEN RAMA MANDI CHOWK TO JALANDHAR CANTT BYPASS ROAD INTERSECTION ON OLD NH-1 (RHS) (RHS WHILE GOING FROM JALANDHAR TO LUDHIANA)	JALANDHAR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1336	KM STONE 26 TO 30 ON NH703A ON EITHER SIDE	KAPURTHALA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1337	JALANDHAR CITY (WML),DOABA CHOWK TO SHAHEED BANTA SINGH SANGHWAL CHOWK LHS (OPPOSITE TO KMV)	JALANDHAR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1338	JALANDHAR CITY (WML) BETWEEN LAMBA PIND CHOWK TO JANDU	JALANDHAR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5

	SINGHA ON OLD HOSHIARPUR ROAD													
1339	JALANDHAR CITY (WML) INDUSTRIAL AREA (OTHER THAN NH)	JALANDHAR	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1340	FROM LAMBA PIND CHOWK TOWARDS AMRITSAR ON JALANDHAR AMRITSAR ROAD-NH, LHS (WITHIN MUNICIPAL LIMITS OF JALANDHAR CITY)	JALANDHAR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1341	KM STONE 30 TO 34 ON NH703A ON EITHER SIDE	KAPURTHALA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1342	JALANDHAR CITY (WML) BETWEEN CHUGITTI CHOWK AND NANGAL SHAMA CHOWK (VIA LADHEWALI CHOWK)	JALANDHAR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1343	KM STONE 12 TO 14 ON NH703A RHS	KAPURTHALA	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1344	KM STONE 12 TO 14 ON NH703A LHS	KAPURTHALA	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1345	GULABDEVI ROAD, JALANDHAR WML	JALANDHAR	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1346	KM STONE 18 TO 23 ON NH703A ON EITHER SIDE	KAPURTHALA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1347	JALANDHAR CITY (WML) FOCAL POINT (OTHER THAN NH)	JALANDHAR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1348	KM STONE 14 TO 16 ON NH703A RHS	KAPURTHALA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1349	KM STONE 38 TO 45 ON NH703A	KAPURTHALA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4

1350	NH 71(OLD) JALANDHAR TO NAKODAR ROAD FROM GOHIR TO NAKODDAR(LEFT SIDE)	JALANDHAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1351	KAPURTHALA CITY (WML) EXCEPT NH	KAPURTHALA	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1352	KM STONE 9 TO 12 ON NH703A RHS	KAPURTHALA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1353	BHOLATH	KAPURTHALA	REGULAR	100	ОВС	DC	20	20	1225	25	45	Draw of Lots	15	4
1354	FROM BMC CHOWK TO SHAHEED MAJOR KAPIL VINAYAK CHOWK, JALANDHAR CITY WML	JALANDHAR	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1355	KM STONE 9 TO 12 ON NH703A LHS	KAPURTHALA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1356	KM STONE 16 TO 18 ON NH703A ON EITHER SIDE	KAPURTHALA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1357	FROM BIDHIPUR TO KARTARPUR ON OLD NH 1 LHS (NEW NH3)	JALANDHAR	REGULAR	150	ОВС РН	DC	35	45	1575	25	75	Draw of Lots	15	4
1358	MAHILPUR WML	HOSHIARPUR	REGULAR	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
1359	SULTANPUR LODHI (WML)	KAPURTHALA	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1360	FROM KARTARPUR TO BIDHIPUR ON NH 3 (OLD NH1) LHS	JALANDHAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1361	JALANDHAR CITY ON LEATHER COMPLEX ROAD, BASTI PEERDAD (WML)	JALANDHAR	REGULAR	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
1362	SUBHANPUR TO DHILWAN TOLL PLAZA ON NH 3 (OLD NH1) LHS	KAPURTHALA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

1363	JALANDHAR CITY (WITHIN 1.0 Km OF GURU TEG BAHADUR CHOWK)	JALANDHAR	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1364	NAKODAR CITY(UNDER NAKODAR MUNICIPAL LIMIT)	JALANDHAR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1365	JALANDHAR CITY BETWEEN GURU NANAK MISSION CHOWK TO MODEL TOWN	JALANDHAR	REGULAR	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1366	FROM CHEEMA CHOWK TO URBAN STATE PHASE 2 ROAD, JALANDHAR WML	JALANDHAR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1367	JALANDHAR CITY (WML) ON GARHA ROAD	JALANDHAR	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1368	NH 71(OLD) JALANDHAR TO NAKODAR ROAD FROM GOHIR TO NAKODAR(RIGHT SIDE)	JALANDHAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1369	FROM RAVIDAS CHOWK TO WADALA CHOWK ,LEFT HAND SIDE JALANDHAR WML	JALANDHAR	REGULAR	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1370	JALANDHAR CITY BETWEEN JYOTI CHOWK TO RAVIDAS CHOWK	JALANDHAR	REGULAR	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
1371	URBAN ESTATE PH-I, JALANDAR (WML)	JALANDHAR	REGULAR	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1372	ON AVTAR NAGAR ROAD, BETWEEN JHANDIAN WALA PEER CHOWK TO NAKODAR CHOWK, JALANDHAR WML	JALANDHAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1373	FROM WADALA CHOWK TO WML LIMIT OF JALANDHAR, RIGHT HAND SIDE ON JALANDHAR NAKODAR ROAD	JALANDHAR	REGULAR	154	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1374	JALANDHAR CITY WML ON 66 FT ROAD FROM CURO MALL TO CT GROUP OF INSTITUTES	JALANDHAR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5

	ı	1			1	1	1	ı	1	ı	ı	1		
1375	URBAN ESTATE PH-II, JALANDAR (WML)	JALANDHAR	REGULAR	160	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
1376	WITHIN 5 KMs FROM MALSIAN BUS STAND ON LHS TOWARDS NAKODAR ON NAKODAR-MALSIAN ROAD (NEW NH-703 (OLD NH-71))	JALANDHAR	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1377	JALANDHAR CITY (WITHIN 1.0 Km OF RADIUS GURU AMAR DAS CHOWK)	JALANDHAR	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1378	JALANDHAR CITY (WML) BETWEEN GURU RAVIDASS CHOWK AND BABREIK CHOWK ON MODEL HOUSE ROAD	JALANDHAR	REGULAR	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1379	JALANDHAR CITY (WML), BETWEEN SHASTRI MARKET TO NEW DISTRICT COURT	JALANDHAR	REGULAR	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1380	BETWEEN GORAYA TO PHILLAUR ON OLD NH 1(LHS)(LHS WHILE GOING FROM JALANDHAR TO LUDHIANA)	JALANDHAR	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1381	ON MILESTONE NO 20 TO 27 ON NH 703 (LHS ON JALANDHAR TO MALSIAN ROAD)	JALANDHAR	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1382	BHARTHALA ON NH 344A	SHAHID BHAGAT SINGH NAGAR	REGULAR	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
1383	JALANDHAR CITY (WML) BETWEEN FOOTBALL CHOWK AND BABREIK CHOWK	JALANDHAR	REGULAR	160	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1384	BETWEEN BASTI BAWA KHEL TO SPORTS & SURGICAL COMPLEX ON JALANDHAR KAPURTHALA ROAD (NH 703A), LHS	JALANDHAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1385	MALLHA SODHIAN ON NH 344A	SHAHID BHAGAT SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

	I	ı	1		1		1	ı	1	ı	ı	1	1	1 1
1386	ON NH 703 BYPASS ROAD FROM MALSIAN TO SHAHKOT ON RHS	JALANDHAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1387	JALANDHAR CITY (WML) ON LHS FROM GURU NANAK MISSION CHOWK TOWARDS KAPURTHALA CHOWK ON MAHAVIR MARG.	JALANDHAR	REGULAR	160	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
1388	FROM SHAHEED MAJOR KAPIL VINAYAK CHOWK ON JALANDHAR CANTT - JANDIALA ROAD UPTO INTERSECTION WITH WADALA - URBAN ESTATE ROAD IN URBAN ESTATE PH-II, JALANDHAR CITY (WML).	JALANDHAR	REGULAR	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
1389	JALANDHAR CITY (WML) ,ON VASANT VIHAR ROAD FROM KAHLON HOSPITAL TO HOTEL IMPERIA SUITES	JALANDHAR	REGULAR	160	OPEN	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
1390	BANGA (WML) ON MUKANDPUR ROAD	SHAHID BHAGAT SINGH NAGAR	REGULAR	115	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1391	BALACHAUR WML ON BHADDI ROAD	SHAHID BHAGAT SINGH NAGAR	REGULAR	110	OBC	DC	20	20	750	25	45	Draw of Lots	15	4
1392	J P NAGAR MAIN ROAD BETWEEN CHICK CHIK RESTAURANT TO MOTHER MARRY MODEL SCHOOL ON JALANDHAR WML	JALANDHAR	REGULAR	150	OPEN	DC	15.24	18.29	278.74	25	60	Draw of Lots	15	5
1393	LANGROYA ON NEW NAWANSHAHAR BYE PASS ON NH 344A (PHAGWARA - RUPNAGAR) LHS	SHAHID BHAGAT SINGH NAGAR	REGULAR	160	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1394	RAHON WML ON JADLA ROAD	SHAHID BHAGAT SINGH NAGAR	REGULAR	102	SC	CFS	20	20	900	0	0	Draw of Lots	0	3
1395	NAWANSHAHAR WML ON GARHSHANKAR ROAD	SHAHID BHAGAT	REGULAR	110	OBC	DC	20	20	900	25	45	Draw of Lots	15	4

		SINGH NAGAR												
1396	CHAHAL, ON NH 344A	SHAHID BHAGAT SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1397	FATEHPUR ON NH 344A	SHAHID BHAGAT SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1398	KHATKAR KALAN ON NH 344A	SHAHID BHAGAT SINGH NAGAR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1399	MEHNDIPUR ON NEW NAWANSHAHAR BYE PASS ON NH 344A(PHAGWARA - RUPNAGAR)ON LHS	SHAHID BHAGAT SINGH NAGAR	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1400	PHAGWARA TO MEHLI ROAD WML PHAGWARA	KAPURTHALA	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
1401	BETWEEN OLD NH-1 INTERSECTION AND HOSHIARPUR CHOWK (PHAGWARA - RUPNAGAR ROAD) ON NH344A ON LHS	KAPURTHALA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1402	BEHRAM ON RIGHT SIDE ON NH 344A PHAGWARA RUPNAGAR ROAD	SHAHID BHAGAT SINGH NAGAR	REGULAR	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1403	MEHNDIPUR ON NEW NAWANSHAHAR BYE PASS ON NH 344A (PHAGWARA - RUPNAGAR)ON RHS	SHAHID BHAGAT SINGH NAGAR	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1404	IN VILLAGE KHATTI ON NH 344B (HOSHIARPUR- PHAGWARA ROAD)	SHAHID BHAGAT SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1405	RAHON WML ON MACHHIWARA ROAD	SHAHID BHAGAT SINGH NAGAR	REGULAR	102	OPEN	DC	20	20	900	25	45	Draw of Lots	15	5

1406	BETWEEN OLD NH-1 INTERSECTION AND HOSHIARPUR CHOWK ON NH344A ON RHS	KAPURTHALA	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1407	THATHIALA DHAHA ON NH 344A	SHAHID BHAGAT SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1408	LANGROYA ON NEW NAWANSHAHAR BYE PASS ON NH 344A (PHAGWARA - RUPNAGAR)RHS	SHAHID BHAGAT SINGH NAGAR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1409	PHAGWARA WML ON NAKODAR ROAD	KAPURTHALA	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1410	BHULLARAI ON NH 344B	KAPURTHALA	REGULAR	156	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1411	PHAGWARA SHARKI ON NH344A	KAPURTHALA	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1412	AJNAM (TEHSIL HOSHIARPUR, BLOCK HOSHIARPUR-I)	HOSHIARPUR	RURAL	48	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1413	Village DEGHAM ON GARSHANKAR-BANGA ROAD	HOSHIARPUR	RURAL	48	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1414	VILL BARIANA (BLOCK BHUNGA TEHSIL HOSHIARPUR)	HOSHIARPUR	RURAL	45	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1415	VILL GILL (ON DHOLWAHA ROAD) (BLOCK BHUNGA AND TEHSIL HOSHIARPUR)	HOSHIARPUR	RURAL	48	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1416	Vill. Malri	JALANDHAR	RURAL	48	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1417	VILL. POJEWAL	SHAHID BHAGAT SINGH NAGAR	RURAL	48	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1418	VILL. POONIA ON POONIA-SHAHKOT ROAD	JALANDHAR	RURAL	45	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2

	1			1	1	1	1	1		1			1	1 1
1419	VILLAGE BEAS PIND	JALANDHAR	RURAL	54	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1420	VILLAGE JAMALPUR	JALANDHAR	RURAL	48	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1421	VILLAGE KULAR	JALANDHAR	RURAL	45	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1422	VILLAGE- MAHERU (ON CHAHERU KHUSROPUR LINK ROAD,BEHIND LOVELY PROFESSIONAL UNIVERSITY),	KAPURTHALA	RURAL	48	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1423	VILLAGE NUROWAL	KAPURTHALA	RURAL	45	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1424	VILLAGE UCHA PIND	KAPURTHALA	RURAL	48	SC	CFS	30	35	1225	0	0	Draw of Lots	0	2
1425	VILL BAJRAWAR (BLOCK AND TEHSIL HOSHIARPUR)	HOSHIARPUR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1426	KITNA (TEHSIL GARHSHANKER, BLOCK GARHSHANKER)	HOSHIARPUR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1427	VILL CHUNGIA (NANGAL ROAD) (TEHSIL GARHSHANKER, BLOCK GARHSHANKER)	HOSHIARPUR	RURAL	40	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1428	HUSSAINPUR (BLOCK GARDIWALA, TEHSIL - DASUYA)	HOSHIARPUR	RURAL	48	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1429	MAHILPUR TO PHAGWARA ROAD WITH IN 3 KM (OML)	HOSHIARPUR	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1430	SANDHRAN (TEHSIL HOSHIARPUR, BLOCK HOSHIARPUR)	HOSHIARPUR	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1431	PHOLAHI (TEHSIL HOSHIARPUR, BLOCK HOSHIARPUR)	HOSHIARPUR	RURAL	45	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3

1432	SHAM CHAURASI ON SHAM CHAURASI HARYANA ROAD	HOSHIARPUR	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1433	PANDORI BEET (NANGAL ROAD) (BLOCK AND TEHSIL GARSHANKAR)	HOSHIARPUR	RURAL	40	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1434	VILL SHHEENA (BLOCK AND TEHSIL HOSHIARPUR)	HOSHIARPUR	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1435	VILL KOT (BLOCK AND TEHSIL GARSHANKAR)	HOSHIARPUR	RURAL	40	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1436	VILLAGE KHANPUR, BLOCK BHUNGA TEHSIL HOSHIARPUR	HOSHIARPUR	RURAL	50	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1437	VILL BAKAPUR GURU (BLOCK AND TEHSIL GARSHANKAR)	HOSHIARPUR	RURAL	48	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1438	VILL. GADDIWAL (BLOCK AND TEHSIL GARSHANKAR)	HOSHIARPUR	RURAL	45	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1439	VILL HUSSIANPUR GURU (BLOCK AND TEHSIL HOSHIARPUR)	HOSHIARPUR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1440	VILL MEHMOWAL (BLOCK AND TEHSIL HOSHIARPUR)	HOSHIARPUR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1441	VILL BAROHI (BLOCK BHUNGA TEHSIL HOSHIARPUR)	HOSHIARPUR	RURAL	50	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1442	VILL RANDHAWA THIARA (BLOCK AND TEHSIL GARSHANKAR)	HOSHIARPUR	RURAL	45	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1443	VILL. BUROBARI (BLOCK MAHILPUR, TEHSIL GARSHANKAR)	HOSHIARPUR	RURAL	52	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1444	DHANOA, ON DHANOA TO TERKIANA ROAD (BLOCK AND TEHSIL DASUYA)	HOSHIARPUR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4

1445	VILL BAJA CHAK (BLOCK AND TEHSIL DASUYA)	HOSHIARPUR	RURAL	50	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1446	VILL SAHUNGRA (BLOCK AND TEHSIL GARSHANKAR)	HOSHIARPUR	RURAL	48	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1447	VIL BEH NANGAL (BLOCK TALWARA TEHSIL MUKERIAN)	HOSHIARPUR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1448	VILLAGE KHAKHAN ON OLD GT ROAD (BLOCK TANDA URMUR TEHSIL DASUYA)	HOSHIARPUR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1449	VILL LAMIN (BLOCK AND TEHSIL DASUYA)	HOSHIARPUR	RURAL	50	OBC PH	DC	30	35	1050	12	30	Draw of Lots	5	3
1450	VILLAGE BODAL (BLOCK AND TEHSIL DASUYA)	HOSHIARPUR	RURAL	50	SC PH	CFS	30	35	1050	0	0	Draw of Lots	0	2
1451	VILL BEH ATTA, ON NATHUWAL - KAMAHI DEVI ROAD (BLOCK TALWARA TEHSIL MUKERIAN)	HOSHIARPUR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1452	VILLAGE DHANDEKATWAL, BLOCK HAJIPUR TEHSIL MUKERIAN	HOSHIARPUR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1453	VILL DUDIANA LALAN (BLOCK AND TEHSIL HOSHIARPUR)	HOSHIARPUR	RURAL	50	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1454	VILLAGE JOHAL, BLOCK GARDHIWALA TEHSIL DASUYA	HOSHIARPUR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1455	VILL JALALPUR (BLOCK TANDA AND DASUYA)	HOSHIARPUR	RURAL	50	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1456	VILLAGE MASTIWAL BLOCK AND TEHSIL GARDHIWALA	HOSHIARPUR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1457	VILL HALER (TALWARA SANSARPUR ROAD)	HOSHIARPUR	RURAL	50	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

1458	VILLAGE SANDHWAL TO VILL SAIDON ON HAJIPUR-MANSAR ROAD	HOSHIARPUR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1459	VILL JHINGAR KHURD (BLOCK AND TEHSIL DASUYA)	HOSHIARPUR	RURAL	50	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1460	VILL NANGAL FAREED (BLOCK TANDA TEHSIL DASUYA)	HOSHIARPUR	RURAL	50	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1461	VILLAGE SANGOKATRALA BLOCK AND TEHSIL MUKERIAN	HOSHIARPUR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1462	VILLAGE PASLA	JALANDHAR	RURAL	46	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1463	VILL SANDHRAN (BLOCK- BHUNGA, TEHSIL- HOSHIARPUR)	HOSHIARPUR	RURAL	48	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1464	VILL SAINCHAN (BLOCK AND TEHSIL HOSHIARPUR)	HOSHIARPUR	RURAL	50	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1465	VILLAGE SANSARPUR BLOCK AND TEHSIL DASUYA	HOSHIARPUR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1466	VILLAGE -BARA PIND ON BARA PIND-GORAYA ROAD	JALANDHAR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1467	VILLAGE PARTABPURA ON PHILLAUR- NURMAHAL ROAD	JALANDHAR	RURAL	54	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1468	VILL SIPARIAN(GHOGRA HAJIPUR ROAD)(BLOCK AND TEHSIL MUKERIAN)	HOSHIARPUR	RURAL	50	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1469	VILLAGE KANDOLA	JALANDHAR	RURAL	54	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1470	VILLAGE KHUSROPUR ON JALANDHAR CANTT BYPASS ROAD	JALANDHAR	RURAL	46	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4

1471	VILLAGE SANSARPUR ON JALANDHAR CANTT BYPASS ROAD	JALANDHAR	RURAL	52	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1472	Village Haripur Khalsa on PHILLAUR-NURMAHAL ROAD	JALANDHAR	RURAL	50	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
1473	VILLAGE UGRUPUR	KAPURTHALA	RURAL	48	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2
1474	VILL BARIAN (TEHSIL GARHSHANKER, BLOCK MAHILPUR)	HOSHIARPUR	RURAL	45	OPEN PH	DC	30	35	1050	12	30	Draw of Lots	5	4
1475	VILLAGE PATARA	JALANDHAR	RURAL	54	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1476	VILLAGE MANSURWAL DONA	KAPURTHALA	RURAL	100	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1477	ON OLD PHAGWARA ROAD, VILLAGE PARAGPUR (OML)	JALANDHAR	RURAL	48	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1478	VILLAGE BALEHAR KHAN PUR, KALASANGHIAN TO KAPURTHALA ROAD	KAPURTHALA	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1479	SANGOJLA	KAPURTHALA	RURAL	45	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1480	VILLAGE BUSSOWAL	KAPURTHALA	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1481	VILLAGE DEPEWAL	KAPURTHALA	RURAL	40	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1482	VILLAGE TALHAN	JALANDHAR	RURAL	48	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1483	TALWANDI CHAUDRIAN	KAPURTHALA	RURAL	45	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

1484	VILLAGE FATTUDHINGA ON KAPURTHALA - SULTANPUR LODHI ROAD	KAPURTHALA	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1485	VILLAGE LOHARAN	JALANDHAR	RURAL	48	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1486	VILLAGE BHADAS	KAPURTHALA	RURAL	48	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1487	TASHPUR	KAPURTHALA	RURAL	40	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1488	VILLAGE JAMAIT GARH	JALANDHAR	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1489	VILLAGE KALA KHERA	JALANDHAR	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1490	VILLAGE DULOWAL	KAPURTHALA	RURAL	40	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1491	VILLAGE RAMPUR LALLIAN	JALANDHAR	RURAL	40	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1492	VILLAGE KHURD	KAPURTHALA	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1493	VILLAGE NOORPUR JANUHAN	KAPURTHALA	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1494	VILLAGE BEGOWAL	KAPURTHALA	RURAL	48	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1495	VILLAGE SHERPUR SADHA	KAPURTHALA	RURAL	40	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1496	VILLAGE SIDHUPUR	JALANDHAR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4

1497	VILLAGE TARAF BEHBAL BAHADUR	KAPURTHALA	RURAL	40	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1498	VILLAGE MADHOPUR	KAPURTHALA	RURAL	48	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1499	Village Partappura, JAMSHER-PRATAPPURA ROAD	JALANDHAR	RURAL	40	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1500	BAAGRIYAN ON BHOLATH BHOGPUR ROAD	KAPURTHALA	RURAL	100	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1501	VILLAGE TALWANDI MEHMA, KALASANGHIAN TO KAPURTAHALA ROAD	KAPURTHALA	RURAL	48	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1502	BATNURA	JALANDHAR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1503	Jandiala to nurmahal road 5km from jandiala,Vill. Batura	Jalandhar	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1504	Vill. Bhangala on Bhangala-Nakodar Road	Jalandhar	RURAL	45	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1505	Vill. Cheema Kalan	Jalandhar	RURAL	45	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1506	NATHEWAL TOWARDS UCHCHA PIND ROAD	JALANDHAR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1507	Vill. Kalyanpur	Jalandhar	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1508	Vill. Pandori Khas	Jalandhar	RURAL	45	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1509	Vill. Tahli on Tahli-Sarih Road	Jalandhar	RURAL	48	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3

1510	VILL. PHOLRIWAL	JALANDHAR	RURAL	100	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1511	DHALIWAL DONA	KAPURTHALA	RURAL	40	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1512	VILLAGE - PARJIAN (RAMUWAL - PARJIHIAN ROAD)	JALANDHAR	RURAL	45	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1513	VILLAGE JAMSHER KHERA	JALANDHAR	RURAL	45	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1514	Village Rehmanpur Jalandhar cantt BYPASS ROAD FROM JALANDHAR TO SUFFI PIND	JALANDHAR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1515	VILL. TALWANDI SANGHERA	JALANDHAR	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1516	VILLAGE- CHANDANPUR (ON JAMSHER-LAMBRA ROAD)	JALANDHAR	RURAL	40	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1517	VILL KARNANA (ON SAHLON TO BANGA ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	54	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1518	VILLAGE DIWALI (ON JALANDHAR CANTT. TO JANDIALA ROAD)	JALANDHAR	RURAL	40	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1519	VILLAGE- KAKKAR KALAN	JALANDHAR	RURAL	40	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1520	VILLAGE-BAJWA KHURD	JALANDHAR	RURAL	48	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1521	VILLAGE LALLIAN KHURD (ON LAMBRA-CHITTI ROAD)	JALANDHAR	RURAL	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1522	WADALA KHURD	KAPURTHALA	RURAL	45	SC CC 1	CFS	30	35	1050	0	0	Draw of Lots	0	2

1523	VILL MUSAPUR	SHAHID BHAGAT SINGH NAGAR	RURAL	48	Open CC 2	DC	30	35	1050	12	30	Draw of Lots	5	4
1524	MITHRA	KAPURTHALA	RURAL	48	OBC CC 1	DC	30	35	1050	12	30	Draw of Lots	5	3
1525	BALLOWAL	SHAHID BHAGAT SINGH NAGAR	RURAL	50	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1526	VILL NAWAN PIND TAPARIAN(ON BALACHAUR TO BHADDI ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	48	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1527	JAGATPUR JATTAN (ON PHAGWARA TO JAGATPUR JATTAN ROAD)	KAPURTHALA	RURAL	48	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1528	Village Jhungian, ON RAHON-MATTEWARA ROAD	SHAHID BHAGAT SINGH NAGAR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1529	LADHANA JHIKKA (ON BANGA TO LADHANA JHIKKA ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1530	KHAIRA ON PHILLAUR TO NAWASHAHAR ROAD	JALANDHAR	RURAL	52	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1531	VILL SAHLON (ON NAWANSHAHAR TO AUR ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	48	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1532	LASARA-1 (ON PHILLAUR TO AUR ROAD LEFT SIDE)	JALANDHAR	RURAL	54	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1533	PREMPUR	Kapurthala	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1534	KIRPALPUR	KAPURTHALA	RURAL	48	ОВС	DC	30	35	1050	12	30	Draw of Lots	5	3
1535	VILLAGE - GHATARON (ON NAWANSHAHAR TO AUR ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	54	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2

1536	VILL BHADDI	SHAHID BHAGAT SINGH NAGAR	RURAL	55	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1537	SHEIKHUPUR (CHAKDANA TO MUKANDPUR ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	48	Open CC 1	DC	30	35	1050	12	30	Draw of Lots	5	4
1538	VILL BHIN (GUJJARPUR KALAN-BHIN ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	48	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1539	VILLAGE PANDWA	KAPURTHALA	RURAL	48	SC	CFS	30	35	1050	0	0	Draw of Lots	0	2
1540	VILL BIKA (ON MUKANDPUR BIKA ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	55	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1541	VILL HAPPOWAL	SHAHID BHAGAT SINGH NAGAR	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1542	VILL GUNACHAUR	SHAHID BHAGAT SINGH NAGAR	RURAL	48	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1543	VILL JADLA (ON RAHON JADLA ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	55	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1544	VILLAGE ALAMPUR BAKKA	JALANDHAR	RURAL	45	SC	DC	30	35	1050	0	0	Draw of Lots	0	2
1545	VILL MEHINDIPUR (ON BALACHAUR- GARHIKANUGO ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	54	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1546	VILL KHAMACHON (ON BANGA TO GARHSHANKAR ROAD)	SHAHID BHAGAT SINGH NAGAR	RURAL	54	OBC	DC	30	35	1050	12	30	Draw of Lots	5	3
1547	VILL NAROOR ON RAWALPINDI TO PANCHAT ROAD	KAPURTHALA	RURAL	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4

							1	ı					1	
1548	VILLAGE- SAMRAI	JALANDHAR	RURAL	48	SC PH	CFS	30	35	1050	0	0	Draw of Lots	0	2
1549	BETWEEN KM STONE 195-198 ON NH 7 LHS (BARNALA TO SANGRUR SIDE)	Barnala	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
1550	BETWEEN TARAKSHEEL CHOWK & THIKRIWAL CHOWK, BARNALA WML	Barnala	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
1551	BETWEEN THIKRIWAL CHOWK & SANGHERA CHOWK, BARNALA WML	Barnala	REGULAR	110	SC	CFS	20	20	400	0	0	Draw of lots	0	3
1552	BETWEEN KM STONE 118-121 ON NH 703 LHS (MOGA TO BARNALA SIDE)	Barnala	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
1553	BETWEEN KM STONE 199-203 ON NH-7 RHS (BATHINDA TO BARNALA SIDE)	Barnala	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
1554	Patiala WML (Patiala - Nabha Road upto Sidhu Farms) RHS	PATIALA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
1555	On NH 7 Between KM Stone No. 264-268 RHS While coming from Sangrur to Patiala	PATIALA	REGULAR	160	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
1556	DALA ON NH 703 (RHS WHILE GOING FROM MOGA TO BARNALA)	MOGA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
1557	BADNI KALAN BY PASS ON NH 703 (EITHER SIDE)	MOGA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
1558	LANDHEKE (MOGA- JALANDHAR ROAD)	MOGA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
1559	BETWEEN KM STONE 74- 77 ON NH 703 O EITHER SIDE ((BUGIPURA CHOWK TO TALWANDI BHANGERIAN)	MOGA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
1560	BETWEEN KM STONE 65- 67 ON NH 703 RHS WHILE GOING FROM MOGA TO JALANDHAR	MOGA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3

1561	VILLAGE BILASPUR ON NH 703 LHS WHILE GOING FROM MOGA TO BARNALA	MOGA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
1562	Between Km Stone No 316-318 on NH-7 (RHS Rajpura to Zirakpur Side)	Patiala	REGULAR	168	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
1563	Patran Town (Not on NH/SH)	Patiala	REGULAR	104	SC	CFS	20	20	400	0	0	Draw of lots	0	3
1564	ON NH 7 BETWEEN KM STONE 268-273 ON LHS (SANGRUR TO PATIALA ROAD)	Patiala	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of lots	0	3
1565	Sunam Town (Between ITI Chowk & Sunam Grain Mkt)	Sangrur	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1566	On SH-10 Between km 124-126	Patiala	REGULAR	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
1567	ON SH 10 PATIALA TO SAMANA LHS BETWEEN KM STONE 94-97 (PATIALA TO SAMANA SIDE)	Patiala	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1568	On SH 12 Village-Chaswal B/w KM Stone-33-35 LHS (While Going from Nabha to Bhadson)	PATIALA	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1569	On NH-7 Between KM Stone No. 222-225 on LHS (Barnala to Patiala)	Sangrur	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1570	Village Fatehpur on SH 10 (Patiala-Samana Road)	PATIALA	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
1571	On SH-12A: Between km 11-13 (Bhawanigarh Mansa Road)	SANGRUR	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1572	Dedhana On SH 10	Patiala	REGULAR	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1573	Nial on SH 10 (Patran to Samana Side)	Patiala	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4

1574	On NH-7 Between KM Stone No. 222-225 on RHS (Barnala to Patiala)	Sangrur	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1575	On SH-12A: Between km 29-31 (Bhawanigarh Mansa Road)	SANGRUR	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1576	ON SH 11 BETWEEN KM STONE 39 - 41 (Ludhiana to Malerkotla Side)	SANGRUR	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1577	Sangrur City (Between Shaheed Bhagat Singh Chowk & Barnala Crossing)	Sangrur	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1578	On NH-7 Between KM Stone No. 260-263 on LHS (Sangrur to Patiala)	Sangrur	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1579	Ghagga on SH 10 (Samana to Patra Side)	Patiala	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1580	PATRAN JAKHAL ROAD SH-10 BETWEEN MOONAK TO KARAIL	SANGRUR	REGULAR	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1581	Sangrur City (Between Bus Stand Chowk & Namdev Chowk)	Sangrur	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1582	Sangrur City (Between Barnala Crossing & Dhuri Flyover)	Sangrur	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1583	Sangrur City (Between Janta Petrol Pump Chowk to Sibia Hospital)	Sangrur	REGULAR	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1584	Badungar to Khalsa College to Rajindera Hospital Road, Patiala WML	Patiala	REGULAR	150	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
1585	On NH-7 Between KM Stone No. 212-214 on LHS (Barnala to Patiala)	Sangrur	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1586	Sangrur City (Between Nankiana Chowk & Dhuri Flyover on Patiala Byepass)	Sangrur	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5

1587	Between Fountain Chowk to NIS Chowk (Lower Mall Road), Patiala WML	Patiala	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1588	On NH-7 Between KM Stone No. 229-232 on RHS (Barnala to Patiala)	Sangrur	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1589	Sangrur City (Between Bus Stand Chowk & Railway Station Chowk on DC Office Road)	Sangrur	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1590	Sunam Town (Between Rose Garden & Govt Boys High School)	Sangrur	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1591	On NH-7 Between KM Stone No. 234-237 on LHS (Barnala to Patiala)	SANGRUR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1592	Banda Road (Bhupinder Dairy-Dhukh Nivaran Road Via Factory Area), Patiala WML	Patiala	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1593	Bhawanigarh Town (Between Old Truck Union & BDPO Office)	Sangrur	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1594	Longowal WML (Longowal Badbar Road)	Sangrur	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1595	On NH-7 Between KM Stone No. 249-252 on RHS (Barnala to Patiala)	Sangrur	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1596	Urban Estate Phase-2, Patiala	Patiala	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1597	On NH-7 Between KM Stone No. 229-232 on LHS (Barnala to Patiala)	Sangrur	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1598	Lalgarh on SH 10 (Samana to Patiala Side)	PATIALA	REGULAR	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
1599	Patiala WML (Between Fatak No. 22 and Thapar University on Bhupindera Road)	Patiala	REGULAR	200	OBC	DC	20	20	400	25	60	Draw of Lots	15	4

1600	Betweeen Singh Sabha Gurudwara to KSM road, Rajpura WML	Patiala	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1601	On NH-7 Between KM Stone No. 213-216 on RHS (Barnala to Patiala)	Sangrur	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1602	On NH-7 Between KM Stone No. 260-263 on RHS (Sangrur to Patiala)	Sangrur	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1603	Dakala Chungi to Chandigarh Road (Heritage Ring Road), Patiala WML	Patiala	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1604	On NH-7 Between KM Stone No. 240-243 on LHS (Barnala to Patiala)	Sangrur	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of lots	15	5
1605	Between Thapar University and Shri Dhukhnivaran Sahib on Police Line Road, DC Office road Patiala WML	Patiala	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1606	On NH-52 Within 5 kms from Mehlan Chowk, on Mehlan Chowk to Sulargharat Road on LHS	Sangrur	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1607	On NH-52 Between km 222-227 (Either Side)	Sangrur	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	5
1608	Police Lines Road near Phulkian Enclave Gate No. 2, Patiala WML	Patiala	REGULAR	150	Open	DC	20	20	400	25	60	Draw of Lots	15	4
1609	BARNALA CITY (BETWEEN ITI CHOWK & RAILWAY UNDER PASS)	Barnala	REGULAR	100	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
1610	On SH 11 Between Kupkalan to Akbarpur Channa (LHS while coming from Malerkotla)	SANGRUR	REGULAR	100	ОВС РН	DC	35	35	1225	25	60	Draw of Lots	15	4
1611	Between Leela Bhawan Chowk to 22 No. Phatak, Patiala WML	Patiala	REGULAR	200	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1612	Patiala WML {Between Phatak No. 22 and Phatak No. 23 (On Heera	Patiala	REGULAR	200	Open	DC	20	20	400	25	60	Draw of lots	15	5

	Nagar to Shakti Vihar side)}													
1613	Urban Estate Phase-1, Patiala	Patiala	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1614	Between Fountain Chowk to Yadwindra Public School, Patiala WML	Patiala	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1615	Model Town, Patiala WML (Bhupinder Road to Tagore Cinema Road)	Patiala	REGULAR	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1616	Between Kali Mata Mandir to Bus Stand, Patiala WML	Patiala	REGULAR	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1617	Between Bhabalpuri Bhawan to Gagan Chowk, Rajpura WML	Patiala	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1618	Between Km Stone No. 283-285 ON NH -7 LHS (Sangrur-Patiala Side)	Patiala	REGULAR	180	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1619	Between Kali Mata Mandir to Fountain Chowk on LHS, Patiala WML	Patiala	REGULAR	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1620	Patiala-Sirhind Road {Dukhnivaran to Govt Press (either side)}, Patiala WML	Patiala	REGULAR	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1621	Tripuri in Patiala WML	Patiala	REGULAR	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1622	Between Leela Bhawan Chowk to Fountain Chowk, Patiala WML	Patiala	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1623	NABHA (WML) (Not on NH/ SH)	PATIALA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1624	ON SH 10 PATAIALA SAMANA ROAD BEWEEN KM STONE 82-89 (PATIALA TO SAMANA SIDE)	Patiala	REGULAR	102	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5

1625	Between Kali Mata Mandir to Fountain Chowk on RHS, Patiala WML	Patiala	REGULAR	180	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1626	Patiala WML (Sant Nagar to Punjabi Bagh Kintal Road i.e. back side road of Colambia Asia Hospital)	Patiala	REGULAR	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1627	PATIALA - BHADSON ROAD,PATIALA WML	PATIALA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1628	Between Phatak No. 23 and Phatak No. 24 on Shakti Vihar to Pratap Nagar Road. Patiala WML	Patiala	REGULAR	150	Open	СС	20	20	400	25	10	Bidding	30	5
1629	Between Km Stone No. 323-325 ON NH -7 LHS Rajpura to Zirkpur Road)	Patiala	REGULAR	180	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1630	Rajpura Town within MC Limits	Patiala	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1631	Between Km Stone No. 315 to 317 on NH-7 LHS (Rajpura to Zirakpur Road side)	Patiala	REGULAR	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1632	On NH-52 Within 3 kms from Mehlan Chowk, on Mehlan Chowk to Sangrur Road on LHS	Sangrur	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1633	Between KM Stone 133 and 135 ON NEW NH- 703 OLD NH 71 LHS (MOGA TO BARNALA SIDE)	Barnala	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1634	Between Km Stone No. 313-315, ON NH -7 LHS Rajpura Bypass (Patiala- Chandigarh Road)	Patiala	REGULAR	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1635	DAGRU ON NH 95 (ON EITHER SIDE OF HIGHWAY WHILE GOING FROM MOGA TO FEROZEPUR)	MOGA	REGULAR	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
1636	Patiala WML (Ranjit Nagar Extension - II)	PATIALA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

1637	Between Km Stone No. 313-315, ON NH -7 RHS Rajpura Bypass (Patiala- Chandigarh Road)	Patiala	REGULAR	180	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1638	VILLAGE TEPLA, ON BANUR-AMBALA ROAD, NH 205A, LHS,	Patiala	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1639	Between Km Stone No. 278-280, ON NH -7 RHS from Sangrur-Patiala,	Patiala	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1640	Malerkotla WML (Delhi Gate to Satta Chowk)	SANGRUR	REGULAR	108	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1641	Patiala City (WML), Between Bus stand Patiala and Sangrur road Byepass traffic lights on LHS while going from Patiala to Rajpura	Patiala	REGULAR	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1642	Between Km Stone No. 290-292, on NH-7 LHS (Sangrur-Patiala)	Patiala	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1643	Between Km Stone No. 290-292, on NH-7 RHS (Sangrur-Patiala)	Patiala	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1644	Between Km Stone 599 TO 603 on NH-44 RHS (Rajpura to Sirhind side)	Patiala	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1645	Malerkotla WML (Thandi Sadak towards railway station)	SANGRUR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1646	In between KM Stone No. 218-220 on NH 7 LHS (Barnala to Sangrur Side)	Sangrur	REGULAR	156	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1647	Lehragaga(Betweem Vishwakarma Temple & Bus Stand)	Sangrur	REGULAR	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1648	Between Km Stone 612 TO 616 on NH-44 RHS (Shambhu to Rajpura side)	Patiala	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1649	Malerkotla WML (Sheikh Mali Road)	SANGRUR	REGULAR	108	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

1650	BARNALA WML (Court Chowk to Handiaya Chowk)	Barnala	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1651	Between Km Stone No. 298 to 300 on NH-7 LHS (Patiala to Rajpura side)	Patiala	REGULAR	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
1652	BETWEEN KM STONE 123-126 ON NH 703 LHS (MOGA TO BARNALA SIDE)	Barnala	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1653	BETWEEN KM STONE 199-203 ON NH-7 LHS (BATHINDA TO BARNALA SIDE)	Barnala	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1654	BUGHIPURA ON NH 703 (EITHER SIDE)	MOGA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1655	Between Km Stone No. 320-323 on NH-7 LHS (Rajpura to Zirkpur Road)	Patiala	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1656	DHANUALA (WML) BETWEEN BUS STAND & STATE BANK OF INDIA	Barnala	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1657	BETWEEN KM STONE 139 - 141 ON NEW NH 703 LHS (BARNALA TO MOGA SIDE)	Barnala	REGULAR	150	Open	СС	35	45	1575	25	10	Bidding	30	5
1658	DHURKOT KALAN ON NH 703 (EITHER SIDE)	MOGA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1659	Dirba On NH 52 LHS (Dirba to Sangrur Side)	Sangrur	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1660	BETWEEN KM STONE 179-184 ON NH-7 LHS (BATHINDA TO BARNALA SIDE)	Barnala	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1661	ON NH 7 BETWEEN KM STONE 192 - 194 LHS (BARNALA TO SANGRUR SIDE)	Barnala	REGULAR	150	Open	СС	35	45	1575	25	10	Bidding	30	5
1662	On NH 52, Between Patran to Duggal Khurd LHS (Khanauri to Sangrur Side)	Patiala	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4

	1					1	1							
1663	MOGA WML (AKALSAR ROAD)	MOGA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1664	Patiala WML (Patiala - Nabha Road upto Sidhu Farms) LHS	PATIALA	REGULAR	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1665	Samana WML (Not on SH/NH)	PATIALA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1666	On NH 52 Village Duttal RHS (Patran to Shutrana side)	Patiala	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1667	BETWEEN KM STONE 69- 72 ON NH 703 LHS (WHILE GOING MOGA TO JALANDHAR SIDE)	MOGA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1668	FACTORY AREA, PATIALA	PATIALA	REGULAR	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1669	Patiala City (Passey Road)	PATIALA	REGULAR	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1670	BETWEEN VILL KHETLA AND DIRBA On NH52 LHS (Patran to Sangrur Side)	Sangrur	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1671	Dhuri WML (New Grain Market to Balwan Road)	SANGRUR	REGULAR	108	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1672	Kheri Gurna On NH 205A, LHS (while going from Banur to Tepla Road)	Patiala	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1673	ON NH 7 BETWEEN KM STONE 268-273 ON RHS (SANGRUR TO PATIALA ROAD)	PATIALA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of lots	15	4
1674	Malerkotla WML (Bus stand to Satta Chowk)	SANGRUR	REGULAR	108	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
1675	Between KM Stone No. 321 - 323 On NH 7 (Rajpura-Zirakpur Side) RHS	Patiala	REGULAR	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

1676	Patiala-Sanaur Road, Patiala (WML)	Patiala	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1677	Moonak WML (not on NH/SH)	Sangrur	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1678	GHALL KALAN ON NH 95 (ON LHS WHILE GOING FROM MOGA TO FEROZEPUR)	MOGA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1679	BETWEEN KM STONE 66- 68 ON NH 703 LHS (WHILE GOING FROM MOGA TO JALANDHAR SIDE)	MOGA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1680	Between KM Stone 185- 190 on NH7 LHS (Bathinda to Barnala Side)	Barnala	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1681	On NH 52 Khanauri to Dhabi Gujran LHS (Khanauri to Narwana Side)	Sangrur	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1682	MOGA WML (DOSANJH ROAD)	MOGA	REGULAR	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1683	Ahmadgarh WML	SANGRUR	REGULAR	100	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
1684	BETWEEN TARAKSHEEL CHOWK & BUS STAND, BARNALA WML	Barnala	REGULAR	110	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
1685	Patiala WML (Ranjit Nagar Extension - I)	Patiala	REGULAR	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1686	BETWEEN KM STONE 54- 58 ON NH 703 ON RHS (WHILE GOING FROM MOGA TO JALANDHAR)	MOGA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1687	FROM BUGHIPURA CHOWK TO AJITWAL ON NH 95 ON RHS (WHILE GOING FROM MOGA TO LUDHIANA)	MOGA	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

1688	BETWEEN KM STONE 195-198 ON NH 7 RHS (BARNALA TO SANGRUR SIDE)	Barnala	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
1689	Moga (WML) NOT ON NH / SH	MOGA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1690	Barnala WML at Bajakhana Road on NH 703	Barnala	REGULAR	150	Open	DC	35	45	1530	25	45	Draw of Lots	15	5
1691	Industerial Area, Focal Point, Patiala	Patiala	REGULAR	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1692	JHALOOR, Block - BARNALA, Teh-BARNALA	BARNALA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1693	THULEWAL, Block - BARNALA, Teh-BARNALA	BARNALA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1694	Mehron , Block -MOGA- 1, Teh-MOGA	MOGA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1695	Takhanwad, Block - MOGA-1, Teh-MOGA	MOGA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1696	BHOJOMAJRI , Block - NABHA, Teh-NABHA	PATIALA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1697	DULADI, Block-NABHA, Teh-NABHA	PATIALA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1698	Banwala, Block -Patran, Teh-Patran	Patiala	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1699	Dhabi Gujran, Block - Patran, Teh-Patran	Patiala	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1700	Ajrawar, Block-Rajpura, Teh-Rajpura	Patiala	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2

1	1	I	1	I	I	1	I	I	1		I	1 1	I	
1701	Mandvi, Block –Andana at Moonak, Teh-Moonak	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1702	Akbarpur, Block - Bhawanigarh, Teh- Bhawanigarh	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1703	Batriana, Block - Bhawanigarh, Teh- Bhawanigarh	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1704	Ahmedhpur, Block - Malerkotla-2, Teh- Malerkotla	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1705	Bhudan, Block - Malerkotla-2, Teh- Malerkotla	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1706	Bhagike , Block -NIHAL SINGHAWALA, Teh-NIHAL SINGHAWALA	MOGA	RURAL	46	OBC PH	DC	35	35	1225	12	30	Draw of lots	5	3
1707	CHINIWAL KALAN, Block -MEHALKALAN, Teh- BARNALA	BARNALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1708	KURAR, Block - MEHALKALAN, Teh- BARNALA	BARNALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1709	GURM, Block-Barnala, Teh-BARNALA	BARNALA	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1710	BHATHLAN, Block - Barnala, Teh-BARNALA	BARNALA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1711	LOHGARH, Block - MEHALKALAN, Teh- BARNALA	BARNALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1712	DEEPGARH, Block - SEHNA, Teh-TAPA	BARNALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1713	DIWANA, Block - MEHALKALAN, Teh-TAPA	BARNALA	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3

1714	ALKARA, Block -SEHNA, Teh-TAPA	BARNALA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1715	Sekha Kalan , Block - BAGHAPURANA, Teh- BAGHAPURANA	MOGA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1716	Badduwal, Block - DHARAMKOT, Teh- DHARAMKOT	MOGA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1717	JALALABAD EAST , Block - DHARAMKOT, Teh- DHARAMKOT	MOGA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1718	Gholia Kalan , Block - BAGHAPURANA, Teh- BAGHAPURANA	MOGA	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1719	JANGIANA, Block - SEHNA, Teh-TAPA	BARNALA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1720	Kotduna , Block -Barnala, Teh-Barnala	BARNALA	RURAL	46	Open CC 1	DC	35	35	1225	12	30	Draw of lots	5	4
1721	Chuhar Chak, Block - MOGA-1, Teh-MOGA	MOGA	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1722	Talwandi Malian, Block - DHARAMKOT, Teh- DHARAMKOT	MOGA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1723	Tharaj , Block - BAGHAPURANA, Teh- BAGHAPURANA	MOGA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1724	Daudhar Sharki , Block - MOGA-1, Teh-MOGA	MOGA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1725	Langiana Nawan , Block - BAGHAPURANA, Teh- BAGHAPURANA	MOGA	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1726	Mehna, Block-MOGA-1, Teh-MOGA	MOGA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4

1727	Daroli Bhai, Block - MOGA-2, Teh-MOGA	MOGA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1728	Village Bhalwan on Sangrur Nabha Road, Block -Dhuri, Teh-Dhuri	Sangrur	RURAL	46	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	2
1729	Khosa Kotla , Block - DHARAMKOT, Teh- DHARAMKOT	MOGA	RURAL	46	OBC CC 1	DC	35	35	1225	12	30	Draw of lots	5	3
1730	Patto Hirasingh , Block - NIHAL SINGHAWALA, Teh-NIHAL SINGHAWALA	MOGA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1731	Sahib Nagar Urf Their,, Block -Patiala, Teh-Patiala	Patiala	RURAL	46	Open PH	DC	35	35	1225	12	30	Draw of lots	5	4
1732	VILLAGE LOHGARH ON JALALABAD LOHGARH LINK ROAD, Block - DHARAMKOT, Teh- DHARAMKOT	MOGA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1733	Chand Nawan, Block - MOGA-2, Teh-MOGA	MOGA	RURAL	46	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
1734	Saidoke , Block -NIHAL SINGHAWALA, Teh-NIHAL SINGHAWALA	MOGA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1735	Raoke Kalan , Block - NIHAL SINGHAWALA, Teh-NIHAL SINGHAWALA	MOGA	RURAL	46	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
1736	Kapura , Block -MOGA-1, Teh-MOGA	MOGA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1737	Kalwa on Baran Akalimaja Road, Block -Patiala, Teh- Patiala	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1738	DODRA ON SAMANA TO KULARAN ROAD , Block - SAMANA, Teh-SAMANA	PATIALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1739	BANERA KALAN , Block - NABHA, Teh-NABHA	PATIALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4

1740	Takhtupura , Block - NIHAL SINGHAWALA, Teh-NIHAL SINGHAWALA	MOGA	RURAL	46	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
1741	Dina, Block -NIHAL SINGHAWALA, Teh-NIHAL SINGHAWALA	MOGA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1742	MEHAS , Block -NABHA, Teh-NABHA	PATIALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1743	Gholia Khurd , Block - BAGHAPURANA, Teh- BAGHAPURANA	MOGA	RURAL	46	Open CC 1	DC	35	35	1225	12	30	Draw of lots	5	4
1744	ALHORAN , Block - NABHA, Teh-NABHA	PATIALA	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1745	Minian, Block-NIHAL SINGHAWALA, Teh-NIHAL SINGHAWALA	MOGA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1746	SAKRALI , Block -NABHA, Teh-NABHA	PATIALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1747	MANDAUR, Block - NABHA, Teh-NABHA	PATIALA	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1748	THUHI , Block -NABHA, Teh-NABHA	PATIALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1749	BAKSHIWALA, Block - PATIALA, Teh-PATIALA	PATIALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1750	Raman, Block -NIHAL SINGHAWALA, Teh-NIHAL SINGHAWALA	MOGA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1751	MANSURPUR, Block - NABHA, Teh-NABHA	PATIALA	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1752	Vill. Seona Near Water Tanki, Patiala, Block - Patiala, Teh-Patiala	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4

1753	Dhamo Majra, Block - Patiala, Teh-Patiala	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1754	AGETA , Block -NABHA, Teh-NABHA	PATIALA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1755	NARMANA , Block - NABHA, Teh-NABHA	PATIALA	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1756	Chaura, Block -Patiala, Teh-Patiala	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1757	Village Majal Khurd on Gula Cheeka Road , Block -PATIALA, Teh-PATIALA	PATIALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1758	Lang, Block -Patiala, Teh- Patiala	Patiala	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1759	DHABLAN , Block - PATIALA, Teh-PATIALA	PATIALA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1760	Raipur on Bahadurgarh- Ghannaur Road, Block - Patiala, Teh-Patiala	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1761	Rurki Kasba , Block - Patiala, Teh-Patiala	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1762	Saifdipur, Block-Patiala, Teh-Patiala	Patiala	RURAL	46	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
1763	Kalwanu, Block-Patran, Teh-Patran	Patiala	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1764	Sular on Dhakala Road (not on NH/SH and not in WML), Block -Patiala, Teh-Patiala	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1765	Village Mallomajra on Bhakra Kanal Link Road, Block -PATIALA, Teh- PATIALA	PATIALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4

1766	Shekhupura , Block - Patiala, Teh-Patiala	Patiala	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1767	Galoli, Block -Patran, Teh-Patran	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1768	Saidkheri, Block-Rajpura, Teh-Rajpura	Patiala	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1769	Badshahpur, Block - SAMANA, Teh-SAMANA	Patiala	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1770	Kishanpur Kalan , Block - DHARAMKOT, Teh- DHARAMKOT	MOGA	RURAL	46	Open CC 1	DC	35	35	1225	12	30	Draw of lots	5	4
1771	Ghanaur, on Bahadurgarh-Ghanaur Road, Block-Rajpura, Teh-Rajpura	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1772	BADANPUR, Block - SAMANA, Teh-SAMANA	PATIALA	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1773	Badli Maiki, Block - Rajpura, Teh-Rajpura	Patiala	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1774	Sialu (Ghanaur-Shambhu Road), Block -Rajpura, Teh-Rajpura	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1775	Nanhera, Block-Rajpura, Teh-Rajpura	Patiala	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1776	Bhatiwal Kalan, Block - Bhawanigarh, Teh- Bhawanigarh	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1777	JAHANGIR, Block - Sherpur, Teh-Dhuri	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1778	Channo on Channo- Lalouchhi Road, Block - Bhawanigarh, Teh- Sangrur	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4

1779	NANHERA, Block - Samana, Teh-Patran	Patiala	RURAL	46	Open CC 2	DC	35	35	1225	12	30	Draw of lots	5	4
1780	Chaleri Kalan, Block - Rajpura, Teh-Rajpura	Patiala	RURAL	46	OBC CC 1	DC	35	35	1225	12	30	Draw of lots	5	3
1781	Maholi Kalan , Block - Malerkotla-2, Teh- Malerkotla	Sangrur	RURAL	46	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	2
1782	Kakra, Block - Bhawanigarh, Teh- Bhawanigarh	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1783	Thamman Singh wala, Block -Bhawanigarh, Teh- Bhawanigarh	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1784	Shergarh, Block –Andana at Moonak, Teh-Moonak	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1785	Jhaneri, Block - Bhawanigarh, Teh- Bhawanigarh	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1786	Daska, Block -Lehra, Teh- Lehra	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1787	Kalbanjara, Block-Lehra, Teh-Lehra	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1788	DEHLA, Block - Lehraghagga , Teh- Moonak	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1789	Lehal Kalan, Block-Lehra, Teh-Lehra	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1790	Nagra, Block - Bhawanigarh, Teh- Bhawanigarh	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1791	Sekhuwas, Block -Lehra, Teh-Lehra	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4

1792	Gagarpur, Block - Sangrur, Teh-Sangrur	Sangrur	RURAL	46	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
1793	Dhulkot Ransin , Block - NIHAL SINGHAWALA, Teh-NIHAL SINGHAWALA	MOGA	RURAL	46	Open CC 1	DC	35	35	1225	12	30	Draw of lots	5	4
1794	KHERI KHURD, Block - Sherpur, Teh-Dhuri	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1795	Kularkhurd, Block - Sangrur, Teh-Sangrur	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1796	ANDANA, Block -Andana at Moonak, Teh-Moonak	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1797	Chappar, Block -Rajpura, Teh-Rajpura	PATIALA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1798	Mangwal, Block-Sangrur, Teh-Sangrur	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1799	Ramgarh Sandhwan, Block -Lehra, Teh-Lehra	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1800	Nawangaon, Block - Andana at Moonak, Teh- Moonak	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1801	Ghanaurkhurd, Block - Sherpur, Teh-Dhuri	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1802	Tungan, Block-Sangrur, Teh-Sangrur	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1803	BHULAN, Block -Andana at Moonak, Teh-Moonak	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1804	Village Banarsi, Block - Andana at Moonak, Teh- Moonak	SANGRUR	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4

1805	Balwar Kalan, Block - Sangrur, Teh-Sangrur	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1806	Salemgarh, Block - Andana at Moonak, Teh- Moonak	Sangrur	RURAL	46	ОВС РН	DC	35	35	1225	12	30	Draw of lots	5	3
1807	Banbhaura, Block - Malerkotla-1, Teh- Malerkotla	Sangrur	RURAL	46	SC PH	CFS	35	35	1225	0	0	Draw of lots	0	2
1808	Ghabdan, Block-Sangrur, Teh-Sangrur	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1809	Herari, Block-Sangrur, Teh-Sangrur	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1810	Nihalgarh, Block-Sunam, Teh-Sunam	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1811	Lohakhera, Block - Sangrur, Teh-Sangrur	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1812	Bushehra, Block –Andana at Moonak, Teh-Moonak	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1813	Sohian, Block -Sangrur, Teh-Sangrur	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1814	Kaheru, Block -Dhuri, Teh-Dhuri	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1815	Jharon, Block-Sunam, Teh-Sunam	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1816	Gulahar, Block-Patran, Teh-Patran	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1817	Palasaur, Block -Dhuri, Teh-Dhuri	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3

1818	Dirba on Dirba-Janal Road, Block -Dirba, Teh- Sunam	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1819	DHANETHA, , Block - SAMANA, Teh-Samana	PATIALA	RURAL	46	Open CC 1	DC	35	35	1225	12	30	Draw of lots	5	4
1820	Bamal, Block - Malerkotla-1, Teh-Dhuri	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1821	Bahadurpur, Block - Sangrur, Teh-Sangrur	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1822	Biggarwal, Block-Sunam, Teh-Sunam	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1823	Dhandoli Kalan, Block - Sunam, Teh-Sunam	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1824	Herike, Block-Sherpur, Teh-Dhuri	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1825	Chatha Sekhwan, Block - Sangrur, Teh-Sangrur	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1826	Ladbanjara Kalan, Block - Sunam, Teh-Sunam	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1827	Tolawal, Block-Sunam, Teh-Sunam	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1828	Dhadogal , Block - Malerkotla-1, Teh-Dhuri	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1829	Kangarpur , Block - Malerkotla-2, Teh- Malerkotla	Sangrur	RURAL	46	OBC CC 1	DC	35	35	1225	12	30	Draw of lots	5	3
1830	Mehmubpura, Block - Malerkotla-2, Teh- Malerkotla	Sangrur	RURAL	46	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	2

1831	Dehliz Kalan , Block - Malerkotla-2, Teh- Malerkotla	Sangrur	RURAL	46	Open PH	DC	35	35	1225	12	30	Draw of lots	5	4
1832	Ina Bajwa, Block - Sherpur, Teh-Dhuri	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1833	Gurbaxpura, Block - Sherpur, Teh-Dhuri	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1834	Kunran, Block -Sangrur, Teh-Sangrur	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1835	Mohamadpur, Block - Sherpur, Teh-Dhuri	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1836	Kaleke, Block - BAGHAPURANA, Teh- BAGHAPURANA	MOGA	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1837	Wazirpur, Block - Sherpur, Teh-Dhuri	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1838	Manvi , Block - Malerkotla-1, Teh- Malerkotla	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1839	UPPLI, Block -Sangrur, Teh-Sangrur	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1840	Himatpura , Block -NIHAL SINGHAWALA, Teh-NIHAL SINGHAWALA	MOGA	RURAL	46	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
1841	Saraud, Block - Malerkotla-1, Teh- Malerkotla	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1842	Lasoi, Block -Malerkotla- 1, Teh-Malerkotla	Sangrur	RURAL	46	Open CC 1	DC	35	35	1225	12	30	Draw of lots	5	4
1843	Satoj, Block -Sunam, Teh- Sunam	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2

1844	KAMASHPUR , Block - SAMANA, Teh-SAMANA	PATIALA	RURAL	46	ОВС	DC	35	35	1225	12	30	Draw of lots	5	3
1845	Manki, Block - Malerkotla-2, Teh- Malerkotla	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1846	Hussainpura, Block - Malerkotla -2 , Teh- Malerkotla	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1847	Maniana, Block-Andana at Moonak, Teh-Moonak	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1848	Rogla, Block -Dirba, Teh- Sunam	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1849	Vill Mohrana on Malerkotla Nabha Road, Block -Malerkotla-1, Teh- Malerkotla	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1850	Vill. Rurki on Malerkotla Khanna Road , Block - Malerkotla-1, Teh- Malerkotla	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1851	Nilowal, Block-Sunam, Teh-Sunam	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1852	Sunam on Sunam-Sheron Road, Block -Sunam, Teh- Sunam	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
1853	Village Amargarh on Malerkotla Nabha Road, Block -Malerkotla-1, Teh- Malerkotla	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1854	BAJEKE (DHARAMKOT- FATEHGARH PANJTUR ROAD), Block - DHARAMKOT, Teh- DHARAMKOT	MOGA	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4
1855	Ferozepur Kuthal, Block - Malerkotla-2, Teh- Malerkotla	Sangrur	RURAL	46	OBC	DC	35	35	1225	12	30	Draw of lots	5	3
1856	Tibba, Block-Sherpur, Teh-Dhuri	Sangrur	RURAL	46	SC	CFS	35	35	1225	0	0	Draw of lots	0	2

1857	Kanoi on Sangrur Sunam Road, Block-Sangrur, Teh-Sangrur	Sangrur	RURAL	46	Open	DC	35	35	1225	12	30	Draw of lots	5	4	
------	---	---------	-------	----	------	----	----	----	------	----	----	--------------	---	---	--

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices the addresses mentioned below. is hosted Corporation Website at lt also in the (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/ www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.